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LELAUONME3NML

UnyG dtinGwnpyp Gwpuwmbujwd b {wjwunmwlh wqqujhG
wqpupwjhl hwiwjuwpwih weljw L htnwlw nunigdwl nuw-
(innGtph hwdwp: U6 uqigb £ gnponn opwqptinhG hwiwww-
nwufuwl: UnwohlG hpwumwpwinipjul hwitdwwm wytjugyby L
(inp qmifu qowjhG hwlpwhw)yh mwpptinhg, Gwb pGgw)Gyt; Ga
wj] pwdhGGtn:

dtinGwpynd dwwngkih dlny pwpunpjuo GG pwpdpwagnyG
dwptiwwmhluwjh hpiGwyw6 dtpnnltpp, wowldhG nhwypbpmy
gngunpjwo Gl qnquulntuvwyul wpnuwnpnipjul plwqu-
Jwnh oppGwyGtp: Npny pwdhGGhipnd wpjwd GG nmhywlwb
fulnhpGtin n JupdnpynGGtp: 3mpwpwlsjnip qifuhg htimn Jud
fulnhpGtin L JupdnipyniGGtp hGplGnipniyG wpfuwwmwlph hwdiwn:



UuvULhShG GrardueNrMo3Nru1
UrenNke3dv drad

UlGwihmhy yuwd Jtpnowyuwb tpypugwithnpniip nwund-
Gwuhpmy b Gppwswthwiuwl ywuytpGiph hwnympjmGatpp
hwlpwhw)yh dtpnnltpny, pwGwdltph thongny: MundiGuupp-
dwl hpiGwwl dtpnnp YnnpnhGumwlywl dtpnnl t:

annrrbuygsuadv e r? NrM19h Jd0rd,
odU3ht UNUL3RL

Jdhtpgltlp dh juiwjwwl ninhn: UG mGh Gpyne hwljw-
nhp nunmpniGGbp: Cun gulynipjwl, pGunptlp npuighg dtyp
L wijwbhbp npuwl mnnnipjm:

UjG nunpnp, nph Yypw Gpqwo E ppulwl nunnipjnilp,
Unsymd £ wowlgp: Gowqpnid wyl Gymd GG vjupny L Grwlw-
ynid vty munny® Xx,y,z,t,...:

X
Q. 1.

Gpt wnwlgph ypw G2gwo t Gl hwydupyh uyqpluytnp,
npG plgnGwo b Guwlwyty O wnwony L ywihiwl Yhwynp
(Wwupwnwp), wyw wyn wnwlgpp Yngynd t pywjhlG wnwlgp
(qo.1):

‘Lptilip dtipnnp, nph oqlnipjudp wnwlgph Yypw Ytipgpuo
Jnpupwlymp Yt plnpnpymd £ nplhgh vh pyny, puwnm nph £
wnwlgpp Yngymd t pyupli wnwligp:

bpnp' x wnwlgph Yypw YupgGhlGp dsh M Jtwm L swthdiwG
dhwynph oqlnmpjwip swithtilp OM hwwnjwoh tpywnpnipjniln:
UpyniGpnd JuunwGwlp th phy, npp Yngymd £ M Ykwh
YnnpphGuwn L gpynud £ M(x) mbupny: O Yhwnh YnnpphGuwnp hw-
Juwuwnp Lt qpnjh: UnnpphGuwnm mGhGwnt wpnniGpmy Yanmh ghp-
pp wnwlgph Yypw nunlmd & npnpuyh: Ujuwhuny, Jupnn GGp
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wubli], np pywjhlG wnwlgph Ytwmbtph pwqinpjulG L hpwlwl
pUtinh pwqumpjwl dhol gnynipyniG mGh thnfudhwnpdtp hwdw-
wwwnwufuwlnmpniG:

Jupytiip tpym Ytwnbtph dhol tnwd  htnwynpnipjnilp
pyuwjhl wnwlgph Jpw: Fhgnip, wpdud b6 Mi(xi) b Ma(x2)
Ytwmtpp b wwhwloymy L hwpyly npulg dhol tinuo d htnw-
Unpmipjniln: LokGp Yhnmbpp wnwlgph Yypw (q0.2):

X1

. d ’ 2 > X
M; M

X2

Q0.2

Q0.2-hg bl ,np d =[M M, | =|OM, ~OM,| =[x, - x|

Ujuyjhuny, hwjnGh YnnpghGuwwnmGtpny tpynt Yhnbtph hb-
nwynpnipnilp wnwbgph ypw hwyyynd k
d= |X2 — X1| (1)
pwlwdlny:

Mignublynil nbljwmnywd nnpphbGuwuwljud hwdwljwpgn
hwppnipjul ynw

Gpt Gpqwod L vh dbtpnn, nph oqlnipjuwdp Jwnbih & npnpbyg
ytwmh nhppp hwppmipjwl Yypw, wyw wumd GG, np hwppnipjwG
Ypw dngywo L nnpphlwnwlwl hwdwlwnpg:

Shunwnpyblp yuwpquanyyl b wdtGwyhpwnbih YnnpnphGu-
nwlwl hwiwlwpgp, npp Yngynid £ mnnubGyynit nupunjwa:

“thgnip, hwppnipjuwl Yypw mpwo Gl Gpynt thnfumnnu-
hwjwg wowlgpltip (Ox L Oy) L ywuthiw( thwynpp (Gwupumwpp):
Uju nhypmd wund GG, np npJwo G0 nupnuiGlyniG ynnpnhGu-
nwlwl hwdwlwpg: Unwlgpltph hwwndwl Ytup Ynyymd E
ynnpphGwwunGtph  uyqpGwltm, hull wnwlgplbpp Ynnpnh-
Gwunwlwl wnwlgpltp (Ox-n wpughuGtph wnwlgp, Oy-p
onnhGuwwnGtph wnwGgp):



Glpunptilp, hwppnipjul Yypw dngywo b YnnpphlGumw-
Juwl hwdiwyuwng L mpJwd t dh M Yyt (q0.3):
Mpnjiyntlip M Ytuwp YnnpphGwumwlyuwl wnwlgpltpnh
Yypw L wpnjtighwlbpp hwiwywunwuppwlwpwnp Guwlwltip
M, L M,: Quihtyny OM L OMy hwunjwoGtnh dtonmpjmGGtpp
Juunwlwlp OM,=x,0M,=y:
UjuhGpG hwppnipjul ypw
yA wpwo YhwnhG hwdwugw-
nwufuwlnd L dh qnyq
phy (x,y), npp Ungymd k
(pw UYnnpphGwuwGbp: x-p
UYnsynid L wnwohl Ynnpnh-
(wwn Juwy wpughu, huy y-n'
tpypnpn nnpnhGuwn ud
opphwwm L qpymud  k
O M, X htwnlyw; Yupuy M(x,y):
Jwliwnuwl wlnmuip GmyG-
wbtu Shpm L, wjuhGpG
Q.0.3. npjwd  wuikl@ dvh qnuyq
hpwlwG pyhG hwppnipjwi
Yypw hwiwywwunwuhuwlimd £t dh npnpuwyph Ytwm: Uju pytph
(YnnpyhGuwnGtph) dhongny hwppnipjuwl Ypw Yunnigynd L
Ybwnnp:
Shunwnpytilp wlwhmpy Gpypwswihnipjul dh pwlh yup-
quqnijG fuGnhpltipn hwppnipjuwl Ypw:

M, M

Y

Gnplnt hinbph dhol bnwo hlinwynpnipiniln

“hgnip, hwppnipjwl ypw nmpdwo b tpyne Y™ M(x,y;) b
M,(x2,y2) b ywuwhwGoynid L hwpyty npwlg vhol tnuo d htinw-
YynpnipjniGp: Gunmgtlp Ytmtpp hwppnipjul Jypw Gwjuopnp
ytingGtiny YynnpphGwmwjwl hwiwljung:

Lwiwdw)l Mympwgnpuuh pnptish, AM;NM,, -hg (q0.4)

| 2 2 2
Jupnn GGp qnby’ ‘Mle‘ :‘MIN‘ +‘NM2‘



YA

Y

o p Q X
Q.0.4.
outm ] = [N =P =, x,
[NM;| = QM| - [QN] =[ QM - [PV = y2 - .
wuw d® = (x5 —x;)* +(y; —y; )’ npuntinhg
d=y(xs—x P +(y2 -y )

Ophtwly.- {upyti M, (-2,3) LU My(1,-2) ytimbiph htnwnpnip jniGn:
Lniomy.- {wiwdwi pwGwdlp

d=y(142) +(-2-3)> =49+ 25 =34 -

Sunniywoh pwdwlnidp mpywo hwpupbpnp udp

hgnip, hwppnipjw Ypw wipgwo t ipym yan Mi(x;,y;) b
M,(x2,y2): MiM, hwunywoh ypw ytingGhlp sh M(x,y) Ytwn:

MM

MM,
wunid, np M Yhwop MM, hwnjwop pwdwlmd E A
hwpwptipnipjunip:

Glpwnntilp, A-G mpJwo £, M; L M, Ytwnmbph YnnpnhGuwn-
Gtpp hwjnGh GG, npnptiGp M pwdwldwl Ytwnh YnnpnhGwwm-
Gtpp: M;, M L M, ytwnmbtpp wypnjtyumblip Ox wnwlgph Yypw L
npwlg wpnjiyghwltppn hwdwwywwnwufuwlwpwp Guwlwybip
Py,P L P, (q0.5):

hwpwpbpmipyniGp Gulwlynmd &6 A wnmwnny L



yA
M/
M/
M,
Pl P P2 X

Q.0.5.

Jwiwdwjl wwppuwl tpypuwswihnpjul  gniquhbn
mnphnGtph dhol tnwod hwwnywoltph hwitdwnwuwlnpjwb
dwuhl ptinptidh, yupnn GGp gpby (Bwtup ptnptdp).
PP MM
RV VI 3)
PP, MM,

pwjg PP=x-x;: PP,= x;-x

Stnunptiny wjyu wpdtpGbpp (3) hwjwuwpmpjui Jdhe’
JuunwGulp.

X—X4

=A
X2 —X
Lowotiny wju hwjwuwpmpjnilp X wlhwjmph Gundwdp’
JuunwGwlp
_ X4 + >\.X2
1+ A
M;, M L M; Ytimtinp wpnytiyuntyny Oy wnwlgph Ypw L
Juipytiny Gdwl duny’ y wlhwjmh hwdiwp Junwlwlp
Y1 +Ay,

y= 1+A



Ujuyhuny, pwdwldwl Ytwnmh YnnpphlGwwmbhppn npnpynid
LG htmlyw) pwGwdlbtinny.

_ X +AX,
Y
_Yit+Ay)
I+A
Uwulwynp nhypnid, tphk M Ytunp qunlynid & hwnjwoh

MM

4)

dhoGulbwmnuy, wyw A = =1 U 4) pwGwdlbtphg hwnjw-
2
0h dhoGwltnh YnnpphGuwwmbtph npnpdwl hwdwnp junwluGp.
X+
x =217 X2
2
_Y1tY2
2

OphlGuwly.- Spywo & ABC tnwGlyjwl ququph YnnpphGuwwnGhpp
A(za l)a B('29 4)a C(6a 2)
Muwhwloynd k qunlt); AD dholGwqoh bplupmpniGp:

B

)

Q.0.6.

Lniomd- Guuwptlp wuwjdwlwlwl qowghpp L Gwjuwubu
npnptlp D dhoGwlytwnh YnnpphGwwmbGhpp: {wdwdwji (5) pw-
Gwalbph
Xg+X, —2+6
XD = = =
2 2
_ypty. 4+2

2 2

2

3

Yo



MiptdG D Yytmh YnnpphGwwnGtpG GG (2, 3): GumGhlp AD the-
Gwqoh tpyupnipjnilp hwdwdwjG (2) pwlwalh.

AD=4(2-2 +(3-1)> =0+4 =2

NMPD @hOC <UreNMo3UL 41U

GlGpwnptilp, hwppmpjul Ypw wmpjwo L ngnublynG
ntjupujwl YnnpphGwunwlwli hwiwywpg L dh ninhn gho, npp
Ox wnwlgph gpujuwl nynnipjul hbn Juqind £ o wGyniG
(o #90°) :

o wllniGp Yngynud L ninnh phipdwl wGljnG, huly Gpw
wnwlgtifup’ mnpnh wGymniGwjhG gnpowlyhg L GrwGwyymu t k
nwnny:

tgo=k (6)

UayniGwjhG gnpowihgp ninnh nupnmpjwl uplnpugnyG
plnpnphsG £ L Gynmwwbu oquuugnpoynid L wlwhwply Gpypwsw-
thnipjwG L Gpw YhpwnnipniGGhph dtio:

0 X1 X; §

Q0.7.

QhunwpytilGp dh minpn L Gpw Yypw ytpgGhlGp Gpynt Y.
Mi(x,y1) b Ma(Xp,y2) (0.7): Nipnpblip mnnph  wGlyyniGwyha
qnpowyhgp.

10



Yo~ ¥
_ 2 1 (7)
X, 7 X%
Uw ningph wGyyniGuwjhl gnpoéwygh npnpiwl pwlwdlb t
(pw tpyn Yhwnmbph dhongny:

Minnh hwywuwpndn wilynGuihl gnpowlgny

“+hgnip, mpjwo t dh ninhn, nph wilniGujhG gnpowyhgn
hwyjwuwn t k L opnhGwwmGtph wnwlgphg Yupnd k b Gplwpnig-
Jwl hwnywo (qo.8): Minnh Yypw Ytpglhlp vh M(x,y) nGpughy
ytwm: G-0wqnhg tplnwd £, np npntin £ np quGyh M ftwp ninhnp
Upw, dhow Juptiih £ qpt

YA
M~
y-b
B a
a|b
0 N > x
Q.0.8.
y=b =tga =Kk,
X
npnbtnhg y-b=kx,y=kx+b ®)

Ujuyhuny, jnipwpwlyynip ninhn, npG niGh k wayymGujht
gnpowlhg L Oy wnwlgphg Yupnid t b tpupnipjul hwnwo,
pnmpwgpynid k (8) hwjwuwpnuiny: {wwnwll ] dhpw L. (8)
wmbuph witl dh hwjwuwpnd hwppmpjwl Yypw wyuwwmybpmd k
nuhn gho:

11



(8) hwjwuwpnidp Yngymu t ninnh hwjwuwpnd wlyyne-

GwjhG gnpowygny: Gpt b=0, wwyw mnhnp JulgGh YnnpnhGuw-
nwliul uyqpiwytvny, npp hwjwuwnpnui@ k) YihGh' y=kx:

Spywo vkl jhinny wlglng L sipgwo wllniGuwihl
qnpowlhgn niGlignn niggh hwijwuwnpnidn

Cwwn nhyptpnd wlhpwdb)m b jhimd Juqilp mpuo
M;(x1,y1) Yawnny wlglnn L k wGyymGuwjhl gnpowlyhg nilkgnn
ninnh hwjwuwpnuin: Gpt minnh Yypw YtipgGulp vh M(x,y) npw-
ghy Ytwn, wyuw (7) pulGwdlh hwdwdwl Yupnn tlp gnt.

y-y
k=% yui y-y =k(x-x) 9)
X=X,

Uw npnGth nnnh hwjwuwpndG k:

Oquugnpdoting (9) hwyjwuwpnuip® Jupbih b juquibk]
Mi(x1,¥1) b Ma(X2,y2) wipqwd ipynt Ytnbpny wiglnng mnnh hw-
Jwuwpniip:

(7) pulwdlh hwiwéwyl k=22"Y1 . Stqunpbing wyu

X, —X%

wndtipp (9) hwywuwpdw( vhe” JumwGwlp.

Y2~ Y1
y=y1 = (x-x)
X2 =X
Uju hwjwuwpnuil plgniGgwo t gpti) hinbywy mtiupny.
X—X -
1 _ Y™ (10)

Xo=X1 Yo V1

[hinhn ghop npuybu wrwehl ungh gfo:
(innh pnhwlnip hwyuwuwnpnodnp

Uwwgmgtilip htimlyw) uyqpnilpujhb ptinpbidn:
Ohnpbd.- Yajupunjwl ynnpghwnwywl hwiwuwpgnd wdtkG
dh ninhn npnymd ' wnpwohlG wumhdwlh hwjwuwpniing L
hwjwpwlp wdbkG th wnwohl wumhdwlh hwjwuwpmd
hwppnipjwl Yypw yuwwnmytipmu £ dh mnhn:
12



Uupuugniyg.-Lwh wywugnighlp ptnptdh wnwohl dwun: Ghpun-
nptlp, mpJwo £ dh juiwjwwb ninhn: Gpb wjl nipnuwhwjug skt
Ox wnwlgphl, wyw wppbl hwynbh E, np  plmpwugpymy k
y=kx+b wnwohl wunhdwlh hujwuwpniny: bul tpt wjl nin-
nuhwjwg £ Ox wnwlgphl, www Gpw pnmnp  Yhenbpp
pimpwgpynid Ll x=a hwjwuwpnuinyg, npnbn a-G6 niqnh Ox
wnwlgphg Yupwdo hwnjwol t: Uju hwjwuwnpnuwip GnyyGutiu
wnwohl wumhdwblh hwjwuwpnd k: ©btnptdh wnwohl dwup
wuywugnigud t:

Uwwgnigtiip hwjunwy wlnnuip: GGpwnnptlp, mpwo k
wnwohl wumhdwlh hwjwuwpniy.

Ax+By+C=0 (11)
A, B, C gnpowlhgltiph judwjwywl wpdtipltpny: A L B gnpow-
Yhgltinhg npuk dtyp hwjwuwnp sk 0-h:

Gpti B0, wyw wpjwd hwjwuwpnip Jupbih £ qplyg

htimlywy mbtupny
YTTBYBR
A C .

LopwGwybny B =Kk, 3 =b Junwlwlp y=kx+b, npa
hGswbtu wpntil hwywnmGh £, hwppnipjwl Yypw yuwwmytinpnud £ ninhn
qho, npp Oy wnwlgphg Yupnd £ b hwwngwo L mGh k wGyjm-
GwjhG gnpowyhg: Ujuwyhuny wibkl dh wnwohl wuwmhdwbh
hwjwuwpmd wwwmybtpnd £ ninhn ghd, ntumh ninhn ghdp Yng-
ynd £ Guwl wnwohl fwngh qho:

Ax + By + C = 0 hwuwuwpnidp Yngynid £ ninnh plnhwlnip
hwjuwuwpnd (nputu wpwohlG wumhdwlh pGnhwlnp hwyjw-
uwnpniy):

(innh pnhwlnip hwyuwuwpdw G hbowgnundn: (lignh
hwiwuwpnidp chwmwoltbnpnm»

Ltunmwqgnuti ninnh plnhw6nip hwjwuwpnudp® GQuGwynud
L wuwpqty, pti A, B, C qnpowyhgltph wpdtpltphg Juiudwo
ninhnp hGswhuh nhpp t gqpuynud hwppnipjuG ypuwe:-

Qhunwpytbp htimlywy nhwptipn.

13



1. C = 0, hwjwuwpnudp YplnmGh Ax + By = 0 wnbupp,

A A
npnbnhg y = _EX =kx | k= Yk Uw  YnnpphGuwnwluG

uljqpGuljtimny wlglnn nnpnG £: dFpwlmd Jupbih £ hudngyty
(wl ntnunpting hwjwuwpdwl ke x=0, y=0 YnnpnhGwwnGhpn:
2. B=0, A#0, hwjwuwpnip YplnniGh Ax+C=0 wmtupp,

npntinhg X = —% =a (a = —%]: buy uvw Ox wnw(gphlG
ninnuhwjwg Yud 0y-hG qniquhtin mnnh hwjwuwpnidG k:

Uwulwynp phypnd, tpt a=0, wyw ninhnp YhwdipGyGh
Oy wnw(gph htim L wjn wnwlgph hwjwuwnpnuin YihGh x=0:

3. A=0, B#0, hmjwuwpnuip Ynuwnlw By+C=0

C
y B b:

Uw dh ninnh hwjwuwpnud £, nph pnnp Jtumtpp hwjwuw-
puwtu G0 hbnwgywd Ox wnwlgphg, wjuhlpli Ox wnwlgphl
qniquhtin ninnh hwjwuwpnudG £: UwulGwynp nhwypnid, tpt b=0,
wyw ninhnp hwdGylGh Ox wnwlgph htn L Gpuw hwjwuwnpnuip
YihGh y=0: {pdw LGpwnpblp, mpjwo & Ax + By + C = 0 hw-
Juwuwpnuip L A, B, C gqnpowlyhgGtphg nsy dtyp hwjwuwn st
qnnjh: Uju nhypnid hwjwuwpnuip Jupbih £ pbpt] th hwwmny
wmbtiuph, npp Gywunwlwhwpdwnp L wlwihnhy Gpuwswhmpjwb
udh pwpp fuGnhpGtpnud:

y A GGpwnntlp, ni-
\ nhnp  YnnpnhGunw-
N Jul wnwlgplhphg
hwiwwywwnwufuw-

Gupwp yupmd £ a b

b b hwwnyjwoGtp: M-

hwioynmd L Juquiby
wjn ninnh hwjwuw-
nnuin (q0.9): NpnGh-
th nuqnh hwjwuw-
poudp  gphGp  pln-
hwGnip wmbtiupny

o
o
< Y

Q9.9
14



Ax+By+C=0, npnntinhg Yunwlwlp' Ax+By=-C

_Ax_By |

cC C

X Yy
—+—=1:
c'c

A B

LopwGwybny —g—a —E—b‘llmﬁb[iulﬁ
2 | A B p

Ti¥on
a b

Uw Yngynid £ ninnp hwjuwuwpnid «hwnyuwdGhpny»:

(12)

Gnlni nighnlbph Juquwo whlniln:
Mighnlbnh mognuwhwjugmpul L gniquihbinnipjuwl

wwjdwlbbnn

UlwihmhYy tpypwgwihnmpjul hhdGwlwb fulnhplGbphg
utiyp tpynt nnhnGiph yuqiwd walyjwl npnpmuG t: Ujdd nnipu

(1)

A / >X
Q.0.10
ptiptiip vh pwGwdl, nph thongny Jupbih L hwpyty tpynt ninhn-

15



Giph Yuqiwo wGynilp, tpt hwymbGh 66 npwlg whlyniGuht
qnpowyhgltpp: Fhwnwpytlp tpynt ninhnGtp (1) L (II), npnGp
Juqunud GG ¢ wGyjniG. (qo.10.)

Glpwnnptilp, wyn ninhnGtph whymibwihG gnpowyhgltpb
kG k] L kz:

Q-owqnphg Jupnn bGp qptip o, =o; +¢@ (Gnwllywl wp-
nwphl wiyynmGp hwywuwn £ hptl ny Yhg GaipphG wGyyniGGtph
qnudwnhG):

tga, —tga,
puntng ¢ = otz — o1 huly g = tafor; —a )= 50—
1 2
Puyg tgay =k, tga, =k,, himlwpwp
k, -k
top=—2 "1 13
ST kK, =

Qhunwpytlp dwulwynp nhyptn.
1) tGpwnnptlp, ninhnGtpp gmiquhtn GG: Uy ghypnid
0 L tge k. =k,
(p = ==
1+kk,
Nputnhg htmtnud £, np k, —k; =0qwy  k; =k,:
Ujuwhuny, Gpt ninpnlGtpp gqniquhtn 66, wwyw Gpulg
wiyniGwjhG gnpowyhglGtinp hwywuwn GG:
2) LGpwnptlp ninhnGtpp nipnuwhwjwug t6: Uyn phypnd

¢ :g L tge — oo : Uw b GuGwymy t (13) pwGwdlh hwjmw-

nwpp whwnp t hwjwuwpdh qpogh. 1+kk, =0 qud kik, =-1:
UjuhGpl, tpt nminhnGtpp ninppnuwhwjwg GG, wwyw Gpulg
wiyyniGwjhG gnpowyhgltinh wpumwngpyup hwjwuwn k -1:

NMA UNLUUL KUJUUUrRL

Glpuwnptip hwppnipjwl Ypw plGuopduwd nmnnublyymaG
ynnpphGwnmwlwl hwdwlwnpgnid mpgwo k dh ninhn gho:
UnnpphGumwluwl uyqpGuytinhg mwGhip mpjwo ninnhG

nnnuwhwjwg th n dwnwqujp L ngpul wijwbtlp niqnh Gnpiwyg:
16



=N

q.0.11
‘Lnpiwh hwniw6 Yewmp ninnh htnm GQuGwytbp P (qo.11 ): a-ny
Grwlwytlp Gnpiwh yuqiwd waymniGp OX wnwlgph htin, huy
p-ny OP hwwygwoh tpyupmpjmbp: Gapunptip o L p wu-
pwitmptpp hwjymGh GG, uvnwlGwlp wpjwod nmnnh hwyjw-
uwpnuip: Wiy Gywwunwyny mnnh ypw ghpgGhlp M(x;y) ppughl
Jtwn L JuqitGp OM yJtyunph wpnjthghwG Gnpiwih ninnnip-
Jwl ypw: UYGhwjm £, np
Wn.-OM=p; (14)
QuitGp OM hwwnwoh wpnytyghwG Gnpdwh Yypuw M
ytnh (x;y) YnnpphGunGtph Shengny, GwGwytim] M Ytnh
pltinwjhG YnnpnhGuwnmGtpp (p;0)
LLHI—OM =pcos =pcos(a—0)=p(cosacosO+sinasinb),

psinf=y
Lwibtvwwnbiny (14) L (15) hwjwuwpnipymGGtpp unpnn GGp qpb”’
x-cosotysina=p, w x-cosa+ysina-p=0 : (16)

pcosO =x — .
pwjg , htinlwpwip u,H],OM =xcosa + ysina :(15)

17



Uunwguw(p x Ly hnthnfuwlwGGtph Guundwdp wnwohl Yuwpgh
hwyjwuwpnid, nphG wijuwlnmd G0 ninnh Gnpdw] hwjwuwpniy:

GGSh <GAUYNNMOSNRGL SAYUD NR11DS

Glpunptilp hwppnipjul Yypw wpduwo bt ninhn qghd hp
Gnpdw] hwjwuwpniny®  x-cosatysina-p=0 L npwlhg nnipu
quGynn dh M (X,;Y,) Ytiv: MwhwGoynid L qully mpJuo Y-
wmh htnwynpmpjniGp mpjwd ninnhg: Lywlwlblp wjn htnw-
Unpnipjnilp d mwnny:

A Yy

=N

v
e

Q0. 12

MuydwlwynpytiGp M, Ytmh ptinmd mjwod ninnhg wliju-
(b Gpw htinwynpnipjnilp wyn ninqnhg wpynw Gpulny, tpt YtwnG
m §nnpphGwnwlyuwi ujqpGuwybmp qubynd GG mqnh mwppbp
Jtntpnd (hGywbu Gyuo £ qowgqpnid) L dhGnw Gywlny, tph
ytwp U YynnpphGwumwyul uyqpGuwybmp qulGymud GG nnp
dhllnyyG Ynnuin:

Utwnh ptinnuip mnnhg Gpwlwybnyg & wmwnny, Junpnn tlp
qpty’ 0 =+d, htmbwpwp d = |8| :

Ytnh ptnnuip mnnhg hwpytim hwdwp juqitGp OM,

hwnywoh ypnjtyghwl Gnpiwih npnipjwl Yypw: Uh Ynnihg
18



U‘HLOM0 =0Q=0P+PQ=p+9, dynu Ynnihg hwiwdw;)a

(15) pwGwdlp ],]_HLOM0 =X,CoS0+Yy,sina:

Uyu tpym hwjwuwpnipyniGGiph dwh dwup GnyGa GG,
htmbwpwp w9 Jwubtipp GnylGubu  YhGeG  hwjwuwnp’
X,C0sa+Yy,sina =p+9J, nptinhg d=x,cosa+y,sina—p,

d:|x0 cosa+y, sina—p|:

Ujuyjhuny, npwbtugh npnpty mpjwd Ytwnh htnwynpnip-
Jniln mpJwo minnhg, whnmp L ninnh Gnpiwy hwjwuwpiwl dwhu
dwuh U9 x Ly thnthnjuwwGGtph thnfuwpbl mbnunpt] mpJuwo
M, Jtinnp YnnpnhGuwwumGtpp L ytpg Gt pugunpéwl wpdtipny:

NMP LUIULARM UJUUUrUUL RELNRUT?
UN1rUUL SEULH

Glpwnptilp wmpjwd b mnnh hwjwuwpnuip plnhwinp
wmtiupny’

Ax+By+C=0 (17)
L ywhwGoynmd k wjl ptintyg
xcosa+ysina—p=0 (18)

(inpiwy mbuph: Ujn Guyyuwwumwlyny (17) hwjuwuwnpiwb Gpynt Ynndp
Puqiuuunytlp p pwqiwuunyhsng’

pAx+uBy+pC=0 (19):

Glpwnntlp (19) hwjwuwpnidp wpntl Gonpdw) mbuphp t b

wuwpqblp pt hGywhuhlGp wtwp £ 1hGh p puqiwyunihsp:
Jwibdwwnting (19) L (18) hwjwuwpnudGhpp, Gyuunnid Gip

LA =cosa
uB =sina (20):
nC=-p

(20) hwdwluwpgh wnwohl Gtpynt hwjwuwpnudGhpp
pwpépwgltlp pwnwynmuh L gmuiwptlp, YJuuwlwlp

1
+JA2+B?

19

n’(A*+B*) =1, npntinhg p =



Nputiugh YnGyptn hwjwuwpdwl hwdwp npnptlp p
puqiwwwwnlpsh Grwlp, oquytlp (20) hwiwywpgh tppnpng hw-
Juuwnpmpjnilhg' puC=-p: Uyjunmbtinhg htmmlnd t, np p-G6 L C-G
wtinp £ nGhGwb hwjunhp GywGGhp:

p-0 Yngymd £ Gnpiwuglnng puqiwuwwwmyhy:

Ujwhuny (17) hwjwuwpdw Gnpdwjugywo wmtupn YihGh'

— C
t X * y+
JAT+B?  JA?+BYT JA24+B?

UYyGhwjmn E, np mywd My(Xo,yo) Ynmh htnwynpnipnilp
Ax+By+C=0 mtiupny mpjwo ninnhg qultint hwdwnp, Gwuwwtu
pnphwlnp hwyjwuwpnip wbwp b pbptp Gopdw] wbuph U
oquiyti| Jtpp GJwd YulnGhg

de |Ax0 + By, +C| :
JA* +B?
Ophluwly.-Q-nGt] My(3,-2) Ytnh htnwynpmipynilpn 2x-4y+5=0
ninnhg:
{wyynui lip p puqiwwwnyhsp’

1 1 1

2 4 5
NETRGT MG I
(-2)-3-4(-2)-5 |-6+8-5 |3 3

=0 ()

‘Lnpiwugywd mtupnp YhGh' -

crarnra gurah Qo6

UjG qotipp, npnlp pGnipugpymd GG Gpypnpny wumhdwGh

hwyjwuwpniGhpny, Ynygymd GG tGpypnpn unpgh qotin: Gpypnpn
Jungh hwjwuwpiw6 pnhwlnip mbupp hbnlgw Gt

Ax® + Bxy + Cy2 +Dx+Ey+F=0, npntn A, B, C qnpowyhg-
Gtpp Yhwdwiwluy #0:

20



Ltnmlwpwn, vw tpypnpn yupgh qotiph pnhwlnip hwjuw-
uwpnuiG t:

“HhunwpytiGp yuwpqugnyb pypnpn jupgh qotipp: “kpwlp
GG 2powlwaghop, tihuup, hhybtppop L wwpwpnp: {wdwnn-
nwyh Gepyuwjuglblip wyu qotnG wnwGdhG-wnwGahG:

croauvlia-ho

{wppnipjul wjl Yhmbph tpypuwsuthwluwl ntnp, npnlp
hwjwuwpwytu GG htnwgywo mpjwo th Ytnmhg, npp Ynyymy k
YtiGunpnG, Yngymd t ppowlwqgho:

Jwppnipjul Yypw dnglhlp nnnublyni YnnpphGuwnmw-
Jul hwdwluwpg L 2powluqoh YaGupnGp GpubGwytip C(a;b)-ny:
Cpowlwqdh Ypw ybtpglhlp M(x,y) plpwghly Ytw (q0.13):
Nputin £ np qnGyh M Ytwnp 2powluqoh ypw, pun vwhdiwldw,
CM htinwynpnipjnilp dGnud E hwunmwnnmG: Uy hwumwnnmGp
ninmGuwo t Gubwyt] R mwnny L widwib powlwqoh pw-
nughn: {wpytlp CM-n npytiu tipynt Yawntiph hinwygnpnipniG
hwyjwuwntigltilp R-h:

y)\

X

q.0.13

M= \(x-a) +(y-b)
yud  (x—a)’ +(y-b)’ =R? (22)

21



Uju hwjwuwpnuip Yngdnd £ powlwqoh JulnGulwG
hwyjwuwpnid: UwulGwynp niypnid, tpt pnowlwqoh YhalGumpnbp
qubynd £t ynnpphGwunwluG uygqpGuwytnnmd, wyw a=b=0 L
nowlwqoh hwjwuwpniin pnnilnud £ htinbgw mbupn.

x? + y2 =RZ%:

Pwugtiny (22) hwjwuwpiwG thwlwqotpp’ JunwGwlp

x2 +y2 —2ax—2by+a2 +b2-R?=0

Jwibdwwnbing wju hwjwuwpnuip pypnpn Yupgh qotiph
pnhwlnp hwjwuwpdiwl htn® Giuwmnd Ghp, np

1) A=C
2) B=0O:

Ujuwhuny, Jupnn bGp wuby, np bGph btpypnpn Jupgh

pGnhwGnp hwjwuwpdw ke x* b y* gnpdwlhglbpp hwjwuwnp
GG L xy wpunwnpuny wlnguip pwugwluwmd L, wyw wjn
hwjwuwpminp wwwitpmd £ ppowlwghd L wyl phpyng
JulnGwlwb wmbuph, thwdwiwlwy Junth & npnpty ppowlwqoh
ytGupnGp L Qwnwyhnn:
OphlGuwly.- Yhgnip, mpJuo k X2 + y2 —-6x+4y—-3=0 hwyjw-
vwpnuip: {wdbdwwnting pGnhwinip hwjwuwpdwl htn, G-
nnid tilp, np A =C =1 L B=0: Mptil nu powlwqdoh hwjw-
uwpniil E: Spowlwqoh YhGunpnbp b pwnwyhnp qunltine hwiwp
pwywuil £ wyl ptpt ulnGhy wnbuph: Opwbtugh plnghwlnip
wmbupny npjwo powlwqoh hwjwuwpmip pbpgh unGulwb
wmtiuph, wlhpwdtyw t fudpwynpty winudiGbpp L wiowwmby |nhy
pwnwyniuh.

(X2 - 6X)+ (y2 + 4y)— 3=0
(x=3) +(y+2)*-9-4-3=0
Yud (x—3)2+(y+2)2=16:
Uw  wpnblG  powGwqoh  hwjwuwpmdlG E gpuo

JuwlnGuwywl wntupny, npntinhg tplnwd k£, np YaGunpnGp C(3;-2)
YtinG t, huy pwnwyhnp’ R=4:

22



ELhnMUu

Uwhvwlnd.- Tihyu Ungmd © owyl Yhnbph GpypuswhwljuG
wmbinp, npnGg htinwynpmpjmGGtph gniwpp Jhquybmbp Ynsynn
wnpjwd tpyn Yhnmtinhg hwumwwmni G WGonpynG k:

JdbtpgGtbp YynnpphGuwnwul hwiwupgp b GptGp tjhwuhp
Yhquytwntpp, npnlp pgniGwo b GpuGwyt] F; W F, vmuntpny:
Ujn Ytwmbpp wmbnunpblp 0x wnwlgph Ypw, wjlubu, np
ynnpnhGwumwyul ulqpGuybtnmp qulyh npwlg dhowmbinnd
(qo0.14):

FFon Guwlwymuy t6 2c-ny b wljwlnd dh9yhquybtimw-
jhG htnwynpmpymG: <twlwpwp, plupjud hwiwjuwpgnd
Yhquitwntph YnnpphGuwwnGtpp YhGeG Fi(c,0), Fy(-c,0): {wp-
pnipjwl Yypw ytpgGhlp Ehyuh vh judwjwjwuwi pGpughy Yeum
M(x,y) L wjG dhwgGtlp Yhquibtwmbph htwn:

Lywlwymd tlGp FM=r; L F;M=r, L wiJwini Ehuyuh
JhquijtimwjhG pwnwyhnGtn:

Cum Ehyuh vwhiwGiwG, npntn £ np qnGjp M Yhup
Eihyuh Ypw, YhquytimwihG pwnwyhnGtph gnidwpp dhom dGnd
E hwumwwnntG, npG pnniGgwo b GulGwyby 2a-ny: UyuhlpG
+r,=2a 2a>2c, a>c

A
Yy
M(x,y)
/N
'Fz 0 F 1' :(

Q.0.14
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Jupytiip r-p L rp-p npybtu tpyne Yentph dhol tnuo
htinwynpnipjnil L mtnunptiGp wju hwjwuwpnipjul vky.

r,=EM=\/(x—c)’ +y’
r,=FM= (X+c)2+y2
\/(x—c)z +y’ +\/(x+c)2 +y? =2a:

Uw YihGh Ejhyuph hwjwuwpnuip: Bbptilp wjl nwghnGuwg
(quGnGuyw) wmtuph. wjn Guyuwunuyny dwju Ywuh winuiGkphg
dtyp wbnuihnfutip we dwu L uvnwgwd hwjwuwnmpjwl
tinynt Ynnip pupdpwgltlp punwyniup’

( (x—c)2+y2j2 :(221— (x+c)2+y2)2

x*—2cx+ct+y’ =

=4a’ —da\(x+c) +y? +x* +2cx +c’ +y°

yud ay/(x+c)’ +y? =cx+a’:
UnyhG hwjwuwnpdiwb tpynt Ynnip pwupépugltlp pwunw-
ynw L, GuGulny a* ¢ =b?, junwbuwp b’x* + a’y* = a’b*:
Pwdwlbny wju hwjwuwpnipjul Gpynt Ynnip a’b® Ypu,
ynGtGwip.

2
X
o Z—z =1 (23)
Uju hwjwuwnnuip Yngynid £ Ethuyup ulnGwiwl hwjw-
vwpmd: hyybu wbulnd GGp, (23) hwywuwpndp Gpyponpn
Juwnpgh hwywuwnpnmu E: MipbdG Efhyup GnyyGutiu Gpipnpng Yupgh
qho E:
U;jdd htimwgnuntilip tihwuh dup L yunnigblp wy:
1. Ethyuh hwjwuwpdw@ dto x L y pGpwghy YnnpghlGun-
Gtpp Ynlnw GG qniyqg wumhdwGGtpny: Uju hwGpwhwyulwl
wnwidiwhwnynmpmlp pbpmd £ Juplnp  Gpipwswthwyul
tiqquuhwlqiwi. Ehwyup uhdtnphy t ynnpnhGwnwljuwli wnwlgp-
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Gtpp Guwundwdp: bpnp' guwiugwo (£x, ty) YnnpnhGuwnmbtpny
Ytwbnp puwjwpupnid b6 Ethyuh hwjwuwnpdwln:

2. Qunltlp Ehuyuh hwndiwl Ytnbtpp YnnpphGwnwyul
wnwlgpGtph htim: Gpt (23) hwjwuwpiwG dty wmbtnunptlp
y=0, wyuw JunwGwlp

2
X—2=1 x*=a’ x =ta:
a

<twmblwpwn, thyul wpughulGtph wowlgph htwm hwwmynid
L tipym Yhmbpnd® A;(a,0) b Ax(-a,0):

LuwG duny, tpt (23) hwjwuwpiwb dh9 wmbnunptlp x=0,
JuunwGwlp

2
1};—2=1 y> =b’ y=2b:

<twmbwpwn, Ejhyup opphGuwwmbbph wnwlgph htw GngyG-
wtiu hwwnymy £ ipym yemtipnd® B1(0; b) L By(0; -b):

A4, Ay, By, B, Ytwmbpp Ynsynud GG Ejhyuh ququipltin:

AjA=2a L B1B,=2b Ynyymu GG Eihuyuh wnwlgpltp® 2a-G
ko wnwlgpl t, 2b-G" thnpp wnwlgpp: LwiwwywwnwufuwGupwup
a-G L b-G Yngynud b6 Ejhwuh YhuwwnwGgpGtip:

3. 6pt (23) hwjwuwpnuip moklp y—h Guumdwdp, wyw

JuunwGwlp
b 77—
y=1t— a’—x’:
a

Uyu pmbGyghwjh qnympjulG wmhpnyypl L |X| < al wnwohl
pwnnpnh hwdwp, Gpp x=0, wyw y=b L tpp x—a, wwyw y-p,
(ywqbny, dqumu k 0-h:

Lwlh np, pun wnwohG Ytwh, Ehwyup updtwmphy E
ynnpphGwunwul wowlgpltph Gundwdp, wyw pwjwlwb k
(pw wwwytpp Junngt] wnweohl pwnnpnmid L uhdtimphy duny
wpnilwlty Wynuu pwnnppltpmd: Uju pninp nunmdGuuppni-
pynGGtph hpdwG ypw yunmgblp Ejhwup (qo.15):
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Ljhwup Lpugblimphufunbund ni ghpblmphulbpn

c
— hwpwpbpmpjnilp pygniGwo E Gpuwlwyt] € mwnny L
a
wijwihy Ethwuh EpugbGuphuhwnbin’
€=—: (24)

Q0. 15

Lwlh np FiF; < FIM + FoM, wjuhlpl 2¢ < 2a, niunp c<a:
tunlwpwp, thyup tpughGuppupmtnp e<1: Upwnwhwjnbtlp
Epugtiimphuhwmbnp tjhuyuh jhuwwnwlgpGtinh thongny:

c=+a’-b?, htnlupuip

e BV (e,
a a a ‘

Uju pwlwdlpg httmmlnd £, np hGspwG €-p thnpp b, wjlGpwG
b-G Unun L qunlynmd a-hG L hwjwnwyp' hGspwl e-p dtowlnd t,
wjGpwl b-G wytih £ thnppwlnd a-hg:

Uju witlp yyuwynud £ wyG dwuhl, np tpugtnmphuhmbnnp
pnpnpnid & Lthyuh  dquompjul  Juwd  ubniduonipjul
wumhdwln:
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Xx=x ninhnGbpp Yngynd GG Ejhwuh phpbymphubbn:

m | ®

a
Lwlh np € < 1, wyw — > a: {twmlwpwn, nhpkuphulbpp
€

wpughuGph wnwlgphG mnnwhwjwg L Ethwuh ququwpltphg
nnipu qubynn mnphnGtp 6 (qo.15):

(hwghnluwy pwGwdlbn bjygyuh jhqubumwihl
gwnwihnlbnh hwdwn

Cun  thyuh  uwwhdwGiwG, r+p=2a, JulnGuwlwd
huwjuwuwpiwG nmpuptpdwl pGpwgphg hwjywmGh L, np

2
a (x+c) +y2 :cx+a2,u1]uh[ipﬁ
2 2 C
(x+c)+y’ =—x+a=a+ex 1, =a+ex
a

Uwhdw@mihg 1, =2a-r1, =2a—-a—-¢exX=a—&x:

Ujuyhuny, tjhyuh Yhqutimwjhl jwnwyhnltph hwdwp
unwgyni LG htmlyw nwghnGw) pwGwdlbtpp

{rl =a—¢x
(25)

I, =a+&x

Unwlg wuwuwgnygh ptpklp htnljwy ptnptdp’. tjhwup
guijugwo Ytnmh' Yhquytinhg L hwiwywwmwuuwb ghptlwmnph-
uhg niGbgwo htinwynpmpjnGGtph hwpwpbpnipynilip hwunw-
wnil £ L hwjwuwn k Gpw EpugtGumphuhntunhG

%:a (26)

ShNGLRNL

Uwhdwlimd.- {hwybippng Yngynd t wyG Yhnbiph tpypuswhwyuG
wmbinp, npnGg htinwynpnipjmGGiph mwppbpnipjniip jhqujtimbp
Unsynn wpwo pym Ytntphg hwunmwwmniG dtompymaG t: <p-
wtinpnih jhquybtmbinp pnmbGjwo E GpuwGwyty F; L F; mwntpny,
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huy npwlg dhol tnuo htinwynpnipjniln’ 2¢: {phybtippnih Judw-
Julwl M plGpwghy Ytwnmh htinwynpnipyniGGtpp Yhquybwuntinhg
GowlGwynd GG r=FM L rn=F,M L wiGwimd Yhquytwmw;hh
ownwyhnGtpn: UyGhwjm L, np wyn wnwyhnlbph wmwppbpnip-
jniip pwgupéwl dhompjwdp, npl pgniGjwo t Gwuwlwlyt) 2a,
thnpp L dhoyhqutmwjhl htnwynpnipyniGhg: UyuhlplG 2a<2c
(a<c): Gpt UnnpphGwuwwjwl hwdwlupgp L Yhquitnbpp
nGumptlp wjlwbu, hGyybtu Ehwyuh nbhwpnid, wwyw, pun uwh-
dwldw(, yupnn kGp qpbg, np
r-r,=t2a 27

M plpwghy Ytwh YnnpphGwwbbpp Gubwltlp (x.y),
Jhquijtimtiph YnnpphGuwmbtipp pGupjwo hwdwlwpgmy YihGha
(c, 0) L (-c, 0):

Jupytiip 1, L 1, hwwnjwoltph tpyuwpmpjmGGtpp b
wmbnunptbp (27) hwjwuwpnpjub dhy.

1 =+(x-c) +y’ r, = (x +c) +y?
(27) hwjwuwnpmpniGhg YniGhGuGp.

\/(X —c) +y? - \/(X +c) +y? =+2a:  (28)
Uw Y1hGh hhwybppnih hwywuwpniin:
MunpqtgGtny wju hwjwuwpnidp b Gwlwybny b*= ¢*—a>
YniGlGuGp

2 2
X—2 Y1
a’ b’
Uju hwjwuwnpnudp Yngymud & hhytippnih junGwlw6 hw-
Jwuwpnud:
tunwgnutiip hhwbtppnih hwjwuwpnip L Junpnigblp
wjG:
1. <hytippnih yuGnGuwywl hwjwuwpdwG dte x L y thnthn-
fuwuGGtpp dnlnd G0 punwlniuh wunmhdwiny:
Uw Gpwlwynid E, np hhuybippnip uhdtniphy & YnnpnhGuw-
nwluwl wnwlgpltph Guwndwdp:
2. QuGkGp hhytppnih hwwmiwl Ytnmbtpp YnnpnhGwwmw-
Jw6 wnwlgpGtph htim: Ujn Guunmwyny (29) hwjwuwpdwb vt
wmtinunptilp y=0 L x=0 n1 qubklip hwwndwl Ytmbtpp hwiwww-
nwufuwlwpwn 0x L Oy wnwlgpGtinh htin.

28
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2
y=0, X—2=l, x’=a’, x=+=a:
a
MiptdG hhwybppnip wpughuGbiph wnwlgph htin hwnymd k&
tipynt Yhntipnid® A;(a,0) L Ay(-a,0):

x=0, —L =1, y>=-b?, y=+/-b> =+bi,

npwutin 1 = J-1u Ynsynd & Ytind dhwynp:

Uw GwGwynd t, np hhwybtppnip opphlGwwmbtnh wnwigph
htin hpwwG Yembpnd sh hwunynud: Ujunbinhg £ hbwnlmd E, np
hhytppnip punjugwd t tpym plhg we pl, npp quliynid £ wo
Jhuwhwppnipjub vty (x > 0) L dwju pl, npp qulynd £ dwfu
Yhuwhwppnipjui dto (x < 0):

A; L A; Ytwmbpp Ynyymd GG hhwybppnih ququplhn,
A1A=2a Yngynud E hhybtppnih hpwjwl wnwGgp:

3. (29) hwjwuwpnuip motilp y—h Guundwdp’

y=i2\/>(2—a2 : (30)

a
Uju pmGyghwl gnynipjnil niGh pnnp wjyl x-tph hwdwn,
npnlp pwjwpwpmy GG x*—a’2>0 wlhwjwuwpnipjuwlp, Jud
|X| 2 a: Ujuhlpl, we plp nuuwynpjwo t x>a Jhuwhwppnipjni-
(nd, huy dwju plp x<-a
AY JhuwhwppmpjniGmyd: Gph
nhunwpytlp dhw)l wnw-

ohG pwnnpnp, wwyw (30)
hwjwuwpnuihg htmlmd t,
! np x—oo, y—o0: Unwugwo

Y

r, 0 F, ” wnyniGpGiph hphdw( Jpw

JwnnmgblGp hhwbtppnp w-
nwohl pwnnppmu L wjl
uhitinphy duny pwpniGuw-
ytlp Yynmu pwnnpnltpnid
20.16 GnyGutiu (g0.16):
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Spwbppmh Lpugblmphupmbnl n ghpblmphulbpn
< hwpwptpnpnibp GQwlwymy G6 € mwnny b wigwlnwd
a

C

hhwtippnih tpugtinphuhmbn® € = —: Lwlh np hhytippnih hw-
a

dwp ¢ >a,wwyuw € >1:

a
X =*— mnhnGbpp Yngynud GG hhwybppnih nhpbywphu-
€

a
Gtp: Lwlh np &1, wyuw  — < a: {<tmlwpwnp, hhybppnih nh-
€

ntywmphuGbpp Ox wonwlgphlG ninnuwhwjug L ququpltphg Ghpu
nGywo minhnGtip ta:

<hNGLRALHP UUPUNSNSULEL?

‘Lwju vwhdwlhlp pbk npl E Ynygnmd mpuo pnGlyghwjh
wuhduunnu:
Uwhdwlnid.- SpYwo I ninhnp Yngynd £ L Ynph wuhduynnu, tiph
Unph Yypwyny Yhnh widtpgnptl htnwlwm dwiwlwy Gpwig
dhol. tnud htinwynpmipjniGp dquumd k. qungh (qo.17):
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Cum vwhiwGiwG, ImMP =0:

X—>0
AMPN -hg MP=MN cosp: Lwlh np [cosp| < 1, www
MP—0, MN-p GnijGybtu Ydqup qpnjp: UyupGpG, ImMN=0:
X—>00
Pwjg MN=Y-y, htimbwpwp, wuhdwyumnnh vwhiwlndp ytng-
(wywl mbupny dwptivwmhynpbb Ygpyh htinmlgwy Yhpy.
lim (Y-y)=0 (1)

X —>0

Ujdd  gnyyg wwlp, np Y=+—x ninhnGhpp

b
Y =+—+/x* —a’ hhwybppnih wuhdwyumnnGbpG b6 : bpnp'
a

b b
lim (Y =y)= lim[_x ——Vx’-a’ j =
X—>00 X—>00 a
B )
a}(ljg a}(l»n;xﬂsz—az '
Q-otilip hhwybtppnip hp wuhdywununGtpnyg L nhptywphuw-
Gtinny hw(ntiné (qo.18)
b

y=-—x
a

Q-0.18
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GiGtiny hhwbppnih uvwhdwlnudhg Yupbih £ ounwGug

nwghnlw] pwGwaltp hhybtppnih Yhquybnwjhl pwnwyhnGtph
hwdwnp: pwlp YnmGhGwl htinlyw) mbtupp.

I’l =a + &X
r, =—a+ex W puh hwdwnp

1’1 = —a — &x
I, =a—&ex duwfu plph hwiwn:

hiswbu, np Efhwjuh nhwpnud Ep, hhwtippnih ponp Ylnbp
£l pwjwpupnd GG (26) hwjwuwpdwGp: 9w Jupbh b uyw-
gnigh] wadhowwl mtnunpdwl dhongny:

NUrULNL

Uwhdwlingd.- Mwpwpn) Ynsgynud £ wyl Yhnmbph tpypuswhuywb
wmbinp, npnGg htnwynpmpymGGtpp jhquytin Yngynn npjuwo vh
Ytwnpg L nhpblwphu Ynggnn wpdwo sh mnnhg hwjwuwn GG
dhujwg:

Mupwpnih Jhquytimp GpuGuytip F mwnny, huy nhptin-
nhup’ g mwnny: GUhquijtimh L ghptywmphup dholi  hnwynpnip-
jnilp pnniGuwo bt Gulwltp p mwneny b wijwlb] ywpwpnih
wwpwubtnn:

Ay

g

Q

\ L

30.19
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{wppnipjul Ypw vwnglhlp nmnuGlynlG phupunjub
ynnpnhGuumwul hwiwywpg. wjGwbtu, np ox wnwlgpnp wiglh
Yhquybtnny L nipnwhwjwg (hGh ghptywphupG (unnjuo nh-
ntywphuhg niwh yhquitin):

UnnpphGuumwlul uyqpliuytinp mtinunpblp jhqujtinh L
nhptyunhuh dhgmbnnd (qo.19):

CinpJwo hwiwjupgnmd  Yhquytnh YnnpnhGuwwnmGhpp

y1hGLG (%, Oj , hulj nhptyuphuph hwjwuwpnip' X = —%:

Upunwotlp wwpwpnih hwjwuwpnuip pGunpjwo hwiw-
Yupgnui: {wppmipjul Ypw Ytpglhlp dh M(x,y) plpwghy Yhwn
GywGwytlp npu htinwynpnipjniln Yyhquytinhg r-ny (r =FM), huly
nhptywphuhg' d-ny (d=MQ): Cun vwhdwGdwd,

r=d: (32)

Muwpwpnih hwjwuwpnidp yipgGuywl mbupny unwlwint
Gywumwyny, hwpytlp r-n L d-G m mbnunptbp (32) hwjwuwp-
dwl uhg:

2
r= (x—gj +y? d=x+2:

2
P ’ p
2

Ptntlp wju hwjwuwnpnudip wwng wtuph. wjn Guuumwlynyg
tipynt Ynnup pupdpwgltlp punwyniup.

p)’ p)’
Xx—=| +y’ =[x+=
( 2) g ( zj

2 2
2 p 2 2 p
X —px+—+y =X +px+-—
p 1 y p 4

Ltnlwpwn.

Jud y? =2px : (33)
Uw YhGh wwpwpnih julnGuwlywl hwjwuwpndp:
Ujdd htnwgnunbilp ywpwpnih mtupp L junnigtlp w)G:
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1. (33) hwjwuwpnuihg htimlnid t, np Wuwpwpnp vhdtn-
nhy E 0x wnwlgph Guwmdwdp, pwlh np Gpul pwjwpwpny GG
pnnp (%, y) Yawntiph YnnpphGuunGhpn:

2. Gpp x=0, wyw y=0, wjuhlpli wuwpwpnp wigliny t
ynnpnhGuwnmwul uyqplGultinny:

3.6pti p> 0, wmyw x > 0, wyuhlpl wju nhypnd Yupwpnp
nuuwynpwd £ we Jhuwhwppnipjul dto: buly tipkh p< 0, wyuw
x <0, nu Gulwymd k, np wuwpwpnp pquuwynpjuwo t dwfju
Jhuwhwnppnipjwi dkg:

4. (33) hwjwuwnpnuihg tiplnd £ Gul, np x—»00, y—>+oo:

U;jdd yunmgtilp wwpwpnip (q0.19).

Gpt wwpwpnih Yhqutimp mbnunptilp Oy wnwlgph ypw
L oquybtny uwhdwlnuihg nmpu phptlp hwjwuwpnudp, www
JuunwGwip.

x? =2py (34)

Uw th wwpwpny t, npp updbnphy & Oy wnwGgph GRuwm-
dwdip L nph ququwpp Gnylwybtu quymd £ YnnpphGuwnwlwb
uyqpGuytimmy: CGn npmy, tpt p > 0, wyw y= 0 L ywpwpnp
nuuwynpjwo bt yuphl Yhuwhwppmpjul vk, huy tpt p< 0,
wyuw y<0 L wupwpnp quiymy t unnphG Yhuwhwppmpju
utio: Fuypnguwlywl opwqphg hwjwnbGh £ wju wwpwpnp: bpnp

1
(B4)rhg y=——x":
2p
Yud tipt GwGwlytGp 2i =a, qunwwlp y=ax*:
P
Lwlh np, pun Wuwpupnih vwhiwiwi r = d, wyw Jupnn
r

tlp qnby E = 1: Qyumtinhg pGwlwG k GGpwnpky, np wwpwpnh
EpugtiGuphuhwtinp’ e=1:

Wyuwhuny' Ethwup, hhutppoip b wwpwpnpp pnipugpynid
til uh pnhwlnip mtuph hwjwuwpniing

—=g:

d
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Gpt e<1, wyw wju hwjwuwpnidp ywwmtpmu k thuyu,
tpt e1" hhwtppn), hul bGpbk e=1, wyw wjn hwjwuwpnidp
wwuwnlpnmd £ wwpwpng:

QoU3hL ULrUUCdh surrere

Grarnra 64 6N~ qurab NrNChver
(F6SErUPvULSLE) EY PULS
LUSUNMI3NFLLEL

=a,;a,, —a,4a,, wpunwhwjnnmpjnlp yn;-

aZl a'22

Unud £ tpypnpng Yupgh npnghg, huy a,;,a,,,a,;,a,, pytpp’ npn-
2hsh EibdtGunGhp ud mwpnpbn:

Npnphsh ytpkh dwju wGymbGhg Gtpplh wo wllyymG
nwnpynn whynibwaghon Yngynwd E giluwynp whyniGwugho, huy
Gtpplh dwju wGyyniGhg Yyiplh we whlymniG mupynnp Gpypnp-
nulw: GuwunmnpbG’ Gpypnpn yupgh npmppyp hwjwuwn k qpjuw-
ynp wllniGwqoh Ypw qulynn LadtGunlGhiph wpumwunpjuihg
hwlwo tpypnpnujul wilymniuqoh Yypw qunbynn LitdtGunGeph
wpuuwnpjuip: Gpypnpg upgh npnphsp punyugwd b bpynt wnn-
nhg L tipynt uyniGhg: EjadtGumGuph hGnbpultphg wowohln gnijg
L mwihu minnh hwdwnp, huy Gpypnpnp” wywl hwdwpp:

Ophliwg. -a, -n GuwGwynd £ tpypnpn ninnp b wnwohG ujwG
Lidtlm: Gpbt npnphsh wmnntpp hnjuwphGtlp hwiwwywwnmwu-
fuwG uymGhpny, wujw npnzhsh wpdtpp sh thnpuyh:

a,, ap

. Ap| [ap Ay

wjuhlpl’ mnntpp L uynGpp hwjwuwpwqnp GG:

Gpt npnphsh Gpiynt hwonpnuljwl wmnntph wmbnbpp thn-
[utilip, wwyw npulhg Ythnfuygh npnzhsh Gawp®
a;; ap ap Ay
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Ltnlyw] wpnwhwjmmpmnilp Yngymd E Gppnpn Jupgh
npnghy.
a;  a, A
_ Q12,853 +2,,25,8,; 12,,8,385 —a38,a5, —
4y Ay aAxn|= )
—a,;8,d33 —a83,dy3a; ¢

Gnywo hwpyiwl pwlwalp unwgynmd £ htnlyw) ufjutidw-
Jny.

Ujuntin w)-6 ngpuyuwl winuiGiph hwdwn £ (pun gfuw-
Unp wlyyniGuqoh), p)-G tptp pugwuwywl wlnuwiltph (puun
tpynnppuyul wayniGuqoh):
NpnphsGtipph hwyydwl wju dtpnnl wijuwinyd Gl «btnwi-
YmniGhGEph» dbpnn:
Ophtuw]. - Qwyby bppnpn jupgh npnzhgp
I -1 2

A=2 3 1/=9-20-4-24-6-5=-50:
4 5 3

GnympjnG mGh Gwb Gpponpn Jupgh npnghsh hwydwG

gniquhtin  minhnGtiph dbpnnp, punm nph’ wpjwod npnphshG
Ygwagpmu GG wnwohb tpynt uymGtpp, mwlmy qfuwynnp L tpy-

poppujub wiyniGuqotnG nt gpulg qniquhtin mnhnGhpn,
npnlp hwwnnd &6 Gpipwwb LiedtGmGep: Sfuwynp whlniGu-
qo0h L npwl gniquhtn mnhnGtph Yypw qulynn EEutGunGhph
wpunwnpjwiitnph gnudwphg unwgynud GG gpujul winudbtpn,
huy tpypnppujui wiynbGuqoh L gpul gqniquhbn ninhnGhph
Ypw qunGynn EtikGunlGtph wpmwnpjwihg pugwuwui wlnud-
Gbpp:
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211 A2
21" A = @y A a33t @) A3 1371 App A3 A31-

- a3 a2 431~ Az1 A2 433~ A3z A3 Aq1:
Juwdbdwwnbing wju wpnwhwjmnipjul w9 dwup ybpp
Gpywd pwlwdlbh we dwuh htim® Guwummd tlp, np npubp GnyGa
til:
Ophtiuag. - {wpyt tppnpn Jupgh npnhsp!
I -1 2/1 -1
A=2 3 12 3 =9-4+20-24-5+6=2:
4 5 34 5
Uwlpwdwub Giplwjwugltlp tppnpn Juwpgh npnphsGhph
hwwnympjmGGtpn:
1. Gpt npnppsh mnntipp thnfuwphGtlp hwiwwwwmwufuw b

wniltpny, www npn2hsh wpdtipp sh thnfuyp (nnntiph L
yjniGtiph hwjwuwpwgnpnipjwl hwnynipniG):

Uju hwnlmpjwl hhdwl ypw hwonpn pninp hwwlni-
pyniGGipp hwjwuwpwwbtu Yybpuwpbpnud &6 hGywbu wmnntphG,
wjlwtu Ly uymGhpp:

2. Bpb npnpphsh Gpynt hwonppujwl wmnntph Juwd ujni-

Gtph wbnbpp thnfublip, wwyw npnzhsh GawGp thnfugh:

a ap  ap dy 8y Ay
Ay Ay Ay a; d, A
a3 a3 Ay a3 a3 ag

3. Bpb npnphsG niGh Gpyne GoyyGwlwl nnn Jud yymd,
wyw wpdtipp hwjwuwn k 0-h:
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4. Gphb npnphsh npul winnh Jud vywl EtdkGumbGtpp 0-Ghp

S.

LG, www npnphsh wpdbpp hwjwuwp t 0-h:

Gpt npn2hgh npll minnnid juwd uyynilinmd ju plnhwGnip
puqiwyuwmnlhy, wwyw wjG Jupbkih t gnipu pbipkp npn-
2hshy:

ka'11 alZ a'13 all a'12 a'13

ka, a, ay/=kla, a, a,|:

ka;, a; ay a3 a3 dgy

Gpt npn2hsh npuk wmnnh Yuwd wyw6 LhdtGumGhpp Ghp-
quwjwgywd GG Gpynt pytph gmiwph wnbupny, wwyw
wyn npn2hgp hwywuwp £ tpyne wyGuhuh npngh;Giph
gniiwph, npnlghg wnwehlGh hwdwnp wyjw mnnh uyw
LitukGunGtplG wnwohl gnudwnbihGtnb GG, huy Gpypnp-
nh hwdwn' tpypnpn gnuiwptihGepn:

aj +aj, a, a|l [a, a, a,| [, a, a;
ay +ay Ay, ay|=[ay a, ay[tly a, a,
ay +ay ap ay| (@), a, ay| |ay ayp  ag

Gpb npnpphsh nplk vinnh Jud vjw LidtGnGephG qni-
dunpblp npwi qniquhtin mnnh Jud vjw EEukGunbtpp
(whwywtu pwqiwwwuting hGsy-np pwuqiwwywnyh-
any, wyuw npuilhg npnzhsh wpdtipp gh thnfuyh:

a, a, a;| |a,+ka, a, ay;

a21 a22 a23 = a21 +ka22 a22 a23 :

a; ay ay| |a;t+kay, a; ay

Cuwn Gwhunpny hwwnynipju G
a,+ka, a, a;| |a, a, a, |ka, a, aj;

a21 +ka22 a22 a23 = a21 aZ2 a23 + ka22 a22 aZ3

aj +ka,, a; ay| |a; a; ay| [kay, a; ay
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ka, a, ay; ad;; A A
ka, a, ay|=kja, a, a,|=0:
kaj, a; ay a3 a3 Ay

Uwnwgytg wyG, hG; wytinp tp wyugnighy:

Uhls hwonpn hwwnynpmGGtphG wlglbpn” owlnpwlGwlp
qowjhlG hwGpwhw)yh btpynt Juplnp qunuihwplph  htn:
Qpwlp GG dhGnp L hwGpwhwyyuwiwl jpugnid:

a11 a'12 a’l3
‘thgmp wpjwo b ola,  ay a,npnphsp: Gpt 9loklp
;) ayp agy
npnphsh dh wnn L dh wnl, wyw npwlhg YuGw Gnp npnhy
(ungny vtyp wwywu), npG widwlnd GG dhGnp L GpwlGwynid
M., 1=123, j=123: QGotny wmwppbp wnntp L wwppbp
ujnilGtp’ Junwbwlp wmwppbp dhGnpGtp: OpphGuy, tpt 9Gotlp
npn2hsh wnwohl mnnp L wnwohb uynilp, junmwlwlp
ay;

ij2

a;, ap

ady
M,, =

32 433

Unwyty jwplnp E hwlGpwhwyquiwl jpugiwl qunuithw-

np: a;j bidaGunh hwlpwhwyquyuwl jpugmd Yngynd £ owyn Eib-

dblunp wwpmbwynn wnnp L ounilp 9Goknig  wnwowgwd

thanpp' puqiuyunywd (1) —ng: UG Guluymd GG Aj,
1,j=123: Ubwyhunp A; = (—l)”jMij :

Ophlw]. - A1 =My, A= -Mys:

8. Bnipwpuwlysjnip npnphsy hwjwuwp b hp nplk yywl jud
wmnnh LitdkGumGtph L ngpulg hwdiwwywwnmwufuwl hwi-
nwhw?ywlwl jpugmiGtph wpnwnpjwGtnph gnuiw-
nhG, wjuhlpG’  A=a; A, +a,A, +a;A;, Yud
A=a; A +a, A +a, A5 Lyl

Uju pwlwdlbpnl wijwlnd GG npnphsh ytpnionipjnGGtp

punn npulg npbk Jwpph EdkGunGhph: dhpntyju puGwalbtphg

wnwohlp YtpnonmipniG6 £ pun wnwohlG wmnnh EtdtGumGhnh,

huy tpypnpnp” pun wowohb vjwl LikdtGmGhph: Uju pwGwdlb-
39

s My = LowyG:
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nh dhongny hwpynud kG ny dhuw)G tpponpn Jupgh npnphsGhpp, wyy
Gwl snppnpy b wybih pwpdp Jupgh npnghsGhpp: Ugkh pupdn
Jwpgh npnphyGhpp hw)ybm hwdwp Gyuwuwlwhwpdwnp L,
oquytiiny npnphsh jnpbtpnpn hwwmympyniGhg, npuk wmnnp Jud
wwl EitukGunGtphg hGwpwynphlu unwbw) qponbtp W htunn Ybip-
1ot pun wyn wnnh Juwy wywl EEutGnbhnh:
9. NOpnppsh nplt vinnh Juwd wyw6 EEdkGnGeph L npuig
qniquhtn nnnh Juwd wwl LadtlGnibiph hwipwhw)-
Juiwl jpugniGiph wpunwnpuiltph gnudwpp hw-
Jwuwn t 0-h. A=a A, +a,A,, +a;A,, =0, npny-
htiml wju nhypmd vnwgymyi Gl npnphyltin, npnlg
tipynt mnntipp Jud uyniGtpp GnyyGa GG:

QoUshUL UJUUUrNrUuLErh <UUUGUrQ-6rP
LARONRUT: GPUUGLh PULGUGY G2

NpnphsGtipG mGhG Yuplnp YhpwenipjmGatpn qowjhl hw-
JuwuwpndGiph hwiwyupqbph nodwl duiwlwly:
Qhunwpytilp tptip wihwjmbtpny tptip qowjhG hwwuw-
pnuiGtph hwiwywpgp'
a;X, +a,X, +a;;X; =b,
a,X, +a,X, +ayX; =b,:
ayX, +apX, +ayX; =b;
UGhwjwmGtph gnpowlhgltphg Juquiwo npn2hsG wlijw-
(tlp hwdwlwpgh hhiGuwlwl npn2hy L GpuGuytlp
a,;, ap 3,

A=la, ay, ay|:

x; wlhwjmp qunbbnt hwiwp hwiwljupgh hwjwuwpnid-
Gtpp hwiwywwnwuiwlwpwnp puqiwywnmytlip wnweohl uywl
LitubGunGtph hwlpwhw)wliwl jpugmiGbipngy L gnidwnpblp:
GuuwGwlp
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(@A, +ay Ay +a3A5)X, + (@A) +ayA, +a,Aq))X, +
+(aA), TauAy +auAy)x, =bA +bA) +bA,,
nptinhg A-x, =b,A,, +b,A,, +bA;;:
X, wlhwjmp qubbnt hwiwp hwiwwpgh hwjwuwpnid-
Gipp hwiwywunwuppwliwpwp puquiuyuwnmytlp npnohsh tpy-
popn uwjwl  hwGpwhw)wlwl pugnuitpng L gnidwpbp:
GQuunw Gwlp
A-x,=bA,+b,A, +bA,,:
x3; wlhwjmp qulbm hwiwp hwiwwpgh hwjwuwpnid-
Gipn hwdwywwnwuiwlwpwp pwqiwwuwwnmyblp npnphsh tp-
popy wjwl  hwGpwhw)wlwl pugnuiltpng L gnuiwpblp:
GQuunw Gwlp
A-x;=bA;;+b,A; +bA,;:
Ujuyjhuny, wlhwjnbtph npndwl hwiwp niGbGp hbnlgug
hwyjwuwnpnmpymGGtpp.
A-x, =bA;; +b,A, +bA;
A-x,=bA,+b,A,, +bA,,:
A-x, =bA;;+b,A, +bA
Ddjup sk Guwwunb, np wju hwjwuwpnmpmnmGGiph we
dwutpp tppnpn jupgh npnghgGhp GG, npnlghg nipwpwGynipp
Jupbih L vnwlw] hwdwupgh hhdGwlwl npnphshg” wnwohl
niypnmd wnwohl uynlp thnfuwphGtng wquum wlnuiltph
ujniliny, tpypnpn nhypnud Gpypnpn uynlp hnfuwphGting wauwm
wlnwuiltnh vwnilny, Gppopn ghypmy Gppnpg uynlGp hnfuwpp-
(tny wquu wlnwiluph uynGny: Ujuhlpl’
bl a12 a13
bA; +b,A, +bA; =b, a, ayl=A;:



a; a, b
bA;; +bAy +biA =la, ay by|=A;:
ay ay; b,
AL A, A, npnphyGtpG wijwlnd GG hwdwlywpgh odwG-

nuwy npnphsGbp:
A-x, =4

Uunwguip JA-x, =A,,
A-x;=A,
wjumtinhg npnptlp X, X,, X3 whwjmGhpp:

X, =
pwlwdlbpl wijwlmy GG Gpwdtph pwGwdlbp:

X2:

X3:

> | |

Ujuyhuny, qowjhG hwjwuwpmuiltph hwiwlywpgp Ypw-
dtiph pwlwdltipny motym hwdwp wytwp t hwpyty A, A LA, A,
npnhy Ghpp L mtinunpt) pwGwalbph vhe:

LnonmdGtpp htnmwgnunbtynt hwdwp ghnwpytlp htnlgug
nbwptpp.

1) GGpunptiGp' A # 0, wju nhypnid Upwdtph pwGwdlbtphg
htimlmd £, np hwdwlwnpql niGh vt nonud.

2) GGpuwnptlGp’ A=0, pwjg odwlnuy npnphsGtphg qnGt
dtiyp hwjwuwn st qpngh, wju ghypnd Gpuwdtph pwlGwélbphg
htimlmd k£, np hwdwlwngp niomy yniGh.

3) GGpwnptlGp’ A=0, L odwlnuly npnphsGhpp GniyGutu
hwjwuwn GG qpngh, wju nhypnd hwiwlwngl niGh whphy nt-
onmuGhn:

Gpt b, =b, =b, =0, hwiwywpgp Yngymi b hwdwubn
hwjwuwpmuibGbph hwdwlwpg: Gph hwiwlywpgh hhdGwlw6
npnohsp’ A # 0, wyw hwdwlwpgh mondGhpp YihGeG gqpojw-
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Yuwl, pwGh np wju nghypmd A, =A, =A; =0: Npytugh hwiw-

utin hwdwwnql niGtGw ny qunjuyub nonwd, Upwdtiph pwlw-
altiphg htmlmd b, np hhdGwlwl npn2hgp wWhwp £ hwjwuwp

1hGh qpnjh (A =0):

OphlGuyy. - Gpuitph pwGwdlbpny nuoty hwjwuwpmdiGhph hb-

unlyw] hwiwlwnpgn:
2x, —3x, +x; =-1
X, +X,+X;=6
3, +X, —2x;=-1
Qupytip A, A, A,,A; npnphsGhpp.

2 -3 1
A=1 1 l|=—4+1-9-3-6-2=-23,
3 1 =2

-1 -3 1
A=16 1 1 |=2+6+3+1-36+1=23,
-1 1 =2

2 -1 1
A,=|1 6 1|=-24-1-3-18-2+2=-46,
3 -1 =2
2 -3 -1
A;=11 1 6[=-2-1-54+3-3-12=-69:
3 1 -1
Mptya’ Xlzﬁ=—23 =-1, X2zﬁz
A =23 A
A, —
X3=—3=£=3: Muww." (1,2, 3):

A =23
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uusrh38ver 64 NroNUNMISNFLLE ‘HPULS
LaUSUUUR

Oytinh Gpwo wnyniuwln Ynsymd L dwnphg, hul wyn pyt-
pp’ dwwuphgh EtubkGubhp yud mwpptp:

Uw mxn swihh dwwnphg E: Gpbh dwwmphgh wmnntph phyn
hwjwuwn £ uyniGtph pyhG® m=n, wuyw wjl Yngyynd £ pwnwlyni-
uwjhl dwwnphg, hul Gph m#n’ mnnuGljnii Jwwnnphg: Snympymab
mGtG Gl wnnnqujhG L wniGwjhG dwwmphgGtpn: U6 dwwphgn,
nnp pwnugwd t dhwjyl vkl winnhg, Ynyymd L wmnnuyhlG dwwn-

nhg' (a,,a,,...a,), hu wjG dwwphgp, npp punugwd  Shwj
b,
uty wyniGhg, Yngynud £ uyniGuyhG dwwnphg' | b,
b,
ClngmGwo L dwwumphglbpp Guwlwlyt] dowwmwnbtpny® A,
B,C,X,Y, .. jud (aij), npntn 1=1,2.3,...,m; j=123,..,n:
Uwlpwiwul nuunudGuupptilp pwnwiniuwjhl swunphglt-

np L nnull}u ophGwly nhuwpytGp tppnpn Yunpgh pwnwlniuwjhl
dwuwphgp
a;; ap ag;

A=la, a, ay
a3 a3 Aagp

Uubkl dh pwnwyniuwjhl dwwmphg niGh hp npnphsp, npG
pinniGywo t GruGwlybty
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a,, 34, a;
AA=la, a, ay|l=detA:
a3 a3 Ay
U6 pwnwlniuwjhG dwwphgp, nph npn2hyp hwjwuwnp
qnnjh (AA =0), Yngymd E tquyh dwwphg, huy tpt AA#0,
wuw wjl Yngynud £ ny iquuijh dwwnphg:
A dwwnphgh’ qunjhg wwppbp dhGnph wikGwpwpdp Jupgp
Unsynid £ wyn dwwnphgh nwlq L GQuGwyynid rangA:
Gpti dwunnphgh wnntipp thnfuwphGtlp hwiwwywwmwufuwb
uniGbpny, wyw Juunwlwbp Gnp dwwphg, npG wijwlimy GG
wnpwiuwynGugyud dwuphg b Gulwymd A’

a;p Ay Ay

Al=la, a, ay

a3 Ay Ay
Gpt dwwphgh pnnp EjidtGmGtpp qpnGhp 66, wyw w6
Yngymu £ gqpnyuyul dwwnnphg, huy tpti dwwnphgh pnnp Litdtlm-

Gtpp qpnGbp GG (pugh wiyniGuwqoh Yypw nwuwynpywod Lik-
dtiwnGhphg), wyw wjG Ynygmd L whlyjnGuqowjhl dwwnphg’

a, 0 0
0 a, O
0 0 ay

U0 wlynbuqowjhl dwwnphgp, nph wiyniGuqoh kb-
dtlmGtpp hwywuwn 66 dGYh, Yngynud £ dhwynp dwwunphg b Grw-
Guwyynui E munny’

1 00
E=(0 1 O0}:
0 0 1

SpwluwynGwgywd vwwmphgh LtdtlGwmbGiph hwlpwhw)-

Juiwl jpugnuiGtiphg juqiyuo dwwphgp Ynsgymd £ Yggwo
Swwnphg b Gubuwlyng A"
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A Ay Ay
A = A12 Azz A32
Ay, Azs A33

1L Gplnt dunnphglbnh gnidwipnidn
“+hgnip mpjwo GG A L B dwnphgGtpp.

4 ap  ap b, b, by,
A=|a, a, ay|,B=|by, by by
a3 a8z Adg b, by, by

Uju dwumphgltph gniiwp dwwnphgnp juqditin hwdwp pw-
Juuwi E npubg hwdiwwyuwwnmwufuw fedtGumGhpp gnidwnty
ay+b,, a;+b, a;+b,
A+B=|a; +b; a;+b,;, a;+b
all—l—bll a11—+_b11 a'll—i_bll
1l Uinnphgh puquwwuninlnidn k pugquungunnliisny

A dwunphgp hGs-np k puqiuwyuwnpyny puqiuwwumltine
hwiwp whwp L npw pnnp LiGdbGmbbpp pugqiuyuwmty wyn

puny’
ka,, ka,, ka,
kA =|ka, ka,, Kka,
kay kaj; kaj

1 Gplnt dunnphglGbnph puquuwyuinnidn
Gpym dwwnphgltp Junptjh £ puqiuywnyt], Gph wnwohb
dwwunhgh uynilGtph pwGwln hwjwuwnp E Gpypnpn dSwnphgh win-
ntiph pwwyha:
a;, 34, a; b, b, by,
2 by by

A=l|a, a, ay|[,B=|b
a3 a3 Ag by, by by
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3
Lowlwltlp C=AxB, C; =Y a,b,; (i=123,j=123),
k=1

wjuhlpl’
ayby+abytarbs; apbiatapbyyta;bsy  apbyztabysta; s
AB={ 2y by+aghy +aybs; aybatagbortasdsy asbyztarbystasbss

azby+azby tazhs; azbatazbytasbsy azbjztazbsrstashss

1 0 0 01 0 01 0
OppGwl- A=|0 2 1|, B=|2 0 1|, AB=[5 0 3|,
300 1 0 1 03 0

0 2 1
BA=|5 0 Of:
4 0 0

Puqiuyuuniiul Julnlhg L wju ophGwyhg quihu tlp
w] G tgnujugnmipjw G, np plnhwGnp nhypmyd dwnnphgGbpp pug-
Jwyuwunltihu mtnuwithnfudwb optiGpp sh gnpony:
AB#BA:
Pugwnnipnil L Juqinud dhwynp dwwphgny pwqiw-
wuwwulbp® AE=EA=A, wjuhlGpG’ E-G dwwphgGtph wnbunipjul
utio yuumwpnd £ 1-h nbpn:

UGUUr uusrhs 64 U0 - SveLr?

Uwhdwlnd. - SpJuwo A dJwnphgh hwjwnwnpd Yngynd £ wyG
dwwnphgp, npp puqiuwwunlbing A dwuphgny” hGywbu dwfuhg,
wjlytiu £ wohg unwgymd L shwynp dwwnphg:

A hwlwnupp panniGjwd bt Gubuyt A7, wjlubu np
pun uwhdwGiwG AA'=A"A=E:

Uywgnmgtlp, np tpti A dwwmphgh npnphyp hwjwuwp st

qnnjh (AA # O), wuyw A~ ziA*: Gpt AA =0, wyw wyn

dwwnphgn hwjununé sniGh:
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Guqitilp AA" dwwphgp. tpt wju wpmwnpjup wnybg
dhwynp dwwnphg, niptdG yipn6ju pwlwdli wywugnigyuo k:
Au Ay Az
a a A A A

a11 12 213 A Ay An |
21 8 A |— = —=
31832 833) Az Az Az
A A A

anAj tapAp +taisAis apAx +apAg +a13Ar3  a1A3) +apAsy +a13A33

A A A
_|aaiAn +apAp tagAis ag)Agg +agAg) +a3Ar3  ap1A3) +agAgy +ax3Ass |

A A A
a31A +a3Agp +a33A|3  a3jAg +azpAgy +azzAgs a3jAz) +azpAs) +aszAsg
A A A

Lwlh np AAntapAn tasAis A CapAntapAp tapsAn A

A A A A
a1A +a12§12 FasA :%: 1, dGwgud thkGnGhph hwiwphsGhpp
hwywuwn GG qpnjh:

Ujuyghuny, dJwwphgh hwliwnupép qulhnt hwdwnp
wlhpwdtpm t

w) hwpyt; AA -G, tpt AA =0,

p) hwpyty mpJwo dwwnphgh LitdtkGumbGtiph hwipwhw)u-

Yub jpugnuitipp (A,,A, ...),

@) Yuqdty A" Ygywd dwwnphgp,

_ | R
1) unwgqwd wpnniGplbpp mbqunpt; A~ = EA pw-
Gwalh dhy:

Ophtw]y.- Gl A = dwwnphgh hwwnupén:

—_ N =
W — N
—_ =
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1
. AA=]2
1

W = N

1
[=1+6+2-1-4-3=1:
1

2. An=2, A=l Azl
Ap=-1, Ap=0, An=1,A3=5, Axy=1, Ap=-3:
-2 1 1
3. AT=-1 0 1
5 -1 -3
-2 1 1 -2 1 1
4, A*IZLA*:L -1 0 1 |[=|-1 O 1
AA
5 -1 -3 5 -1 -3

QoUshL KUJUUUrNrULErh <UUUGU AR
uusrhsu3shv arukNro? 69 LARONMT?
uGUu1Uury vusrh3sh O vNrMrSUUR

Nputu ophGuwy Ytpgltlp tptp wGhwjnny tptp qowjhG
hwjwuwpniGhiph hwiwunpqgp
ayjX| +apX) +a3x3 =b
ap1X| +agyXy tagzXy =by:

a31Xy tazpXy +a33X3 = b3

a;, a4 ap X b,
Gpb Gpulwytlp A=|a, a, ay,|, X=|Xx,|,B=|b,|,
a3 a3 g X3 b,

wyw npjuo hwdwlwpgnp Yuntih  qptip hinbyw swunphguwjhG
hwjwuwnpiwl wntupny® AX=B:

UWju dwumphgujhl hwjwuwpnmdp motim hwdwp Gpyne
ynnip dwfuhg puqiwuuultlp A’ hwliwnupd Swwnphgny,
unwlwlp A'AX= A"'B, A'A=E, EX= A'B, EX=X, htwnluw-
pup’ X= A'B: ‘Lwjuwuwbu npnytng A” hwlwnwpd dwuphgp b
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X1
wjl pwqiuyuuybing B dwwuphgny funwlwlip X =|Xx,
X3
dwunhgn, wjuhlpG® mpjwo hwdwlwngh nionuin:
OphGuw]. - Lwjunupd Jwwnphgh oqlmpjudp ot qowjhl hw-
JuwuwpnidGtpp htimbyw hwdwupgp.
3x, +2x, +x,=0
2X, +X, +x5 =1
X, +3x, +Xx, =2

1 21 X, 0
Lywlwytp A={2 1 1|, X=|x,]|,B=|1],
1 31 X, 2
YuunwGwlp AX=B, nph jmomut £t X=A"B,
-2 1 1 -2 1 1Yo 3
A'=-1 0 1 [,X=|-1 0 1]|1|=]-2]
5 -1 -3 5 -1 =3)2) (-7

M. x;=3, x;=-2, X;=-7:

QoUshUL KUJUUUrNrULErh <UUUGU AR
LANFOUUL ULUBSUEh U201/ UGU L
ursuruuun U1 quu UNrh UGo11)-

“+hgnip mpjwo t qowjhl hwywuwpnuiGtph hwiwyuwnpg'
a;X; +a,X, +a;X; =b,
ayX, +ayX, +a,X; =D,
a3 X, +apX, +ay,X; =b,
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Gunwh dkpnnp punugwo t tpynt pwjthg’ ninhn pwj b
hwjuwnwnpé pwj: Cun wju dtpngh’ wpmwpund Glp x; wlhwj-
wp hwdiwupgh pnnp hwjwuwpnuiltphg” pwgh wnwohGhg:
Tpw hwiwp pwjwluw £ hwdwlwpgh Gnipnpng L Gppopn hwyw-
vwnpnudGhph tpyne Ynnitpp puquuyunmty hGy-np puqiuuwwwm-
yhyny" hwyjwuwnptiglting x; wlhwjmh gnpowlhgp wnwohl hw-
Jwuwpiwl x; wlhwjmh gnpowlghl, wnwohl hwyjwuwnpnidhg
htippny hwity Gnp vnwgywd hwjwuwpnuiGtnp: Gunwiwlp®

a;X, +a,X, +a,;X; =b,
ay,X,+ayX, =b):
ay,X, +ay;X; =bj

‘UnyyG Yhpy wpunwpublp x, wlhwjmp wju hwdwlwpgh
pnnp  hwjwuwpnudGtiphg (pugh wnweohlG tpyniwuhg): Guwnw-
Gwlp

a;X; +a,X, +a,;X; =b,
a5,X,+ahX, =b):
ayX; =bj
Q-wniup dtipnnh ninhn pwyiG wjwpnybg:
Ujdu JtpohlG hwiwywpgh ytpohlG hwywuwpnuihg npn-
b”
2ulp x3 wlhwjnp' x,; = —,3,:
3

Stnunptiny x3;-h wju wpdtipp tippnpn hwyjwuwpdwb gty
npnptlip x, wGhwjmp: Upnkl x;-h U x3-h hwjmbGh wpdtpGtpp
wnbnunnptiny hwiwywpgh wnwohl hwjwuwpiwb vke” Ynpnptlp
x; wlhwjmn: Uw £ Gwniuh dGpnnh hwuwnuwné pwyG t:

Gnpolwlwlimd hwiwlupgp Guwnwuh dtpngny ot
hwiwp Juptih t gonue gplp whwjmbbph gnpowyhgltnhg Juqu-
Jwo plnuyijwo dwwnphgp b GoyGwiul dlwhnfunpmGGbpnyg
gnnGtp nupdGb] quwynp wGlyyniGuqohg Gtppl puuwynpyuo
EitukGuGtpp, hGshg htin Yhpwnt] hwwnund pwjn:
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a; a, a;|b a;, a, a;)|b
8y Ay ay|b, o] 0 a), a), b
ay ay ay )b 0 0 aj)b]

Ophlwy.- Gwniuh dtpnnny niot) hwdwlwnpgp

X, +2x, +x; =4

3x, =5x, +3x; =1:

2x, +7x, =X, =8
UGhwjwmbtph gnpowyhgliphg Yuqditlp plguw)Gjuwo
dunnphgp
1 2 1)4 1 2 1) 4 1 2 1) 4

3 -5 3 |1l<(0 -11 0 |-1l<|0 -11 0 |-11:
2 7 -1)8 o 3 -=-3,0 o 0 -=-3)-3

UwmnphG winnhg -3x3=-3, x5=1, tpypnpn wmnnhg -11x,=-11,
x,=1 L wnwohl wmnnhg x;+2-1+1-1=4, x;=1: Mww." (1;1;1):

vuuuuvuerh SEUNMISNFL
Uwpbdwmhluwlwl dbonpjul quinuifnunpn

Uwpbdwwmhljumd «ibonpmil» wlijul wnwl hwuljwg-
ymud L wjyl wdkbp, hGyp Gpwlw £ swhdiwl: Ujunbn hwpy E
(o6, np Whompjwl dhghjuljub Enipjnilip dhq hwdwp GQuwlw-
ympjniG ymGh: Uyn huy wwwmdwnny dwptdwmhiuwjh pnnp
tgnuugnmpjmGitpnG odnywod GG pinhwlpmpjwdp, npubp Yh-
pwntih G0 pninp dGompniGGtph Gyuwundwdp plighwlpwytiu:
‘Liwl wmhwyh dtompynGlbpp Ynsynd GG dwptdwwmhiuyw6
ubonipnilGtn: Ukompjul swthdiwl wpnynilpp wpmwhwjunynid
L pUny, npp Ynyymd £ Gpw pywjhG wpdtip:

Uwpbiwwhlyuwluwl dhompjnGatpp (hGnd GG hwumwwumni G
L hnthnfuwuG:

{wunwunmb dtompiniG Ynyymd £ wyl dtompjniGp, npl
nlnniGnid k dhllnyG pywjhG wpdtpn: OphGwly hwjwuwpwswih
nnnuaqhd Jwpdiwl wpwgnipjnilp hwunmwmn b dtompyniQ t:
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Onthnfuwwb dtomp nil Yngynid £ wjl dtompjnilp, npl
nngmGnd £ wmwpptp pywjhl wpdtpltp: OphGwy npnpwyh
quiqwoh quqgp &Gynuil m dwyjwip thnthnfuwlwl dEonip G-
Gtp GG:

{wunwunmb dkompniGGtpG pGyniGwo £ Guluyby a, b,
C,...0 B, 7, ... wmuntpny, huly thnthnfuwywl dEonmpjmGGatpp

XY,Z, . . . §,n,C. . .nwntipny:
Omipinfuwlwl vhompjwl L hwonpnuwlwlnpjuwli vwhdwln

Uwhdwlind. — a hwunmwwntG phyp Ynsymud £ x thnthnfuw-
Juwi dtompjul uwhdwG, tpt ujuwo hGs-np dh wpdtiphg x-a Jud
a-x mwppbpnipjul pwguwpéwl wpdtipp punlnud £ L dhpwn dlnd
thnpp, pwl guijugwo, (Gwuwybtu Yyipgpwo, pujuyuiuswuth
thnpp €>0 phyp: Ujuhlpl, tpt [x-al< & Gph a-G x-h vwhdwG6
E,www gpnmud GG, np limx=a Jud x—a (uwhdiwl x hwjwuwnp t a,
1hutiGu x hwjwuwn t a, x dquamd L, a):

Muwpq t, np hwunwwnnil deompjuwl vwhiwlp hwjwuwn
UihGh htiGig hptd:

Gpt x thnthnfuwuwG dtonmpjuwl wpdbplbpp hwdwpwljwg-
Jwo bl L nwuwynpjwd npnpuwyh Jupgny, wyw wjnuhup
thnthnfuwwl  dhompjulp wljwlmd GG Jwpquynpjuo
thnthnfuwlwl  JdtompmlG  Jwd  hwonppnuywlnmpmbG L
Gwlwlyni GG x,-ny, npnbn n-n hnhnfuwlwl dGonipjwul
wndtiph hwiwnG E: n-hG mwiny mwpptp wpdbpltp® n=1,2,3,...N,
N+1, ..., junwGwip x;, X, X3, ... , Xy ... hwonpujwlnipniGn:
Lwonpnujwlnipniln pGnmGyuwo t Gru Gyt {xn} auny:
UwhdwGnid.- a hwunwwnniG phyn Yngynd | {Xn} hwonpnulw-
(mpjuwl uvwhdwl, Gtphk guwlijugws Gwhwwytu wpjuo,
pujuwyuwlwswth thnpp €0 pyph hwdwp Jupbtih & Gphp dh
wjGwhuh n=N hwdwnp, np |Xn - a| < g, htiig np n=N-hg:

Gpt a phyp hwlnhuwlnd t x, hwonpnujuwlnpjwl vwh-
dwln, wyw wyn qpnd GG htnbywy dlnyg’

limx =a:

n—oo
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OphlGuly.- x, thnthnfuwwl dhonipjwl vwhdwlp, npp n-h wi-
uwhiwl vtowgiwl htim dhwuhG plpnmGnd £ hwonpnupwn
x1=0,9; x,=0,99; x3=0,999;... . hwiquuwnk 1:

bpnp, o,=1-x, mwppbpmpjnilp hwonpnuwpwp pgniGnd
htimlywy wpdtipGtipp:

o, =1-0,9=0,1; a,=1-0,99=0,01; a3=1-0,999=0,001... L
wllGhwjym £, np ujuwod vh wpdbphg wjn wmwppbpnipniln
nunind £ wytih thnpp, pwl gulijugwd Gwuwwbtu Yytpgpwo,
Pujulywlwswh thnpp >0 phyp:

DANFLGShU
DAFLGShUSHh UULUULL

Uwhdwlnd.- y (hnhnfuwluwGp x thnthnfuwyuwGh $nlGyghwG t,
tipt x-h jnipupwlsjnip wpdtiphG hwGwwywwnmwujuwlnd t y-h
npnpwlh wpdtp:

x-h  wjl wpdtplGtph pwquinipjnlp, npnGg hwdwp
qnyupjni@ niGh y-h npnpwih wpdtp, Ynsymd b pnGyghwjh
gnjnipjwl Juud npnpdwl wmhpniyp:

Gpht x-h by wpdtiphG hwiwywunwuppwlmd £ y-h dhwyG
Ut wpdtip, wyw $nilGyghwb Ynsynid £ dhwpdtip pniGyghw:

x thnthnfuwuwln Yngymd L wliljwu thnthnuwlul fud
wpgmitlwm, hul y thnthnfuwwlp’ Juiuyywy thnthnfuwlywl fud
I lyghw:

Utq powwywunng phpwiuwlmpjuG dte Jupbih b Gty
pwqiwphy PpnlGlyghnGuwy Juwfudwl ophGuylGtp” onh 9tiptwu-
whdwlh Yuwpunip dwdwlwlyhg, powlwqdh dwlytptuh Yuw-
[unuip pwnwynhg b wyG:

Clnhwlnp phypnd $nilGyghwl Grulwymyd GG y=f(x)
wmbtiupny, npntn f-p Yngynd £ pnGyghwjh uvhiyny L gnyg L
nwihu, pt wpgmikGnh (x) Guudwdp hGswhuh dwpbdw-
wmhijuywl qgqnponnmpiGitn wtwmp E Juwwwpl), npwtugh
uuiwgyh pniGlghwyh (y) wpdbipp: Ltiptlp h pwih ophlulGp

y=x’,y=sinx, y=

L wyG:

dnllghwb Juntih £ nwy Gptip tnuGwyny.
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1. dbpmowlwl, wjuplpl y=f(x) wbupny (pwlwdlh
oqlinipjudp):

2. Unmniuwlyh mtiupny:

3. QGpudbhyuyuw:

Lwlh np $nlyghwltnh nmwppuwywl wmbunpnilp dhq
hwjwnGh £ dwpbdwmhywjh nupnguywl épwqphg numh dhwG-
quihg wlgGkbp dniGYyghwjh vwhiwbh dLwybpuyiwbn:
Uwhdwlnd. - b phyp Yngynid £ y=f(x) dniGyghwjh vwhiwl x-p
a-hG dqutihu Lphk x-h a-h6 pwjwlwlwswih dnn qunbynn wp-
dtpGtphG hwiwwwwnwufuwlmd GG y-h b-hG pwwn dnn qunlynn
wndtipGtin:

UjuhlpG, tpt gwlyuwgwo, (wjuwwbtu wpdwo, pwjw-
Juwlwyswith thnpp €>0 pyh hwdiwp Yupkh t Gt wyGyhuh pw-
JuwywGwswih thnpp 6>0 phy, np [f(x)-b|<e, htilig np [x-a|<d:

Gpt b-G f(x)-h uvwhiwGlG E, www nw qpmui  Llp
fimf (X) =b m Jupnmd uvwhiwi f(x) hwjwuwn t b-h:

X—a

GpypwswihnptG  $mbGyghwjh  uvwhdiwlh uvwhdwlnwip
Junpbph L dGyGwpw ity qowaghnp 20-h oqlinipjudp:

Q.0wqphg htimunid &, np Gpt b phyp f(x)-h vwhdwa E x-p
a-pG dquitijhu, wyw nw GpypwguthnptG Gwlwymd k, np a
ytwp o powyuwyphg Yytpgpwd wdtG dh x-hG wytwmp L hwdw-
wuwunwufuwlhli y-h wjlwhuh wpdbpltp, npnlGp pGywo GG b
ytwh € ppowljwpni:

v A ¥ =#(x)
bk
b f(x)[ b
b-¢
f(x)
X x>
& a-o a a-B

Q0. 20
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Ulybnpe thnpp L whiybpy ko dhompimllhn, whiybng
hnpnpbph hwnmlnipniGGbpnp L hwdbdunnidn

Uwhdwlingd 1.- o-G Yngynud & wGytipng thnpp dkonipjnil, tpt wyl
pwgwpdwl wpdtpny thnpp b, pwl gwljwgwo, Gwhiwubu
npjuo, pwjwwbwswh thnpp >0 phyp: UjuhlpG, tph |o|<e:
Ujuntinhg htimlnd t, np o—0: Gy Jupnn tlp wuby, np
qnnjh dqunn dkonipynilp Yngynid £ whyting thnpp vtonipym:
Uwhdwlnf 2.- Z-n Ynyymu k wldtpe vko dtompjub, tpt wyl
pwgwpdéwl wpdtpny dGo L, pwl gwljugwod, G(wuwwbu
npjuwo, pujuwluwiwsuh dto M>0 phyp: UjuhGpG, tpt |Z|>M:
Ujuntinhg kp htmlnd t, np Z—o0: Gy Jupnn GGp wukij, np
wluwhdwlnpjul dqunn dkompniGp Ynsgymd £ wlytpy dko
utionipjniG:
{wmbmp_]mﬁﬁbpg
. UGYtpe thnpp donmpjul hwunupép wldbpy dho
ubonipynii £ L hwjwnwyp wldtpy uko uvkompjwl
hwlunuwpénp wiybkpg thnpp dtonpnl L:Ujuhlpl, tpt a—0,

1 1
wwyw — — o L hwjwnwlp' tpt Z—00, wuyw 7 —0:
o

2. dbtpouwinp pyny wlytpe thnpptiph qnuiwpp wybtpg thnpp
ubonipjnil k:

3. UGYtpe thnpp dbompjwl L hwunmwunmb dhompjul wp-
nwnpjwip wiytne thnpn tbonipjn k:

4. UGYtpo thnpp dhkonpjul L ytpowynp dkompjul hwpw-
ptpmip niGp wGybpe thnpp dtonipnil k:

Swlbdunnmdp .- {witidwwnt] tpyne wlGytpe thnpp dtonipmG-

Gbp Grwlwlynw E nuunudGuuppt] gpulg hwpwptipnipjwl vwh-

dwp:

Qhunwpytlp htimlyw nhwptpp’

.o
1. Gpt ﬁlmE: A#0, wyw o -6 L B-G Ynyymd GG dhubnyG

Jupgh wGyting thnpp vtompymGGtp:
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2. bph Zim% =0, www o -G Ynsgmd £ wybh pupdp Yupgh
w@yting thnpp dtonipjniG, pwb B-G:

3. Gph ﬁim%:L www o -6 L B-G Ynyymyd &G hwdwpdbp
wlyting thnpp dtonmp niGGtin:
hULUGUL O6ENLPEULER UURUULLE PR UUUPL

PEALEU 1. UwhiwGitph mbtunipjul pnilnuitiGunu) ptinpk-
dp. Gpb a hwunmwuwmniGp x hnthnfuwwGh vwhdwGa6 t, wyuhGpG
limx =a, wyw wjl Juptih & Gipuwjuglit) hp vwhiwGh L dh
wlytinyg thnpp Whonipjwl gmiwph wmbupny X =a + o, nputn
a—0: GYy hwlwnwyp' tpb thnthnjuwubp Gipuyugywo k hig-
np Uh a hwumwuwniGh b dh oo wGytipng thnpp vtonipjwl gnidwnph
wmtupny' X =a+o, wwyw wjny hwunwnml gqmiwpbhG X
thnhnfuwuGh vwhiwGG B limx =a
OENLAEU 2. dapowynp pyny dnilGlghwGltph (hnthnjuwlwG-
Gtph) hwipwhw)wjuwl gnuiwnph vwhiwlp hwjwuwp L wnwG-
aphG gmiwpbihGGiph vwhdwGGiph  hwGpwhw)yuwijuwl qndw-
pha:
limu+v+w+...]=limu+limv+limw+...:
pEALEU 3. Upnunpjuih vwhdwlp hwjwuwp b wnwGéhG
wpunwnphyGiph vwhdwGGEph wpumwnpyuhG
lim(u-v)=limu-limv :

Stnlaudp.- dwunwunniG puqiuwywnmyhsp Jupbh £ gmpu hw-
(it wwhdwGh Guh wwlhg. lim(cu)=climu
OENLPEU 4. Unnnpujh vwhiwlp hwjwuwp £ hwdwphsh L
hwjnwpwph vwhdwGGEph pwlnpnhG:

. u  limu

lim—= :

v limv

OENAEU 5. Gph thnthnfuwyuwlp Jud $nbGlyghwl vwhdwlGw-
thwyyuwo E tpynt wy thnthnjuwwGitpny Jud $niGlyghwGtpny,
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npnp GGG pGphwlnmp vwhdwl, wyw w)n thnthnfuwlywip
($nGyghwb) dqunid k GnyyG vwhdwGh(:

onn f(X)S (p(x)s g(x) L limf(x)=limg(x)=b, wjn
nhwpnd limg(x)="b
OENLEU 6. Ulgtpy thnpp wntinh uhlniuh L wjn wntnh
hwpwptpnipjwl  vwhdiwlp, wpnwhwjnywd nwrnhwlbpny

sino
=1:

hwywuwn k dtyh, wjuhlGpG’ lim
a0 o

Uju pwlwdlp Ynygmd L wnwohlG GrwGwynp uvwhiwi:
Sw(ip wju ptinptidh wwywgnyygp:
Uupuugniyg.- Lulh np oo wntinp dquunid £ qpngh, wwyw Junpbh

Jtipglity 0< a <g (q0. 21):

q.0.21

dbtpgGhGp R wnwynny powghd L o YhGupnGuywG
wlynilpn: GFowqphg wybhwym L, wilpwi Ypuw Junmgyuwo
AOBA , utijuinp OBA, AOCA tpypwswihwlywl wuwwmytpGtpp
dwybiptiulbpp pwdwpupmd 66 S,oxp <Sygyoas < Spoac Wlihw-
Jwuwnpnipjwlp:

Jupytip wju wwwnytpliph dwybptulGtpp, oquytiny

nwppuiul Gpypuwywihnpjul pwlGwalbtphg
2

S r0AB =7s1noc
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Stnunptiip wju wpdtpGtpp Ytpnhh2jwy wlihwjwuw-
nnipjwl vbg:
2 . R2 R2
GuunwGwlp TSIH o< 7 o< 7 -tgal i,

R’ :
ypdwwntiny 3 -ny smo<a<tgo:

1
—<
sino.  cosa

Pwdwbtng sino-h Ypw' YmbhGuwp 1<

sin o
Juy 1>

>Cosa:
o
. sina _ ..
UGgGtGp vwhiwbh, tpp aa—>0 1> lim > limcosa.

a0 Qo a—0

Lwbh np lirrgcosoc =1, wwyuw 5-pn ptinptith hwdwdw)G, Yunpnn
o—>

sin o

tGp qptj, np lim

I, wjlG, pG; wwhwlGoymyd tp
a0 o

wwugnighy:

n

onptiGi wdnwd t, dquunid L vh uwhdwGh, npp vwhdwwhwyyuo k
2 L 3 pytinh wpwGpniy:

1 n
2<(1+—) <3:
n

, 1)
Uyn uwhdwp Yyngynid & e ppy: Gyuyhuny' lim (1 + —j =e:
n—

1 n
oENrET 7.(1—1——) wnpunwhwjnmpnilp, Gtpp  n-p wGybp-

n
Ujn pyh dnnwynp wpdtipG & e~ 2,71828...
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Gpt |nquphpdh hpdpp e

phya L, www wjnuhuh

nquphpuiGtipn Ynyymy GG pGwlwl nquphpultp L GQubwlynd

b6 htwnlyw) duny. Inx =log, x:

UwhiwGabph hupgdwd ophGulGep.

1 1imSIOX gy 2SIOX gy SIX 5 s,
x—0 X x—0 SX x—0 SX
2sin2§ 2sin2§
. l-cosx .. ) 1
2. lim > =lim > =lim =—:
x—0 X x—0 X X 2
4.2
4
X X x+l x_ii(l
11m[ ] :11m(1+ —hm 1+— =
3 x>0\ x +1] X—>0 X + X—>0 X+1
—limL
—e o X+ :e—l _l
e

Ulnpnpmpini GGG L gpulg pugdwl mmwppuwlju G
brwlwlGhnn

Gnympjnil niGEG jnp mhyh wlnpnympjniGGtp
1. Bpb f(x) L o(x) dnGyghwltipp hwdwdwluy dquny LG

f(x)

qnnjp (f(x)—0, a(x)—0), wyuw npwlg ﬂ hwpupt-
(0494

0
nnipjnilp mwihu £ 6 wmhyh winpn)nmpjniQ:

2. Bpb f(x) L ax) dnilGyghwGtpp shwdwdwGuwy dquunid LG
wluwhdwlnipjul (f(x)—>w, o(x)—>©), wwyw npuig

f(x)
o(x)

pyn(:
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3. 6pt f(x)>0, hull o(x)>oo, wyw npubg f(x)a(x)
wpuuwnpyuip wwhu bt 0 -0 mhwyh winpnympjmd:

4. Bph f(x)>w, a(x)—>o, wmyw npubg f(x) - a(x) mwppk-
pnipjnilp mwhu L co-co mhuh wlnpnynipyniG:

5. 6pb f(x)n L ox)-n Vhwdwdwlwy dqund GG qpnjh,
www (f(x)* wpnwhwjnmpiniGp wwihu £ 0° wmhuh
wlnpnynipjmG:

6. bph f(x)—>0, a(x)—0, wuyuw (f(x))“-p nwihu t ©® mhwh
wlnpnymipjwG:

7. Gph f(x)—>1, ax)—> o, wyw (f(x)*” wpnwhwjumni-
pynilp wmwihu £ 1% mhwyh wnpnpnipjmG:

Ulinpnpmpim GGLph pwgdwl ophlulbn

. X" =5x+6
/fim—
x—2 X -2
UGdhowlyw vwhdwlwjhG wlignid Juwumwnpbyny

—

0
unwgynmu k 6 whwh winpnynipjnil: Whnpnynipjnilp pwghnt

hwdwp pwjwywl E hwdwphgp ybtpnioty wpumwnphsGiph W
ypdwuwnb.

2
gimm — gimw — fim(x _ 3) =—1
x—2 X =2 x—2 X =2 x—2
3 2
5 pim X F3x -1

x> 2x> 4 x+7
o0
Uw nwjhu & — whyh winpn)mipniG: ‘Liwb nhyptpnid
o0
wlnpn)nmipjniip pwgbim hwdwp pwjwywl E  Ynunpwyh

hwdwphyp b hwjnwpupp wlinud wn wlnud pwdwlb] x-h
wutiGwpwndn gnighyny wlnuih Yypw:
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| W

3 2 1+
X +3x7 -1 .

Gunuwwbp /im—————=/im
x>0 2X° 4+ X +7 =,

‘»—AN
><N‘_
N | —

+

(3]
+
xw‘\,

>

1
GQuuwpbny vwhiwluwjhl wigmy junwlulp E :

{wonpn wmhuyh wlnpn)mpnilbph puwgnuip Juwmwpbim
hwiwp gpulp GnyGwlywl dlwhnfumpnGGtph dhongny G-
[Jwwwbu ppymyd GG Guwiunpg mhytiphg npuhgt deyhG L Qwpni-
Gwynd wpntl hwynGh vtpnnny:

UlnpnpmpyniGitiph pwgnudl niGh hhiGwlywlnd qnpoGw-
Jwl plnyp L wyl duwyymd L ghpwqulguubu qnpolGuyui
wwpwwniGpGtph dwdiwlwy:

JwpdmpmbGEp
. sinax . sinx-—sina
1. lim — : 2. lim ——;
x—0 sin bx x—>a X-—a

X 2_ .
3. 1im(1+ij; 4 lim 23X F2. 5.1im*/; 2

X—>00 kx x>l x2 -1 x4 X —4

uouv3sul 64 hdEr6LShUL

UowlGgjuh EmpyniGp wupgtint hwiwp ghunwpytlp dh
fuGinhp:
Unwqmpyul  fubghp.- Glpunptilp, M Gmipwul Yhwup
Juwunwpmd L nnnughd wihwjwuwpwswith pwnpdnid: “Fhgnmp
wjl pwpdynd £ My nhpphg L dwiwlwyh t wuwhhG wigly L
MoM=S Swlwuwph: Nunpq, & np Ytnh wigwo dwlwuwphp
YihGh dwdiwlwyph $mbGlyghw L tpt wmpJwo L S-h L th
dniGyghnluy Yupunwip® S=f(t),wyw wunmd GG, np wnjwd E
ownpdiwi optilpp:
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Q.0.22

Glpunptilp, t+At dwdwlwywidhongmd Ytwnp wlgh] L
OM;=S+AS Gwlwuwuwnph: At Jdwiwlwluwihonghli Yhwiw-
wuwunwufuwlh AS dwlwuwphn:

AS
E hwpwptipnipynilp wwihu £ At dwiwGuywih9ngnid

dwpibGh pwpddwl dhohlG wpwqmpmilp, npp GQwlwynd GG
th? —nll:
At
Gpt dwpdhlp wpdymd £ wlhwjwuwpwswt, wuw

dhohl wpwqgnipnilp thnthnfuynud £ juwhujwo At-hg: ltunp i—f

hwpwptipnipnibp (phy sh pGnpnynid pwpdnuip: Qwnmh dngGhlp
t Undtlumd pwpdiwl wyGpwppwyhl wpugmpjul qunuw-
thwpp:

UGhwjwuwpwswih Jupdiwl wpwagnipynil vgjw) wywhhG
Juwy wylpwppwjhl wpwqnipnil Ynsynid £ dhohG wpugmipjul
uwhdwlp, tpp At—0: Gpt wlylpwppwjhl wpwgnpnilp
Gpwlwykbp v-ny, wyw pun vwhdwidwb

V= Ve = M

Gph pwnpdiwé optipp wpywd t S =f(t) pwwdlng, wuw
ft+At)—f(t)

At '

Npwtiu ophlGwly ghnwnpytlp wquwum pGlyGnn Jwpdibh pwp-
dnudp: {wywmbh b, np wyn pwpdnudp wmbnp £ nGEGmd g hwunw-

AS=f(t+At) —f(t) L v = lin%
At
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1
nnl wpwqugdwdp, htmlywy optGpny” S :Egtz, npubn S

wlgwo GwlwuywnhG t, t -6 dwdwGwyn:
Uju niypnd dhohlG wpwgnipjniln YihGh

1 1
AS Eg(t+At)2 —Egtz

Vi TACT At
UlgGtlp uwhudwf(h, tipp At—0: GQuunwlGwlp

I
=L oota At
2g(t+ )

v = lim AS = lim lg(Zt + At) =gt: UyuhlpG' v=gt: Ujuyhuny,

At20 At At—02
wquu wiyiwl dwiwlwl dwpdGh wlylGpwppwjhl wpwgnip-
JniGp npn2ynud k v=gt puwlGwalny:

Uowligyuyh vwhdwlnidn

Lwlh np GdwG duny Yupbh b oty pwqidwphy fulnhp-
(tp, niunh hwpgp nhnwnpytlp pGnhwlnip gpjuopny:

Glpwnntilp, mGhGp dh y=f(x) $niGyghw, npp npnpgwo nt
wplnhwwn t [a;b] dhowlwpnid:

UpgnitiGunpl mwlp Ax wd L hwpgtlp pniGyghwjh wdwod
wpdtipn’ y+Ay=f(x+Ax): bnilljghwjh wdwd wpdtiphg hwtip
uliqpGuljul wnpdtipp L npnpblp Gpw Ay wép

{y+Ay:f(x + AX)
y =flx)
Ay:f(x + Ax)—f(x) '
Guquitlp $mbGyghwjh wdh L wpgmuitiGnh wdh hwpwpbpni-
pjnin.

Ay _ f(x+Ax)—f(x)_
AX Ax '
UjG gnyg £ wmwihu y $mlyghwjh thnthnfuiwG dhohG
wpwqgmpjniip X wpgmitGmp thnthnfudwl hwdbdwnmpjudp,
tipp YtipghGu thnthntuyty & X wpdtiphg dhaslk X + AX wpdtpp:
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Jdhpp unwgwo hwjwuwnnipjuwl dtp wlglhlp vwhdwGh,

tpp Ax > 0: lim 4y = lim f(x i AX)_ f(x) :
Ax—0 AX  Ax—0 AX
Uwhdwlnd.- dnilGhghwjh wdh L wpgnuitlnh wdh hwpw-
ptnpmpjuwl vwhdwlp, tpp YyapohGu dquunid t qpngh, Yngynmd k
wyn bnbGyghwih wowlgyuw L Gwlwlyymd b htwnljwy dlny
y'=t"(x) jud & m Quud yy':
dx dx

Ujuyghuny, pun uwhdiwidw,

Ay _ lim f(X+AX)—f(X)_d_y_

Ax—0 AX  Ax—>0 AX dx )

dhpwnunlwip ghnwpywo fulnphl: Uyuwgnmgyty &, np
ninnughd  wlihwjwuwpwswth  wpddwl  wylGpwppwjhG

. AS
wnpwaqnipjmlp’ v = lim —: Uljwwh mGhGuny wowlgjwih
At—0 At
dS

uwhdwlmip Juwpnn GGp qpb, npt v =d—=f '(t), wjuhGpG
t

wlylpwppwjhG wpwqmpnip hwjwuwp L dwlGwuyuwphp
wowlgjwihl pun dwiwlwyh: Uw E htiGg wowlgjwuih dtfuwbh-
Jqulwb hdwuwmp: buy plnphwipwwbu PnbGlyghwih wowlgjwip
plnpnynud £ wyn dnllghwjh thnthnfudwl wpwagnipynilp’ Ywju-
Jwod wpgmitinh thnthnfunipjnilhg:

y:f(x) dnlyghwh wowlgyjun Jupnmd GG htunlguyg

, d
Ytipy. «hgptly puphfuy Jud «nb hgpty puwn nt hpuh» y = d_z :

Imlyghwih wowblgyun qulbm gnponnmipinilp Ynsynid
E wowlgiwl Yud nhpbptilgiwl gnponnnipjniG:

UG $mbGyghwl, npG nbGh wowlgjw) npuk X, Yhwnd,
Unsynid £ wowlghih Jwd nphbtpklGghih wyn Yhunmd: Gph
Inmllghwl nhptintlgtih L dhowlwjph pnmnp Yhmbpmd, wuyw
wj 0 Yngynud £ nhptiptibGgtith dhowlwjpnid:

65



Dnilhghwyh wowlgyugh hwpydwl plinhwlnp Juwlnln

Ujn JulnGp wGdhowywlnptl pund E wowlgjuih
uwhdwlnidhg:

UG yuntph t dlwybpyt) hbnlgw Yhpy.

1-pG pwj. X wlyuwju thnpnfuwuwGhG wnwhu GG Ax
Juiwjwjuwli wd L hwyynd y $mGyghwih wdwd wpdtipp
y + Ay = f(x + Ax):

2-pn pwyl. dnilGyghwjh wdwd wpdbphg hwlmd tlp Gpw
uygqpGulywl wpdtpp L hwyymd  $niGyghwih Ay wdp
Ay = f(x + Ax) - f(x):

3-pn pwyjl. Juquind GGp dnmGyghwih wdh L wpgnmitlnp

w6h hwpwpbpnipyniGp’ Ay = f(X + AX) - f(X) :
AX AX

4-pn pwyjl. uvnwgywd hwjwuwpmpjul db9 wiglnmd tip
uwhdwGh, tpp AX — 0
. A . flx+Ax)-f
lim =Y = lim (X X) (X):
x>0 AX x>0 AX
Gpt wju vwhdwlp gnympymbG mGh, htGg nu t; YhGh
$myghwgh wowlgrun' y' =f'(x):
Ophlwly.- {wpyty y= x> $niGyghwh wowlgyjup: Oquytlp
nnhwnp JuGnGhg.
1. y+Ay=(x+Ax)2 =x’ +2X‘AX+(AX)2
2. Ay=x’ +2X-AX+(AX)2 -x’ =2X-AX+(AX)2
Ay _2x-Ax+ (Ax)2
Ax Ax

3. =2X + AX

4. y'= lim &Y — lim (2x +Ax)=2x, y'=2x:

Ax—0 AX  Ax—0
Gpt wwhwloyh hw)yty mpjwo $nlGlyghwih wowblgjun
npjuwo Jhnmd wublp, y= Xzil)mﬁllghwjh wowlgjup x =3
Ytunnud, wyw wowbgjuwih ko x-h thnfuwptl mbnunpmu GGp 3,
Y/ = (ZX)/XZZG =6:
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Uowlgyugh bphnwswhwliul dEhGwpwlnipiniin:
Unph pnpuwninngh hwjwuwpnidn

“hgnip, mpywd kL dh L Ynp, nph hwjwuwpndG B y=f(x) L
Gpw Ypw dh My(Xe,¥0) Ytn: xo-hG mwlp Ax wd L xo+Ax Ytwnny
nwlblp oy wnwlgphlG gmquwhtn mnhn dhGsk qpudbhih hbin
hwuniwG M Ytup (qo.23): My ytwmng wmwGhGp Yynpph MM
hwwnnp bW MT 2nputhnnp: GGpwnptip Ax—0:

Uy nypnud M ytwp, pwpdytny Ynph Ypuynyg, Ydquh Mo
YtwnhG: <tmlwpwnp, MoM  hwunnnp, wyunybny M, Yaumh pnipen,
Yéquh gpuigty MeT  2nwithnnp nhppp L @ wiynilp Yéqup a-
hG: UyuhGpl® p—o L tge—>tga:

A
Upnuu yansh, AM(CM-bg pan bp apb ~> = tge L
X

wju hwjwuwpnpjul dky wlglGhny vwhdiwlh, tpp Ax—0,

. Ay ..
Gwlp Iim —=1 = d "=tga:
JuunwGwip Air_lgo A A)1(r_E10 tgp =tgo Judi y =tgo
Puwyjg tga -G pnpwithnnp wGlyjnGujphG gnpowyhgl t, npp
nGnniGywo t GQuGwyty k -ny: Niptda* y' =k:

A T
y
M
M, R
<
Ax C
y #(x)
/4
O X, X, Ax X

Q0.23
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UyuplpG  $nmllyghwyh  wowlgyup wdjuy  Yhwnd
hwjwuwn E YnphG wyn Jannd mwpwo npnthnnh wGyyniGuwjhG
gnpowyghl: “Fpwlnd L hblGg wowlgjwih tpypwswhwub
hiwuwmn:

Ujdd Yuqubklp Ynph wmpgwd My(xe,ye) Ytwnny wlglnn
onpwihnnh hwjwuwnpnudip: LwjnGh b, np mpwo Yhnmny wlglnng
ninnp hwywuwnpnidG niGh hmbyw mbupp

y=¥o =k(x=xo),
npntin® k-G  wGyniGujhG qnpowyhgli L:  Udwlgjuih
tpYpwswhwlwl  plwunhg k=y| = f'(x,): <bnlwpwp

2npwithnnh hwjwuwpnidp hGh' y -y, = £/(x, {x —x, ):

Dbnillyghwh nhpbnblighyhnipiniln

Utq wpptlG hwywmGh L, np pmGyghwl Yngymd L
nhotintiigbih mpjwo Yhmmy, tpb wyn Yhwnnd niGh wowlgjwy:
<piw wwwgngtlp Uh ptnptd, npp uuw bt hwunwunmd
I lyghwjh nhptiptbGgtihnpjwb L whpinhwunmpjwb dhol:
hnpld.- Gpt y=f(x) dnilGlyghwG nhptipnklghih & x=x, Yhwnmnud,
wyw wyn Yhnmd w6 wlplnhwwn t:

Uuwugnyg.- Cun wwjiwbh, dnilGlhghwl nhdtiptlghih b xo
Ytwmnid: Gw GpulGuwynd £, np gnynipjniG niGh f'(xo): firr}]%:
X —> X

Cum vwhdwGGtph mtunipjwl pnlinuitlnw] plnptidh Jupnng
Ll qpby
A
A_y = f'(x0)+ o, npnbin o — 0 Juy, Ay = f'(XO)AX + QAX :
X

Uunwgytg th fuplnp pulwdél, npp pmblghwjh ypgwynp
wdn wpnwhwjnmd L Gpuw wowlgjwih thengny:

Lwlh np f’(xo) -G npnpwyh ppy £ b o— 0, wwyw unwg-
Jwo wju pwlwdlhg htimlmd k, np Gpp Ax— 0, Gwl Ay— 0,
wjuhlpG dnGlyghwl whplnhwwn E:

dwlwnuwnép, uwluwyG, Shpw k. $nbGyghwl Yuwpnn E
nyjw] Ytnnd [hGh wlplnhwwm, pwyg wowlgyuy smGhGuy:
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Opwbu  ophGwl nhwwpllp y=1-Vx* pmblghwb, nph
qnubhyp wwwmytinwo k qo. 24-nud:
A

y

x

-1 O 1
Q0.24

Uju dnilyghwl wlplnhwwm t [-1;1] hwnjwoh pninp Yb-

2
R’x

wbpmd, pwyg Gpu wowlgyup y' =- x=0 Ybtwnnwd
qnympjnil yniGh:
uouovsuus <huuvudaluv quunovuverr?

1. SwmnunnmGh wowdlguyp.
Qhgnip, y=C, npntin C-G hwumwwumnmG t: Uyn nhypmd
guijugwo qpnjhg  wwppbp  Ax-h hwdwp  Ay=0 LU

. A
y' = fln”(l) A_y = 0: Wyuwhuny, hwunmwwnniGh wowlgjuip hwyjw-
x—>0 AX
uwp Equnyh: C'=0:
2. y=x

Uju phiypnid Guwb hpup hwjwuwp YihGhl Gpulg wabkpp
A
Ay=Ax L A_y =1, nph vwhdwGp GnyGuybu YipGh 1, wyuplpl y'=1:
X

Uju nhypnd wund GG, np jnipuwpwlynip thnthnfuwwGh
wowlgjwyl pun GniyG hnthnfuwwGh hwjwuwn t 1-h:
3. Qmdwph wowligun
“thgnip, niGtlp y=uxv, npmtn u= u(x)—n L
V= V(X)—n nhytiptilghih $nlGyghwbtin GG: Uju ghiypnd
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y+Ay=u+Auztv+Av, huy Ay = Au =t Av L
Ay _Au, Av.
AX Ax  Ax
. A . [A A
y' = rim =Y = pim| 22+ 2V | Z
Ax—0 Ax A&x-00 AX AX
UjuhGpG (u + V) =u'xv':
Gnudwph wowlgyup hwjwuwp b wnwGdhG qmiw-
ntthGph wowbgywGtph gnuiwphG:
4. Upnwgpugh wowlgjuyn
“thgnip, mpjwd Ly =u-v, npnbn v=u(x)-p L v=v(x)-p
nhdtintiighth $niGyghwbtin th: Oquytny wowlgyjwih npnyuwb
nGnhwlnp YuwlnGhg' Jupnn GGp qpby.
y+Ay= (u + Au)(v + AV) =uv+ (Au)v + (AV)u + (Au)(AV)
Ay = (Au)- v+ (AV)- u+ (Au)(AV)
Ay Au Av Au
—=—V+

—u+——-Av
Ax  AXx Ax Ax
. A . A . A . A
y' = rim =Y = v rim 22 4w fim =Y+ fim 22 Av
Ax—0 AX Ax—>0 AX Ax—>0 AX  Ax—>0 Ax

Luilh np Ax— 0, Av-G GnijGytu dquumd E qpngh, ntunh
wju wpnwhwjnnpjwb yupohl gnuiwnpbihG ydquh qpngh L dklp

!

yniGhGubp y'=u'v+v'u ud (u . V) =u'v+v'u:
Stwnluulp.- LdwunwnniGp Jupbih © gupu hwGl] wowlgjuh

GpwlGhg: UjuhGpG (c‘u) =cu’': bpnp, Gwfunpn pwGwalh
hudwéw)G (c-u) =c'u+cu'=0-u+cu’ =cu':
5. Ununnpuwlh wowlgpugn
Uowlgjwih hwpyiwb snpu pwytinh oqlnpjwip Jupbih L

u
unwlw], np tpt y=—, npwmbn uv=u(x) L v=v(x), wyuw
A%
v'u
y =———, wjuhlipl Ynunpuyh wowblgjup hwjwuwp b dh
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ynunnpwyh, nph hwjnwpwpnd qpymd £ mpjwo nunnpwyh
hwjmnmwpwnph pwnwlniuhl, hull hwdwppynd” hwdwnphsh wowGg-
Jwy wlquwd hwymwpup hwlwd hwymwpwph wowlgyuw wiqud
hwdwnh;:

6. Pwpn pm Glhghuwh wowlgun

Yhgmp, wpuwd by =F(u) nhptpblgtih prilyghwd, np-
wmbtin u-G6 hp htpphG X thnthnfuwwbh nhptptbgtih dnGyghw
£ u=¢(x): Un nwpnid y-p x-h pwpn nuGlghw b u
pmyghwyh pmbyghwG * y = Flo(x)], puy u-G yngyms
thowyjw) wpgniitln: Mwhwoynud & npnpty y!

A
A_y hwpwptinpmpjnilp jupnn Gap Gipluwjwglt] htnlywg
X

. Ay Ay Au

wtiupny — =—-— L wlgGtny vwhiwbh, tpp Ax -0 m
Ax Au Ax
GYuwwnh mGaGwny, np Ax = 0, Au -G GnjGybtu dqumd t qpnjh,
ymGtGwGp
Mo Ax | Aus0 Ay AerE. Yx =¥u " Ux Jud, tph y=F(u),
wyuw y' = F'(u)-u'
7. Swlhwnuipd pmbhghugh wowlgjun

Gpb ibq upquo k y =1 (X) $niGyghw, wwyw nuotinyg wju
hwjwuwnpmpjmln x-h Guundwdp, wjuhlpl y-p ghunwpybnyg
npwbtu wllwju thnthnfuwlw6, huy X-p° Jwjuywy, YmGb-
(wlp X =0 (y):

Uju pmGyghwl Ynsggnd £ mpjwo dniGyghwyh hwyjunund
dnGyghw: StuGhlp, pt hGywbtu Junpbih b hwpyt] hwwnupé
dnilyghwyh  wowlgjuip’  mnhn  pmGyghuyh  wowligyuih
dhongny: bnillyghwltph wlplnphwnmpjwl Gnphhy, btpp
Ax — 0, Gul Ay —> 0

Aax_ 1,
Ay Ay
Ax
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Uju hwjwuwnnpjul dte wlglting vwhiwbGh L Ghuwwnh
mGtGwny ytpp Gpquon’ ynGhGwip

. X 1 , 1
lim —=—— QJud Xy =—r!
Ay—0 Ay lim Ay Vi
Ax—0 AX
Ay
y #(x)
& M

i R
/ O x

9.0.25

Ujuhlpl hwijwnwpd pmGyghwih wowlgyuwp hwjwuwn L
ninhn $niGyghwyh wowblgyuh hwjununpd dtompjuln:

Uju wpynilpp Yupbih £ vnwlw) Guwb GpypuwswithnptG:
bpnp’ wowlgjwih tpypwswhwlwl hdwuwnmpg y, =tgo, huy

xy =tgB: Pwyg pwlh np Bzg—a, wwuw tgP = tg(g—aj =

1 1
= ctgo. = ——: Uyuphlpl’ x|, =—-
tgal

X

pdGwlwl mwppnwliul pnilGhghwlGbnh
wowlgjwylbinn

bnyghwyh wowlgjwh uvwhdwlmihg U yYtpnhpyjug

JwlnGGtph oqlmpjuwip YJwpbih L hwpyty pnnp hhdGwlwG
nwppuiwl pniGyghwGtph wowbgjuwGtpn:
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1. Uumpawluwhl pnilhghwh wowlgugn:
Gph y= x", npubn n-p Judwjwlw6 hwunwnnG phy t,
wyw'y’ =nx n-l., buy y= u” pupn wunh§wGwghG $niblyghuwgh
ntypnd, hwiwdwjli pwpn dnilGlhghwjh wowlgiwml YwlnGh

y/ — nun—l u'

2. Lnquphpdwljwl pnilGlhghwh wowdlgun
Gpt wpjwo L y=Inx $pmGyghwl, wuyw y'=l, huly
X

!

y=Inu pwpn nquphpiwywt pmbayghwjh nhypmi y'=—-u':

S

3. Bmgswihl pnilGhghwh wowlgun

Gpti y=a", wyw y'=a” Ina, hul ipk y=a", wuju
y'=a"lna-u’:
4. UwuGujnp nhiypmd, tipt nGhGulp y =e™, wuyu
y'=e*lne=¢”,pwGhnp Ine=1:

!

hulj tpti y=¢", wyu y'=e" -u

Gonwllymbwswiulpul pnilGhghwlbbnh
wowlgjuwylbnn

5. %hgnip, mpjwd by =sinx pmGyghwb: Npwybiu oph-

Gy, snpu puwjiiph oqlnipjudp hwpyblp wjyu pmGyghwjh
wowbgjwin.

y + Ay =sin(x + Ax)

Ay = sin(x + Ax)— sinx = 2cos(x + %) . sin% ,
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2 cos(x + AX) sin Ax sin Ax
Y

A 2 2 ( AX) 2
— = =2cos| X + — ,
AX Ax 2 AX
Ax
A L« Sin 5
y'= lim 2 im cos| x + =X |. =COSX :
Ax—0 AX  Ax—0 2 Ax
2

!

Ujuwyhuny (Sin X) = Cc0s X, hul] pwnn niGyghwjh wowbg-

twb YubnGh huswdaw)G (sin u)’ =cosu-u’

6. LUwl duny Jupbh £ hwpytp y=cosx dnilyghwjh
wowlgjuip: Unwgymd k, np° y'=—sinx, huy tpk y=cosu,
wyuw y'=-sinu-u’

7.y =tgx

Uw Juwpbh b GipyuyugGh] npybu sinX-h L cosXx -h

hwpwptipnipniG L oquyty Ynunpuyh wowlgiwl YJwlnbhg:
: 2
1

. sin ' cos® x +sin’ x
bpnp'  tgx = Lo(tgx) = . =——, huy
COs X cos” X cos” X
’ 1 ,
(tgu) =— u:
cos” u
COsX
8. 'Luwl duny, ipti mpwo k. y = ctgx = — , wyu’
sin X
!’ ! 1 !
y'=————,hulj ipt y = ctgu, wyw y'=-————-u’;
sin” x sin” u
Swihwnunpd brwGlm Gusunpulul pniGhghwGeph

wowligjuwylbnn

9. Gph y=arcsinX,wyw X=siny L hwjunupd
InlGyghwjh wowlgiwl JwlnGh hwiwdw)l Yulnn GGp qpb
1 1 1 1
y.=—= : Liwl Ly, tiph

!

X, cosy l1-sin’y 1-x°
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y =arcsinu, wyu y'=——=-u’:
2
I-u

10. y =arccosx, X=cosy,
1 1 1 1

yy=—=———=-— =- : Liwl alng,
Xy Sm 'y J1—cos’y 1-x°
1
tpl y = arccosu, wuyu y’z——z-u':
l-u

11.y = arctgx,= X = tgy,
1

"= =cos’y= ! _ 1
I X, Y 1+tg’y 1+x°
1

1+u?

Liwl@  4lny, btph

-u':

y=arctgu, wyu y' =

12. y = arcctgx, = X = ctgy

SIS S

I X, Y l+ctg’y  1+x°
1 :

2'11.

Luwd éuny, tph y = arcctgu, wyu y' =—
I+u

Uowlguwl wlnblhph L pwGwdlLbph wignuwl

Ujuyhuny, dklp vnwgulp wowlgdwb httmlyw) ulnGGupl n
pwGwdlbtpp

1
2
3.
4
5
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10.

1.

12.

13.

14.
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15.

16.

17.

18.

19.

(arcsinx)

(arcsinu)

(arccosx)

(arccosu)

(arctgx) =

(arctgu) =
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(arcctgx) = ——

2
20, 1+x
(arcctgu)' __ >-u
I+u
OphGwlGhn.
. , Y 1
=Insinx, y' =— -(smx) =——:COSX =Ctgx :
sin X sin X
2. y:\/3 x2 =x2/3
, 2 -1 2 2

=—X 3 = = :
y 3 3X1/3 3%/;

3. y= arctg3x2 ,
P 1 .(3)(2)’: 6x

y 1+9x* 1+9x*
3

4. y=5%,

=57 ms(x*) = 5*3 In5-3x> =3x>-5" In5:
5. y=x'x=x
ylzé 1/2=E&

2 2
6. y= ( )

y =3 =2 b 2] =3 -2 20— -

7. =sin—,
y 2
, X(x x1 1 X
Yy =C0S—| — | =COS——=—CO0S—:
22 22 2 2

8. y= cos? 3x.,
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y' = 2cos3x(cos 3x)' = 2cos3x(-sin 3x)(3x)’ =

=—6c0s3xsin3x =-3sin 6X :
JwpdmpimGGbn
Lwytp mpJwo pnilGlyghwGhph wowbgjwGtpp

x+1

l.y= 2. y=tg2x
x—1
3. y:cosx2 4. y=Incosx
5.y=In*x 6. y=eSin2x
X +
7. y=e “sinx 8. y=25x—3
X7 =3x+2
9. y:3arctgx 10, y= arcsin x
1-x2

Dnilyghwh nhpbpblghuwh vwhdwlnidn

bnyghwjh wowlgjuh vwhiwlnuihg hwjwnmbh b, np tph
y=f(x) pmblyghwi nhptpkbgtyh t [a,b] hwngwond, wuyw
(pw wowlgyjwn wyn hwwndwoh nput X Yhmmd npnpymd L

C o AY
htnlyw] hwjwuwpnipjuwdp' lim —=1 (x):
Ax—0 AX

Ujuntinhg uvwhiw6Gtnh wmbumpjul  pnlnudtGuug
Ay
ptinptidh  hwdwdw)l A =f (x) +a, npmtnp a—0,
X
tpp Ax — 0: Puqiwyunyblp Ax -nf Ay =f '(X)Ax + aAx
Lwlh np panhwlnip phypmd '(x) # 0, wyw $mbGyghwjh
Ay wap Gepyuywgymd b tpym  gmuiwpbihGiph  gnidwph
wbupny, npnGghg wnwohlp qowjhG t AX -h Guwdwdp, huy

tpypnpnp wytith pupép upgh wiytpg thnpp dtonipym t:
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f '(X)AX qniiwpbihG Ynsymd £ $niGlyghwjh wéh gquwynp
dwu:

Uwhdwlnd.-dniGyghwjh wéh quwynp dwup Yngymd L owyn
$niGyghwjh nhptptiGghwy b Gpuwlwyymy £ htwmlywy éuny’  dy
yud df(x):

tulwpwp, pun  vwhdiwGiwG, y=f (X) $nGlyghwjh
nhpliptiGghwp hugwuwp b dy = £'(x)Ax :

<umnipjudp wywgnigynd b, np wiwiu thnthnfuwlwGh
wdp hwjwuwn b Gpuw nhdbiptlGghwihG, wjuhlpG Ax = dx :

Lwpyh wnlGhny wju hwjwuwpmpniGp’  $nlGlyghwjh
nhtintiighwh  npnpdwl  hwdiwp  uvnwlmd  GGp  hbnlguwg
hwjwuwpmpynibp. dy =f '(x)dx;

Uyuwhuny™ pmGyghwjh nhdtipkGghwip hwjwuwp bt Gpw
wowlgjuih L wpgmitlGnh ghbtiptiGghwh wpmunpyuhG: TWyu
JuwGnGG £ htiGg $mGyghwjh ghptintiighwh hwpydwl JulnGG E,
nphg htimbnid £, np pniGyghwh nhptiptiGghwih npnydwd fubnhpp
hwjwuwpwqnp L Gpw wowlgjwih npnpuwl fulnphG: dw L
wwwdwnp, np wowlgjwGtnhG Yytpwpbpnn Jwwm ptinpbdlbp L
pwlwdlbp uwhywind GG pptilg mdp Gul nhbtiptiGghwGtpp
hwdwn:

d(u+ v)=du+dv
Opptuwl).

LowjpG:
d(u-v)=udv + vdu it

Puwndn Junpgh wowdlgjuwGhn L nhpbpblighwyGhn

GlpunptiGp, y=f(x) mllghw nhpbnblghh t [a:b]
hwunwonud: Lpw '(X) wowlgjwin, pnhwlpwybu, Gnyylybu
X -h $nilyghuw t:

Qhptptilghny wjyu Gnp pnmbGlyghwlG fumwlwlp wpjuwo

$pmGyghwjh tpypnpn jupgh wowdgywip:
Unwohl Jupgh wowbgjwih wowlgjun Yngynid £ mpjud

$niGyghwyh  tpypnpny Yuwhgh wowlgjuy L GuGwlymd
htwnlywy dlny” y" G £7(x)
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y'=(y) =f"(x):
Ujuytiu, oppGwlyy, tpt y = x3, wyw y' = 3x°2, y"=6x:

bniGyghwyh  tpypnpn Jupgh  wowlgjwih  wowbgjwin
Unsymd E Gpw tppnpn upgh wowlgyuwy b GuGuyymd £ y”

yuy f '"(x) uhiynny:

Clnhwlpwwbu  n-npn upgh wowlgyuwp Gwlwyymy
v g f(n)(x) alnyg L hwywuwp t y" = (y(“‘l)) :
OphlGwly.-Spywd by =sinX $niGlghwb: <wpyty Gpw th pwbh

Jupgh wowGgjwGhin.
y =sinx
y' =cosx
y" =—sinx
y" =—cosx
vy =ginx
yV) = cosx
y® = —sinx

bmbyghwyh  pupép  Jupgh  nhdtiptilghwltipp
vwhdwlynd GG G(dwl Gnulwiny L GuGwlyynd hbnlgyuyg
altinny.

d’y =d(dy)= [f'(x)dx]! dx = £"(x )dx>
d’y= d(dzy)z f’”(x)dx3
d*y =d(d’y)=f" (x)dx*
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uouuvSssuLverb Un LUGH GhPUNMIMOBNFLULE?

L.SNFLUShUSh UAUUL L bdUQUUL Uh2ULUUSLEP R
Phopkd.- Gpt [a,b] hwnjwond nhphptbghih f(x) pnblyghwt
wénd £, wwyw Gpw  wowlgjup wjn hwwnjwoémd ny
puwgwuwlwl dhompymG b, wjuhGpG f'(X) >0: Gpt f(X)
InGyghwl whplnhwwm k [a,b] hwmnywond L L nphbtiptlgtih (a:b)
dhowlwjpnud, pGn npmy '(x) >0, wyw wyn $niGyghwl wanid
L [a,b] hwunywonud:

YA YA

w) 1))
Q.0.26

‘Ldwl ptnptd qnynipjnil niGh Gul [a,b] hwwmywond Gyuw-
gnn pniGlyghwjh hwdwp:

Swlp wju ptinptdGtph tpypwswhwub dahGwpwlnpn-
Gp.

’ Auuytpyywd pinptidp wpnwhwjmnd £ htwmbyw Gpypw-
swihwlwl thwuwnp: Gph £ (X) $nlGlyghwl wénd k, wyw Gpw
Jjnipupwlyymp Yhnmd nmwpjwo npnthnnp wyn hwnywonid
oX wnwlgph htwn Yuqinmd £ ¢ unmp w6yl Jud wnwGdha
ytwmtipnmd hnphgnGuwyuwa t: LwGh np unip wlljwl nmwblqbbup ny
pugwuwluwl b, wjuhGpl tge >0, f'(x): tge >0 (q0.26,w),
wwuw ptnptith hdwuwp wwpg t: Gpt (x) dnlyghwb Gugnid
L, wyuw npwihnnh phipdwl wGyynilGp pop L Juwd wnwGahG
Ytmbtpnid 2npwihnnp hnphgnGwywd t, nph nmwGqbiup ny gpujuG
dtompyniG L
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f'(x) =tgp <0 (q0.26, p):
Ujuyjhuny, wju plnptidp hGwpwynpmpyn . wmwihu
nuuwbin $nGyghwih wddwb L GJuquwl showuwyptph dwuhb
wowlgjwih Gowbh dhongny:

2. bNFLGShUSP UURLRURUTIFUL GY UPGhUIRUT?
tph f(x) pmGyghwl wibkGmptp dnGnunG wénn Yund
UnlinnnG Gwqnn 3k, wyw wpgnuitinh npny wpdtpGtph nhy-
pmu wjG hp pGpwgpp thnfunud k, wénidhg wiglGhny GJuqiw
Juwy, plinhwjuwnwyp, Gjugnuihg wiglbnyg wddwl: ‘Ldwl wnh-
wh pniGlyghwjh qpudhyp Yupnn E, ophlGuyh hwdwp, mbhbuy

httmlyw) mbtiupp

1 y %(x)
|
|

| |

| | ]

| | | |

| | | |

| | | |

| | | |

| | | |

1 1 1 1 >

o X4 X, X3 X4 X

q.0.27
Uwhdwlmy I- f (x) $niGlyghwyh wpdtipp X =x; Yhwmmd  Yng-
it Gwpupimy (max), tpt w6 6bo t hpkG widhgwlwGnphG
hwplw@ pnnp wpdtpGtphg: Uy Yhpy wuws £ (x) InGyghwG
niGh Swpupinud X = X; Ytwnnud, tph f(xl + Ax) < f(xl ), npwtin

AX -p gulugwd pujuwluwluwswih thnpp (puiul jud pw-

guuwlw() dtonipjm t:

Uwhtwlos II- f(x) pmGyghwG mGh shGhimd (min) x = x,

Ytwnud, tipt f(xz + Ax) > f(xz) nputin AX -p guwijugwo pw-

Juwywlwswith thnpp Mpujul jud puguuwul/ dhonipjm k:
83



Ophliwy. pipJuwo qowqpnud X = X; b X =X3 Yhwmbpp dwpup-
dnuih Ytwmbp GG, hul X=X, L X=X4 Utwmbtpp shGhinudh
ytwnbp:

bnGyghwyh dwpupdmih L dhGhindh Ytmtpp dhwuhG
Unsynid GG Epunpbidnih Yhnmbnp:

Ujdd wmbuGtlp, pt wowlgjuwGtnph oqlmpjwip hGsutu
Junbjh t qunlt) $nilGyghwjh Epumpbinudh Yhntipp:
Obopby I- (Epunptidndh gnynipjul wlhpwdbym wywjdwln).-
tpt f(x) nhpptiGgtih $mbyghwl X =x; Yhwmd mGh dwpup-
und Jud dhGhind, wyw Gpuw wowlgjuip wjn Jhnmd Jud
nunind £ qpn’ f'(X) =0, ywy gnympjniG sniGh:

Swip wju ptinptivh tpypwswhwljwl wwywgniygn.

A A

y M, y

Xy
A 4

9.0.28

Q-0wqnphg tplmd £, np X =X; L X=X3 Yhwnbpp hwdiw-
wwunwufuwl $niGyghwbtnh dwpuhinuih Ytwbp G6, hul X =X,
dhGhinwh Ytin £: My L M, tpunptiinudh yhnbpnid YnphG wmwp-
Jqwo pnputhnnltpp qniquhtin GG ox wnwlgphl, htmlwpwn

npwig wGynbGwjhlG qgnpowyhgGipp hwjwuwp GG  qpngp,
wjuhGpG f'(x):0zM3 Ytmp max-h Yt E, pwjg wjlunbin

$InGlghwjh wowlgjwy gnymipjmb sniGh:
8n1jg mwlp, np wywgnigwo hwymwlhyp wihpwdtym t,
puyg ng pujwipup, wjuhlpl wyl pwlhg, np wowlgywip wpjuo
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ytunmd gunlGmy £ qpn jud gnympjmG ynilh, ghinlu sh hbnlod,
3

np wjyn Ytwp Lpunptidnuih Y bt Uyuwbiu, ophGuwy, y =X
PmGyghwb nmGh y' = 3x 2 wowlgjwy, npp nqunimd £ qon X =0
Ytnmd: Puyg x =0 Yhwmp bpplip Epunpbidnush Ywn sk (q0.29):

A 3
y yx

\ 4

30.29

bnljghwjh npnpdwl whpnyph wjyG GipphlG Yhnbpoy,
npnbn wowlgjuwp nunlnud £ qpn juwd gnymipjnil yniGh, Ynggmd
6 yphmhyuyuwl wpdtpltp ud yppumhjujul Yhnbnp:

(pwligh wwpqblp, pt Yphwhywywl Yntphg npnp L
Epunptidnidh - Yhntp, wyugmgblp tpumptidimdh gnynipjuG
pwywpwnpnipjwl hwjmwGhyGhpp:

Unwohli purnjupupmpjul hwjnwihy.- Gpt dnilijghwjh
f'(X) wowlgjuipn X-n X,-h Yypwyny wlgGtjhu thnfumd Lt hp
Gpwln + -hg - -h, wyw X, Ytwmp max-h YtwnG k, huy tphk

f'(x)-n X 0 X, -h ypuwyny whgGhjhu infumd £ pp Gwlp - -hg + -
h, www wjn Yhwmp $niGyghwyh min -h YtwnG t:
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bpnp, tph X <X, f’(x)>0, huy x>x,, f'(x)<0, nuw
Gpwlwlynwi b, np dwjuhg Ynpp UnlGnunG wdmd L, hul wohg
UnlinunnG GJugnid: Uw b Gpulwynd k, np X = X, max -h tw k:
LViwl nuwunnqnipjni@ Jupbih £ uuowpl] Gul min Ghnp
Gyuwuniwdp (q0.30):

/

y

N

v

4-0.30

Gpipnpn  pwjwpupmpjuli hwpomwihp - ‘Yhgnip, X =Xy
Jtinnid f'(X) =0: Pwgh wyn, X =X Ytwmh hGs-np ppowluypnid
f "(X)-g qnynipynil niGh L wlplnhwwn b Uy ghypmy wnjw t
htinlyw ptinpbiin:

Olnpk.- ©Onn f'(X)=0, wyn ghypnd X =X Yhwomd $nily-
ghw(@ mGh Ywpuhimy, btpt f ”(Xl )< 0 U dhGhing, Gph

£"(x,)>0:
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LRUSEUTNIRU LGP SGUNROBU U
GhrUNnNrMF3NFGL2 v GEPUEh LAFOUU L
JquUuLvuY

Iulighp 1.-{pwlnphg v, uyqplwlywul wpugnipjudp pngnn wpyh
R =0A pnpsph htnwynpmpjniGp npnpynid L htnlgw;  pw-
. v sin 20
Gwdln] R =————, npumtin @ hpwGnph ptipdwl walymGa
g

hnphgnGh Guwumdwdp: Opnpt; @ whljwb wyl wpdbpn, nph nhw-
pnid R htinwynpmpjmGp YihGh wdtkGudton (qo.31):
A

y

\ 4

q.0.31
Lmomd.- R dtonpymGp ¢@-h $mGyghwl b: OpnptiGp wyn

2v?cos?2
pmllghwyh max-p, bpp 0< Q< dR _ 2v; cos2¢.

2Vf cos2¢
g

=0, npntinhg

cos2p =0, 20 = ,(p:%:

SR
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Gpypnpp pwjwpwpmpjwl  plnptidh  oqlinipjunip
T
htimwgnuntlp ¢ = Z Ynhmhjuwliwl wndtipn:

d’R __4V02 sin2¢ [dZRJ 4v?
o=

: =-—=<0:
do? g do® ) = g

IS

Ltunlwpwn, (ng—nui R $mGyghwlG mGh dwpupinud

2

VO
R :E: R $mGyghwjh wpdtpGipp dhewlwjph Oowjpw-

ytuntipnid hwjwuwp GG. R/ 0=0 = 0L R/ 2 =0:

(P=E

Ujuyhuny, npnpywd dwpuhinip npnGbh  dtowqgnyG
wndtpl k:
Totghp 2.- Uupshtp ywupdynud £ v = —t° + 48t +1 wi/lpy wpw-
gnipjudp: Gult]  wpdiwl wjl wiklfuwito L wdbkGuthnpp
wnpwanipjmlp, npG h hwjn £ quwihu  wnwohlG 5 Jwjpljwih
nlpwgpniu:
Loomdf.- QuGhlp v’ = -3t* + 48 wowlgjup L t =4 Yphwnp-
Juwwl Ytwnmbpp: Miptdd, [0,5] hwnygwoh Ghpunid uw dhwj)G gty
Yphnhjuyub t=4ytwn: Stultlp wju Yhwp max -h Ytw t, ph
min -h:

V/iea >0, V//14<0

Unwohl Jupgh wowlgjwp thnfumd t Gpwlp +-hg — -h:
Ltunlwpwp t=4ytnmd wpugmpjul $mbGyghwG niGh max
wpdtip® V. =129 Qwpyblp  pmGlyghwih  wpdtpGhpp
dhowlwjph dwjpwytmbpmy. v/0/=1; v/5/=116:

tulwpwp, wpwqmpjul wnwytjugnyG wpdtpp t=4
wwhphG mGhgwd v =129 wpdtph t, huy GJuqugniyG wpdbpp’
t =0 dndtGunmd mGhiguo v =1 wpdbpn:

Utlp nhwwpltighlp plnwdtGp  tpynt  fulnhp, puyg
EpunptivnuiGtph mbumpjniG6 niGh pwqiwphy YhpwenipmniGatn

dbhahyuwyp, mtfuGhywyh, gyniquumbntiunipjwb, wintuwghwmnip-
Jwl L wy pwquwyunGtph fuGnhpGhpnud:
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auvnrne hvScaruL
Vwfulwlpwul pnillhghw: Ulinpnny hlinbgnuy

Uwpbdwwphjuwlwli wlwijhgh wbtuwjwl L Yhpwnwlywb
owwm hwpgbpmd hwpy £ (hGmd moty nhtiptlgdwl fulnphG
hwlwnuwnpéd fuGnhp, wjuhpl $mGyghwih wpjwod F'(X)Zf(x)
wowlgjuny Yuwd, np dhllGnyGG t, wnpjuo dF(x):f '(x)dx
nh$pliptiGghwny, npnpty ulgplwlw Yud, wjuwbu Ynsjwo, F(x)
(uwhuGwyub niGlyghw:
Uwhdwlmd.- U6 y= F(X) PniGyghwG, npp wowlgyup hw-

Juwuwp £ upjud y = f(x) $niGyghwjhd, wyuhlGpl F'(X): f(x),
Yngymu £ GwjuGwluwb pmGhghw:
Uyuwgnigwd b, np wikl dh wipGnhwwnm (X) $mGlyghw

wliywjiwlnptl nGh GwuGwlywl $nbGyghw: Ujuytu, opphlGuy -
4

XT pnGyghwl x*-h GuiuGuywl $mGyghwl t, npnghbnl
!
x* 1
T :Z4X3 =x’, sinx-pn Gwpulwywl $mGyghw L cosx-h
hwdwnp L wyG:

8n1jg mwlp, np jnupuwpwlyymp mpjwo pnlGlghw nibh wa-
phy pwqinmpjuip Gwjulwlwb $nGyghwbbp, npnGp wwnpptip-
ymu GG hpwphg hwunmwwmml gmiwpbihny: bpnp, tph F(X)—n
f(x)-h GwhuGwlyw $mbyghwt b, wuyw wikG gh y="F(x)+C
InlGyghw, npnbin C-G yuiwjwwl hwunwwmni gnuiwpbh t,
(iny)Guytiu (wulwyub pnllghw t.
[F(x)+C] =F'(x)+C'=F'(x)=f(x):

Ghpwnntlp, F(x)-n L (D(x)-u npjuo f(x) P Gyghwjh
tpynt GuwhiGwlwb $niGyghwbtnl t6 (a,b) thowlwjpnid: Snyg
wnwlp, np gpulg wnwppbpnmpjnmlp hwunmwwmniG dGompnil k:
Cun wwjiwih F'(X)= f(X) L q)'(x): f(X):

bwqatip [F(x)- o(x)] = F/(x)- @'(x)=f(x)- f(x)=0;
Ltwnlwpuwnp, F(x - CD(X)z C, wjuhlpG F(x)z CD(X)+ C
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MbnnuiG wywugnigyuwo t:
Uwhtwlmd.- Spjwo  £(x) pmGhghwsh ponp  GwiuGwlwG
InlGyghwbbinh pwqinipynilp Yngynd £ wyn pniGlyghwyh whnpny
hGuntignuwy L GpubGuyynid & htnlyw) duny [f (X)dX :

Wuwhuny, pun uwhdwidwG [f (x)dx = F(x) + C, nputin
F'(x)=f(x) :

f (x)-n Ungynid k GGpwhGunbqpuuihG pniGyghw, (x)dx -
n Ghpwhlumbqpuiwujhl wpumwhwjnmpnl, X-p hGunbgpiwa

thnthnfuwlwl: Lwpulwlywl $niGyghwl npnptnt qnponnnip-
JmGp Yngymu £ hGnbigniwb gnponnnipjniG:

4
OphGuwl;.- IX3dX=XT+C [cosxdx =sinx +C Id—X=1n|x|+C
X

L wyG:
Ulinpny plimbgpuyh hhdGuwiiwl hunngnipiniGGapn

[. UGnpn) hGumbtgpuih wowlgyuwin hwjwuwp b tlpw-
hlwntqpuwhl pnilyghwyhl, wyuhlpl

(f f(x)dx ) = f(x) : hpnp (f f(x)dx) = [F(x)+ c]' = F'(x): f(x):
II. WGnpnp hGunbtgpwih nhbtiptGghwn hwywuwnp k Gapw-
hGunbtgpwiwjhl wpmwhwjmnipjubp’
df f(x)dx = f(x )dx

bpnp' d ] £(x)dx = ( £(x)dx) dx = £(x )dx

IIIL- Lwunmwwnni G puqiwwwunyhsp Juptih £ gnipu hwGtg
hGumtqpuwih GywGhg fo(x)dx = ij(x)dx :

IV.- Gpym L wytih $mGyghwGtph hwlGpuwhw)uwlywb
gnudwph  wlnpn) hGumbgpup  hwjwuwp L wnwGdhG

gnuiwpbihGph hGutgqpuwyGkph gnuiwphG
[If(x) £ o(x)Jdx = £(x)dx + J @(x )dx :

V.- Ulinpny hGwmbtqpwih duh wlthnihnfubihnipjul hwwn-

ynipjmGp. If(x)dx = ,[f(t)dt = I f(u)du =.....
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Ulnpny hambgnuwh nhpuwswynulpud dehGwpwlnipniln

Q-hwntilp, np jf(x)dx = F(X)—i— C: y=F(x)+C $mlyghwi

C-h mwppbtp wpdbtpltphG hwiwwwmwufuwl hwppnipjwl Ypw

ymGtGw mwpptin qpubhybtin, wyjuhlpl’ wyn $niGyghwjhb hwp-
poipjul ypw jhwiwwwumwufuwbh dbl wwpwdtnpwbh Ynptpp

pGunwGhp: LwhlGwlywi $niGyghwih qpuphyhl wajwGkbp ha-
wtigpuwjhG ynp: Gjuwhuny, tph F'(x) = f(x), wyw y = F(X)—h
qpudbhyp hGnbgpuiwjh ynp t:

Ulnpn) hGumtgpuip tpypwywihnptl pnpnp hGmtgpujwjhG
Unptiph pGunwGhp t (q0.32):

yF(x) 1€,
y F(x) 1,
y F(x) 4,

ey __\/ yF
///—/:_// Y5 €.

yll

7

L x

9.0.32
pdGwlnud htinbgpuyGhph wnniuwly
ShdtiptiGghw) hwpymd dklp uvwmwgly tlp hhdiGwlywG

nwppwlwb pnilGlhghwltph wowlgjwiGtpp, G2t tGlp gqnitw-
ph,wpuwnpywih, pwGnpnh, pupn pniGlghwgh wowlgdwd Yuw-
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(nGGtpp: Uyn JulnGGupp dtq hGwpwynpmpinb GG wmybt] npn-
2t pnpnp mwppuwuwl niGyghwGuph wowbgywGtpn:

‘Lwhulwui pmGyghwltph npnpiwl hwdwp wynuhuh
wuwng b niGhytipuwy yulnGGbp gnynipjnil yniGhG:

IniGyghwltph pGunbgpnuip hwlqmd L wmwpptp dtpnn-
Giph oquwgnpodwl, npnlg oqlnmpjuip hGwpwynp b hGmd
hwult) Gyuwmwyhd:

blwnbgpnuip htipmwgltim hwdiwp uqignmd GG hhdGw-
Jwl hGumbgpuiltph wnnuuwybtp, npnlp vnwgymd GG nh-
duptiiguwl hhdGwlywl pwGwalbtiphg:

£tptlp wyn wnniuwyn.

n+1

+C (n#=-1)

ng. X
L. I x'dx = -
UwuGwynp nhiypmd, tpp n=0

J. dx=x+C
| x|+ C
X
I11. Isinxdx=—cosx+C

IV. I cosxdx =sinx +C

dx
V. =tgx +C
J‘ cos? x

VL I d); =—ctgx +C

sin“ x
VIL = arctgx + C
J.1+x2 g
VIII jd—x—arcsinX+C
V1=x2
IX. Ia"dx=a +C
Ina

X. j e*dx=¢e* +C
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XI. I tgxdx = —1n|cos x| +C

XII. j ctgxdx = 1n|sin x| +C

X +Vx% +a?

X—a
)
‘[g3
2

Gt
8272

blGwmtgpiwl wpnmbGplGtpp Junptih L vnmqby ghptiptGg-
dw( dhongny:

XIII +C

. J' d—len
Vx? +a?

dx _11
XIV. sz_az_zn

+C

+C

XV. j &
Sin X

=In +C

XVI. j dx

COS X

Pluntiqpuiwl hpdGwlwl bnubulGpp

Qnynipynil niGh hGunbgpiwl tptp hhiGwyul tnuiwy,
npnlig oqlmpjwip Jupbh £ wybtih pwpn wpmwhwjmnpmiG-
Gtpp dLwthniut) L GlwkgGh] hpuGwwl pwGualbphG:

L. QmuupbpGeph Jepmovwl Epwlwl.- Splwo £(x)
InlGyghw, nplG wGhGwp L wlihowubu hGwnbtqpt), hwiwju

hGwpwynp £ (hGnud yipwoby dh pwlGh dmbGyghwbtph gnidwnh,
npnlighg jnipwpwlsynipp hynmpjudp hGnbgpymd t:
Ptntlp ophGuyGhn.

1]%&(2](%){2 +2+§jdx:%jx2dx+2jdx+

dx 1 x3 x3
—=—~—+2x+1n|x|+c=—+2x+1n|x|+c;
x 2 3 6
dx cos’ X +sin’ x dx dx
2'J. 2 .2 :I 2 ) dx=.[.2+J. 2.
cos” x-sin” X cos” x-sin” x sin” X cos” X

=—ctgx +tgx +C;
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II. Ompinfuwlwbh hnfuwphldwl puwluwl.- Cun nhy-
phpnuﬁ,jf(x)dx hGwtgpuih dhe X thnthnfuwlw6h thnfuwpkG

dwngltny Gnp t hnthnfuwyul mpgwo hGntigpup hGwpwynn k
nunlmd pbpt] dh Gonp hGunbqpuih, npp juwd ywpmGuyymd k
hhiGwlwl hGumbgpuGph wnynuwynud, ud htpummpjuwdp pbp-
ynmd t Gpwlg: hGmbgniw6 wju dhpnnp Yngynud E thnthnjuwlwGh
thnfuwphGiwG dbpnn: X thnthnfuwlwbh hhnjuwptG dngGtlp vh
thnthnfuwywG, npp X -h htn Juugqud b x =@(t) wnlsnip-
Judp: (p(t)—ﬁ wlnplnhwwm $mGyghw t,npG niGh (p'(t) wlplnhwwn
wowbgyuy: Uyn I}hulpnui dx = (p'(t)dt L dtiGp YniGLGwGp.

.[f x Jdx = jf[(p o' )dt -

Uju pwlwélp Yngynd b thnthnfuwlwGh thnfuwphGiwG
pwlwdl: Fpw dvwpnwghnpnlili wywgnigtint hwdiwp pw-
Jwlwi E Gpw Gpynt Ynnip nhpbintiGgh:

J‘ dx
OpptiwlGip.-1. | ————
va? —x?

Oquugnpotny ytpp Gpwo pw ﬁwéhn* lluuuu[iulﬁp
adt

dx
J.\/al")—x2 _J.\/az—azt J.a\/1 J.\/1

dhpwnwnlwny hhG thnthnfuwuwGhG ynGaGwip.

(pwlwytlp x =at; dx =adt

=arcsint + C

dx . X X
I— =arcsin— + C, pwGh np GQulwynishg t =—:
a’—x’ a a

2. J‘Vs 1+x°xdx :
1
Stnunptip 1+x% =t, dt=2xdx, npubtnhg xdx = Edt

'[\/1+x xdx = J-\/_ —dt=— It1/3dt

=%t‘”3 +C=§(1+x2)4/3 +C:

4/3

C:
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I Uwubpny plnbgmfwl bpuGwl.- Gpt u=u(x)

v=v(x)-n nhphphGgtih $mbhghwbp b6, www npwlg wp-
wnwnnjuih hwdwnp niGhGp d(u . V) =udv + vdu, nplG hGubkqptiny,

JuunwGwip uv = j udv + j vdu;

Gpt wju btpym pGubgqpuiGhphg dtip Yupnnulwlp
hwyty, Uyntup YquGtbp htiGg wyn hwjwuwnpnpniGhg

judV:uV—IVdu:

Uju pwlwédlp Yngynud | dwubipnyg hGntqpdwl pwlwdl:

Spjwo hGnbgpuih Guumdwdp wju pwlwadlp Yhpwnbn
hwiwp whwp b Jupnnulw) GGpwhlmbqpuiwihl wpumwhwj-
wnnipjnilp wmpnhty Gpynt wpmwnphyGhph, npnlghg dtyp GywGw-
Uty u-ny, §yniup dv -ny: SpnhiwG hwdwp, pGnhwGnip JulnG
gnympjyniG  ymOh, nmnnuyh wbwp E  hw)yh wnGh), np
dv=v '(X)dx wnpunwhwjmnpnlp wybwp L jupnnubwy hG-
wmbigpti] wylytu, npytiugh unwgyh v -G:

Ptntlp tpynt ophGuy.

1. J x sin xdx
GGpwnptlp u=x, dv=sinxdx, wjuntnhg du=dx:
V =—C0SX
Uhpwntingy dwubpny hGunbgpiwl pwlwdlp Jumwlwlp

IxsinXdX=—xcosx+Icosde=—Xcosx+sinx+C:

2. J-(x —1)e**dx
Lywlwlhlp u=x-—1: dv =e?Xdx, nputinhg
du=dx:v= Iezxdx :%J.ez" d(2x)=%e2X

2x _1 2x 1 2x _1 2x 1 2x
I(x—1)e dx-E(x—1)e —E_[e dx-2(x—1)e —4e +C
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nrnesul huSecarul

Qhunwpytlp dh fuGnhp, nph Muonuip hwlgmd L npnpjwg
hGwntgpwih qunuihwphG:
Lwpytlp Ynpuqho utinubh dwybkptup:
A

T AT
A =+
AN
A/::::::\ /
A TN .
| | A
IR
,:|||,:|||I
IR
[ I||| |||I >
Ol a X X X Kpveren X, b X
Q.0.33

Uwhdwlind.- Unpuwgho ubnul Juy vtnuGuytpy Ynggnd t wyG
hwpp wwwytpp, npp vwhiwGwhwyyuwo £ y=1f (X) ynph wnb-
nny, OX wnw@gpny L X =a, X =b mnphnGtpny (q0.33):

Nuwh wtwp £ hwyyty AabB wwwybph dwybpbiup Sy
{wpymdGbph  wuwpgtgiwl Guuwwwyn pnmGhGp a<b,
f(x)>0 L whpGnhwwn [a,b] Showljwpnid: [a,b] hwwnjwop n-1
Juwidwjwlwb ytmbtph shgngny mipnhtlp dwubph’
a=X,<Xqy<Xp<..<X; <Xjq<..<X,4<Xx,=b: Uyju Ytwmbtipp
[a,b] hwwnywon Yupnhtl n mwppuwlwl dwubph.

[Xo.X1], [X1,X2)s + v vy [XitsXiloo o o [Xn1:Xal,

Spnhiwl Ytntiphg mwblkng oy wnwlgphl qniquhtin nt-
nhnGtp” mpjuwo Ynpugho utinuip Ypwdwlblp n mwppulwb
Unpwqhd uvtnuGGtph: Lywlwytlp wjn ubnuGGbph dwybtpbu-
Gtpp hwiwwywwnwufuwlwpwp AS,,AS,,....,AS,,....,AS, : Mupq
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L, np S,, =AS; +AS, +....+AS, +...+AS, Jwi wyth YJupd

duny S, = Z:ASi , hpunkn Z (upquw) gnudwnph GwGG E:
i=1
Uwlwyl wju mwppwlwl Yynpugho uvbnubltph dwybtptiu-
Gtpp hwpybn GnylGpwl nddwp b, nppwl dho ubnuGwlbtuh
dwytptuh hwpynuwip: Nunh Jupyblp htnlgw] Ybpy. jnipw-
pwliynmp nwppuwlw [x; ;;x; ] hwngwond JhpgGhGp dh Y-

dwjuui & (x; <& <x;) Ymn U hwpytGp PnuGyghuwgh
wndtpGbpp wyn Yhmbpmd, wjuhlGpG unmghlGp (él) opnp-
GwwunGtpp:

UjGnithtnb jmipupwlsynip mwppuwlwl Ynpwgho ubinuG
dnnwynpuigbu hinfuwphGtp [x;_p.x; | (i=1,2,...,n) hhdp mGt-
gnn niqnuGynGGtpny, npnlGg pwpdpnipmiGitpp hwjwuwn GG
£(&;) (i=1,2,3,..n) (q0.33):

LVywlwytlp X, — X, , = AX, ( =12,.. n) Ujn nbypmyd
nmnnuGlyymGGtph dwltiptuGtpp hwjwuwn UyihGuG
(&, )Ax,(i=1,2,...,n), huy AS; ~f(&;)AX;: Spwd Ynpughd
utinuGh dJdwybptup dnnwynpuytiv hwjwuwp YhGh qo.33
unuwgywd wunhdwlwal ywwmytph dwybptuht

S, = 31(e Iax
i=1
Muwnq t, np tpk Ax;-hg dkowqniylp ujuh GJuqty, wyw
wju gniwpp wybjh dhpn upumwhwjmh vtnuGuitpyh dw-
ytntup: Qwunmph pGwywG t, np qphﬁp

= lim Zf

max|Ax; \»0
n—oo

Ujuyjhuny, Ynpwqhd ubinubh dwybptuh hwpymip ptpytg
wju mhyh gmiwph vwhiwlh hwydwb b julGnhpp hhwunnpbG
mioywo k:

‘Liwl vunnbtignudng Jupbh L ooty puwqiwwhuh fulinghp-
Gtp:
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Npnpyuy hlinbgpnuyh wwhdwlnidn

Ujdd nppuwnpmipymil snupdGhlp YnGyptin tulnph pndwG-
nulnipjwl ypw, L hwpgp nphnwnpytlp pGnhwlnip wmtupny:

Qhgmp, f (X)i])m[illghul(i npnyuwd L uwhdwlwthwy t [a,b]
dhowlwjpnid: Uhowuwypmu ytpgGtiGp n —1 hwwn udwjulywb
pytin’ a=x, <xX; <X, <...<X;4<X; <..<X,4 <X, =b, npnlp
dhowlwjpp mpnhnid GG n Ywubiph:

3nipwpwlsjnip [Xi—l;xi] dhowluwjpnid ytpgGtlp dh &;
quiwjwiwl Yuwn' x;; <&; <x; L wjGubn hwpyblp f(X)
$nGyghwjh wpdtpp’ f(&i) (i =12,...., n):

dnGlighwjh wyn wpdtipltipp puqiuwywnybklip hwdwww-
wnwufuwl  Ax;  dhowluwjptph Gpywpmpjudp (él )Axi L
unwgywd pninp wpumwnpjwibipp gnudwptilp

n
(8 JAX, + £(82 A%y + et (0 )X, = D 1(E A
i=1
Uju qmiwpp Yngynd k f(X) InGyghwyh hGntqpuiwjhG
gnudwn [a,b]dhowluypnud: Lwbh np [a,b] thowlwjph mipnhnuip
L jnipwpwlynip thnpp dhowluwypmd &, Ytnbph pGupnipyniGp
Juuwpymd £ juiwjuiul tqnuiwyny, nunph upjuo (X)

pmGhghwyh L [a:b] Showlwyph hundwp ShlnyG n-h ghwpnud
Junth £ pwqiwphy hGunbgpujuwhl gnuiwplbp Juquty:

n-p w6ytponptl dkowgGtlp wjlwbtu, np pnnp thnpp
dhowlwjptiph AX; tpywpnipymGatpp wiytpenptil thnppwluwG.
hGwpuwynn E tpym nhiyp

w) wnwppbp tquGwyitpng Juqijuwo hGumbgpujwjhG
gnudwnGtpp dquntiG mwpptp vwhdwGGtph yuwd ybpowynp uvwh-
dwl ym GGG

p) ponp hGwpwynp tnuGwyGtpny yuquiywo hGntqpu-
wyhG gnudwnpGtpp dqubkG Yhlbnyyl yepowynp uwhiwGhG:

Gnypnpy nhiypnid wund GG, np (X) PnGyghwG ha-
wmbqntih t [a,b] dhowluypnid, huly hGmbgpuwjhl gnidwph uwh-
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dwp Yngynmd £ £ (x).‘j)mﬁllgluuﬂl nnn2jw] hGuntgpuwy [a:b] dhow-
b

Juypnid b GruwGuynid wjuybu’ j f (x)dx :

a
Unwohl niypmd wumy GG, np f(x) $nilyghwjh npnyjug
hGutigpnuin [a:b] dhowwjpnid gnjnipjniG sniGh:
Ujuyhuny, pun vwhiwdw 6’

b n
f(x)dx = lim (& )Ax,
.!. )d rnn;(wai»O; (

f(x) pmGyghwl Ynsymd b LEpwhGnbgpuiwghl, X -p'
hGunbgpiwG thnhnfuwlw@, huly a-G6 L b-G hwiwwywwumwu-
fuwGwpwnp npnpjw) hGntqpuih vnnphG L yephG vwhdwGGbp:
Smpuwpwlsnip (X) $niGyghwjh hwiwp wpjwo a L b uwh-

dwGGtph nhwypnid npnp juw hGumbgpup npnpwyh phy t: Opnpjug
hGumbtqpwih wpdtpp Ywpujwo b tGGpwhlGnbtqpuiujhG $dnGy-
ghwjhg L hGumbgpiwG vwhiwbGtphg:

Ulnpunwunlwip yYtpp ghunwpywo fulnphl: {wdbdw-
wmtiny Ynpwghd utinuGh S, dwytptuh hwdwp uvnwgduo
wndtipp npnyjwy hGmtppwih vwhdwldwl hbn® Guwunmd Glp,

b
nn’ Szjf(x)dx:

Uw L npnpjwy hGntgpwih tpypuwswhwyui pdwuwnn:

Npnpjwy hGumtgpuh vwhiwliwl htinm Juwywod hwpg L
wnwowlnd, pt hGywhuh WwjdwGGiph wejwympjwul phwypnd
gnjmipjnili niGh pGunbtgpwiwjhl gniiwph uwhdw6p, wjuhGpl
npn2jw] hGuntqpuin: 9pw yuwwwuhowlp wwhu £ npn2jwy hG-
wmbqpwih gqnympjwl plnptiip, npp Gipwjwgymd £ wnwig
wywgnigdw(:
Obopbd. dwl  dhowlwjpnd  jnipwpwlsnip  wlplnhwwn
dnilyghw wyn Showwjpmu hGwbqptih t, wjuhlGplG gnynipynil
niGh Gpw npnyjwy hGunbqpuiyp:

Ujuwhuny, npubuqh $niGyghwl (hGh hlGubgpbh puyw-
Juwd E, np wjl (hGh wlplnphwwnm thwl dhowlywjpnid: Awjg npn)-
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Jwp hGwmbgpuip Jupnn L gnympjmb mGhGwy Gwl npny fuqynn
$nGyghwbtph hwdiwnp: OphGwly, wywgnmgymy k, np thwy vh-
owuypnid uwhiwlwihwly L yepowynp fuquwl Ytwumbtip nilkgnn

Jnipupuwlsjnip pnilljghwyh hwdwp npn2jwy hGnbgpwip qnnip-
Jnil mGh:

Npnpjwy hlinbgnuygh hunngnipniGabpn

‘tinjuwjwgltlp npnpjwy hGumbtgpuh dh pwGh hwwnynip-
JniGGtn, npnGp uvnwgymd &G hhdGwlwlmy Gpuw vwhdwlnuihg,

b n
nuwn nph [ £(x)dx = lim ) £(&i)Ax,
3 i=1

b a

1 j £(x)dx = — j £(x)dx

a b
wjuhlpl npn2juwy; hGumtgpuh uvwhdwlitpp wnbnuithnfubjhu
thnfuynid £ dhwjG hGntgpuih Gpubnp:

a

2. j f(x)dx =0,
a
wjuhlpl’ hwywuwp vnnphG L yiphG vwhdwGGbp nGtignn npnp-
Jwy hGumbqpuip hwywuwnp t qpnjh:

3.']|D'Af(x)dx = A'i' f(x)dx

wjuhlpG hwunwunnb puqiuwuyuwumihsgn Junptih £ gmpu pbipty
npn2jwi hGntqpuih GwGh wwlyhg:

4j[f(x)i o )Jdx = if(x)dx + i(p(x)dx,

wjuhlpl $mGYghwltph gmiiwph npn2juwy hGuntgpunp hwyw-
uwn £ wnwGdhG gnuiwpbihGeph npn2jwy hGumbtqpuw)Gph gnidw-

nhG:
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b
S.J'dx=b—a:

a
b c b

6. jf(x)dx =J'f(x)dx + J.f(x)dx ,
a a C
nGn npnud, vw hwjwuwnh £ a, b, ¢ pytiph guwlijuguwd nuuw-
Unpnipjwl nhupnid:
7. Gpt [a,b] dhowlwjpnud f(X)ZO L a<b, wuyuw

j-f(x)dXZO:

8. bpt f(x) L @(x) pmlyghwblpp [a:b] Showlwpnu
b b
pGwntigntiph b6 U f(x) < o(x), wuyw J'f(x)dx < I(p(X)dX ;
a a
9. Gpt [a,b] dhowluwypni m < f(x) <ML muM
PniGyghwyh hnppugniyG L dhowqgni)G wpdtpGhplG GG, a<b,
b
wyw' m(b—a)< If(x)dx <M(b-a):
a
10. Gpti f(x) n wlplnhwwn k [a;b] dhowwjpnd, wuww wyn
dhowlwjpnmu gnjnipjnil niGh wnGjwqb dh ¢ Jtwm, np
b

jf(x)dx:f(c)(b_a), a<c<b:

a

Uju hwwnympmbp wwwgnigymyd L npybu wnwGdhG
ptinptid L Ynsynmud £ dhohG wpdtph ptinphu:
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Npnpjuy hlinbgnuyn npwbiu Jephl nwwhdwih pnilGlhghu

Npnpjwy hGumtgpuih vwhdwlnidhg wpntlG qhwnblp, np
(pw pywjhG wpdtipp Juwpuwo L tGpwhlGuntqpuiwihl $nGy-
ghwjhg, hGumbgpiwl vwhiwGGtphg L ywhywo skt hGntgpiw
thnthnfuwlwlhg, niumh Juptih £ hGunbgpniwl thnhnfuwlwin
Grwlwlyt; gulyjugwd munny L hGmbqpwih wpdtipp sh thnfuyh

Tf(x)dx = Tf(t)dt = jf(z)dz =...:

UwluwjG, tph thnjutiip hGuntqpwih vwhdwGGbpp, wuw
Gpw wpdtipp, pGnhwlpuwutu, Ythnfugh: dephG b uwhdwGh thn-
fuwptG YybpgGtlp dh x thnhnfuwlwG, hul hGunbgpiwb thnthn-
[lnwlwln Guwlwytlp t-ny: Wyn phypmd, tph X thnthnfuyh,

X

wugw Jf (t)dt-h wpdtpp npwlhg Ywhjwd  thnthnfuh,
wjuhlpG hOGwmbtqpupn YhwlnhuwlGw hp  ybtphG  uvwhdwGh
dnilyghw: Lywlwytlp wjn $nilGyghw d)(x)—nl.[:

X

cD(x):jf(t)dt:

a
u $nmlyghwl odwmyjwo E htwmlywy tpym Juplnp
hwwnlnmpjudp’
1) tipti f(x) $mGlyghw@ hGwbqpbih t [a,b] thewlwjpnud,
wuww (D(X)—Q wlipGnhww t wyn dhowluwjpnid:
2) tpht f (X)—n wlplnhwuw E [a,b] dhowwjpnid, wuw
q)(x)-ﬁ wjn GnyyG dhowluwypnd niGh wowbgjwy, npp hwjwuwp

Ef(x) -p
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Ugugniyg.- x-pG wwlp Ax  wd, wyn  nphypmd

D(x + Ax) = Tx f(t)dt = jf(t)dt + x]AA);(t)dt :

®(x) pmGyghwyh wép YhGp

xX+Ax

A@(x):@(x+Ax)_q>(x):jf(t)dt+ j f(t)dt—j‘f(t)dt:

a X a

X+AXx

O = If(t)dt :
X

Uju hwjwuwpmpjniGhg widhpwytiu htimlnwd £, np tph
AX = Qwwyuw A® GmjGwybu Ydqup qpngh: Fw GQwlGwymd b, np
CD(X) $InGyghwl whplnhwwn t: UnwohlG hwnmynmpynilp wuww-
gnigqwo k:

JdhpohG hwjwuwpnipjuwl we dwuh Gumdwdp Yhpwntlp
dhohG wpdtph pinptidp.

X+AXx
AD = I £(t)dt = Fc)(x + Ax —x) = f(c)Ax»  npuibn

Xx<c<X+Ax:
UYuqitlp ®(x) pmblyghwh weh L wpgnuskGnp wéh
hwpwptinnipjnilp b wigGtlp vwhiwGp,btpp YytpghGu dquumy L

qpnjh.
A® _ f(c)Ax _t(c):

AX AX

Ax—0 AX Ax—>

®'(x)= lim AP _ lim f( ), puyg bpp AX = 0, www ¢ —> X,
htnlwpwp Ahrnof( )—hm f(c

) L $mbGyghwjh wlplnhwnnip-

ju htunlauGpny lim f(c ): f(x):
C—X
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Ujuwhuny, q)'(x): f (X), L tpypnpn hwnynmpniGp GnyyG-
whu wywgnmgyuo t:

pnpjuy hlimbgnugh hwpynidp: Uynunnd-Luplhgh
pwlwdlp

Utiip wuwwgmgtghlGp, np J.f(t)dt :f(x), wjuhGpG
a

X

@(x):jf(t)dt-ﬁ f(x) pniGyghwh GuiuGwlwt pmGlghwa t:
Ujdd wywugnghblp vh wjuyhuh plinpbu:
tph F(x)-p f(x) wepGnhwn $mGyghwyh hGs-np dh

(whlGwyub $nGyghw b, wuyw woluw k htimbyw) pwlGwdlp
b

j F(x Hix = F(b)~ F(a):
Uju pwlwaélp Yngynd £ UynunnG-LwjpGhgh puGwdél:
Uwqugnijg.- GGpunntlp, F(X)—n f(x)-h nplt  GuuGuwyuwG
dnllghw E: Ghwnblp, np If (t)dt GnijGybtu hwlnhuwlny L

a

f(x)-h GuiuGwhwi pmGyghw: Pwyg ShuGnyG Pprbhghwjh
tpint GwfuGwywb $niGyghwltpn mwpptpynd GG dhwjl hwu-
nwwnntl gnidwpbihny: <Gwmbwpwp, Jupnn Gap qpbj.

[ (ehie=F(x)+

C hwuwnwwniGh npnpiwl hwdiwp wju hwjuwuwpmpjwG
dt9 mbnunptilp X =a, wyn nhiypnmud
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]l-f(t)dt =F(a)+C Ywd O=F(a)+C, npmtnhg C= —F(a) :
Stnlaupup, j £(t)dt = F(x)— F(a):

a

Stnunpbiny wju hwjwuwpnipjul b9 X =b " unwGwlp
UymunnG-LwypGhgh pwGwalp
b

j £(x)dx = F(b)~ F(a):

a
Gpt GpwGwltlp F(b)—F(a) = F(x) :, wuww npn2jwy hG-
wmtiquuih hwyydwl pwGwalp Jupbh t qpt] wyjuybu’

Tf(x)dx = F(x){:: F(b)— F(a):

2 x*1? 16
0p]1ﬁwqﬁbp.-1.jx3dx=— = _0=4
0 410 4
stmxdx——cosx =1+1=2:
0 0
1 1
3.le*dx =¢e*| =e—1:
Jerde=et|
JwndnipiniGGhp
1 d % % d
xdx X
1. I 2. | sinxdx 3. j
1+x2 v V- x?
0 0 0
1 2 2
4.I 2dx 5 5. | xe*dx 6. IZX 3
X +a J
0 1 1
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Npnpyuy hlimbgnuh GhnwnnipniGahpn

Npnpjwy hGntqpup uvwhdwlbghlGp npwtu hGutqpuiuwhb
gniwph vwhdwG: Opybu wynuhuhlG, wjlG pwqiwwhuh Yhpw-
nmpjniGGtn nmGh Gpypuwgwthnmpminyd, YtluwlGhyuynd, $hgh-
Juwjnwi, phdhuymy, yhGuwpwlmpjul ke, tynGnihluwjniy,
wnbfuGhwlwb ghnmpymGitpnid b wynin:

Ujdu nhnnwnpytbp vh pwlh YhpwnnipjniGGhp.

1. {wpp wumlbph dwlbpbuh hupynidp

Npnpjwy hGunbqpwih Gpypuwswihwlwl hdwunhg hwymGh
L, np Unpwghd ubnwuGh dwytptup Jupth £ hwpyt] htnlgwg

b b
hGwtgpumy S = jf (X)dx YJud wybih ups'S = Jydx

Opn2ju hGnbigpuih shengny wy) wwwnltpGhph dwlbtptu-
Gtp hwpytynt dwdwlwly npybu Wwupqugni)G yuwnmytp phuynd
L ynpugho utinuin:
“thgnip ywwhwloymd E hwpyty qo.34-md GhpYuwjuguwo
b b

wwwnlbph dwibpbup. S, = Jf(x)dx ,huy S, =— j f(x )dx :

a

Q.0.34
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Ujuwhuny, tpynt nhypmd  tp, tpp f (x)-g hwunmwwumn G
GpwGh PpmGyghw t, Ynpwgho ubnwlh dwlytpbup Yupbh E

b
hwpyt; S= I f (x)dx‘ pwGwdlny: buy tpt f (X) Ynpp hwwnnd

ox wnwlgpp (q0.35), wwyw ubtnubh hhdpp whwp b pwdwbby
dwutiph, npnGghg jmpuwpwGsnipnid £ (X)-]"_l wwhwywlnmd L hwu-
wmwwnnil Gy, L Jupyt] wylGubu, hGywbtu Guwunpng nhiypnid:

S= jf(x)dx+ if(x)dx| :

v

9035

Uwybtptiuh hwydwb pwGwdlp yuptih L oqunugnnpot) Gul
wj i nhypnid, ipp mpjwo hwupp yuwwytpp vwhiwwhwuo t

tipynt mwpptin ynptipny ud dh thwy Ynpny:
Dhgnip, ywhwGoynd k hwpyty wyl yuwwmytpnh dwybptup,

npp uwhiwlGwhwyyuwo by =1 (X), y=1, (X) Unpipny L x =a
m X = bmnhnGtpny /q0.36/:

107



y /—\ y:f (X
Z —

0 a b X
Q.0.36

Spywo ywwwmybph dwltipbup Yupnn Glp Gepluwjwuglty np-
whiu tpynt Ynpuwghd ubinuGGtph dwytpbuGtph mwppbpnipniG.

b b
S= v.Afz(x)dx —jfl (x)dx :
OphGuwly.- 1. {wyt] wjl wquwwuytph dwytptup, npp vwhdwlw-
uyquo t y=+vx L y=x> Yynptipny /q0.37/:

Loiomd. - QnGtGp npJwd tpynt Ynptiph hwndw G Yantipp: Uyn

(wwwwlyny motlp npwlg hwjwuwpniGipp hwdwnbn.

4

x =x%, x=x", X(l—x3):O,npu1hrﬂlg x; =0, x, =1

A _.2
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1 1 1
tunlwpwp' S = I\/;dx —Ixzdx = EX%
0 0 o 3

OnphGwy.- 2 <w)yty tihwyuh dwybtptup (qo.38):

2 2
Lmionid. - Ejhyuh hwjwuwpmdG k X—2 + Z—z =1, npntinhg
a

y=i2\/a2 —x?

a

S=jydx=2]§ a? —xzdxz%j a? —x2dx =

a

= mab:

2b( x a’ . X
=="| Z=4a*—-x? + —arcsin—

a2 2 a
UwuGuwynp niypmy, tpp @ =b JuunwGuwbp a pwnwyhnny

2ngwlh dwlbpbup’ S, - =na®:

2. UwndGh owywyh hwpynidn

“+hgnip, mpJwo t dh T dwpdhG: Gipwnntlp, vkq hwjnbGh
6 wyn dwpdGh ox wnwlgphl ninnuwhwjwg hwwnnmpGtph dw-
ytptultpp: Mwpqg t, np X -h hnthnfudw( htwn, pGphwinp nhwy-
pmy, Ythnthnfuyh hwwunyph dwytpbup: UjGwybu np hwwnyph
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dwlbpbiup X -h niGyghwa t: LywGwlbbp wn mbyghwt S(x)-
ny: GlGpwnptlp Gwl, np X-p thnthnfuymy L a-hg dhGslk
b(a<x <b) L hwyytlp wyl dwwp, npp whiwGuwhwlgwd k
Xx=a L X=b hwppmpjnGGtph thol: Uyn Guuumwyny [a:b]
dhowlw)pn wnpnhtlp n dwubinh
a=Xy<X; <X, <..<Xi; <X;<..<X,=b L pwdwliwi
Jtwmbtnpny mwbblp 0x wnwlgphl nnnuwhwjwg hwppnipjniGGtin:

Ujn hwppnipjniGGtpp yuuipnhtG mpjwd dwpihlp n muppuyul
stipntiph (q0.39):

9-0.39

Snipwpwlymp mwppuiul hwnjwomd Ytpglhlp vh

Juwiwjwlwb c¢; showbljwy .
X; 4 <¢, <X, (i:1,2,3,....,n)

¢; Yhnny nwGhklp ox wnwlgphl mnnuwhwjwg hwwnnyp:
‘bpw Jwytptup, nplG plnqoywo Lt qowqpmy, YjhGh S(ci):
Snipwpwlymp wmwppuwliwl tpm  dnnwynpuwwbu  thnfuw-
phGtGp dh ninhn quuiGny, nph pwpdpmpyniGl L AX; = X; —X;_;
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(i=12,3,...,n), huy hpdipp S(c,)-G t: Uyn tnulwln] wipnng
dwpdhlp YthnjuwppGyph dh wumhdwlwdl wwwmytpny, npp
punugwd £ n wmwuppuiul quGGhphg: EtdkGumunp quGh
owJwip Guwlwhtilp Av;-n, hul wunmhdwlGwdl JwpiGh
owqup V, -ny:

Av, =S(c,)-Ax; (i=1,2,3,....,n), huy

A =Zn:Avi =Zn:s(ci)-Axi :
i=1 i1

TdwpdGh V owduwpn hwjwuwp YhGh V, -h uvwhdwGhd,
tinp max|Ax;[— 0y n — oo, wjuhlpl

n
V=limV, = lim ) S(C,)Ax:
n—oo n—oo .
max‘Axi‘HO max‘Axi\aO i=l

Puyg ZS(Ci)AXi n S(X) PnmGyghwjh hGubgpuywghG
i-1

gnuiwn( t: {twmbwpwn, Gpuw vwhdwn, tpp maX‘Axi|—> 0, yuu

npnjwy hGuntgnuy L upnn Glp qpby
b

V=J‘S(x)dx:

a
Uw gqniquhtin hwwnnyypGtiph dwitipbulGtph dhongny dwpu-
Gh owywh hwpydwl pwlGwald k:
OnhGuwy, hwyytlp wjl wquwmybkph owjwip, npp vwhdwlw-
2 2 2

X° y oz
thwlywo k a—2 + b—2 + 0—2 =1 Lhyunphnny:

Lntomdf.- Eihyunhnp hwwting X =h hwppmpjudp’ junwGwip
2 2 2 2 2
h
Y L Z qug —2>— 4+~ =1, wyupGpl

PV 2 2
a a
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h? h?
uh Ehwu, nph YhuwnwlgpGpG GG by/1-— L ¢\ [l—-—
a a

(q0.40):

\4

9-0.40

Lwbh np Ehyup dwlitpbup hwuwuwp £ © pyh L Jhuw-
wnwlgpGiph  wpunwnpyuihl, nwwh YJwpnn GGp qpb, np

S(h)= nbc(l —L‘—j);

Ltunlwpwn, ytpp vnwggwo owjuih pwGwdlh dte x-p
infuwphGhnyg h -ny, yniGGwutp

a a h2 h3
V = [S(h)dh = | nbc(l —a—szh = nbc(h ——zj

3a

a

= i7talbc :

—a

UwuGwynp nghiypmd, tpp a =b=c =R, dtlp Junwlwip
R pwnwyhnny qGnh dwywip, npp hwjwuwp YihGh %nR3 :
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NSSUUL UUurvvh ouduLr

“thgnip, Ynpwugho utinuGh hhipp ox Jwd oy wnwlgph
hGs-np hwwngwoG t L TdwpdhGp vnwgymd £ wyn Ynpugho
utinwGh yuwnnithg hp hhdph pnipon (qo.41):

Q-0.41

Unwophl nphypmd wumwnmdiwl wnwlgphG mnnwhwjwug
hwwnniypGtpp S(X) = ‘rty2 thnthnfuwwl  JwlbtptuGbpny
powGGbp GG, npnbn y = f(X) a<x<b: Gpypnpn nhwypmi’
S(y) = x> dwytintiuny powlltn, npntin X = (p(y) L c<y<d:

Ujn nphiygpnid ywunumiwl T dwpdGh owdwip, hwiwdwjG swyjwih
b

hwydwl@ V= Is(x)dx plghwlnp  pwwélh,  YhGh
b
Vi = njyzdx = ﬂ:'[ [f (x)]2 dx, tpp wwnwnmip wbnh £ nGblGnd
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d
ox wnw(gph pmpgp, L V= J. *dy = nJ. )] dy, tpp

wunnnuin mbtinh £ niGilimy oy wnwlgph pnipon:

OphGwly.- {wyt] w6 dwpdGh owywip, npp unwgynid k y2 =X
wwpwpnih [0:1] hwndwond pGiwo wntinh wywuwwmnidhg ox
wnwlgph pnipon (q0.42):

y
2_
y =X—
\
\
\\
| X
0 1
/
/
/
’\
Q.5.42

x21_

1 1
n
Loonf-V,, =n|y’dx =n|xdx =n—| =—:
‘” {y ! 202

3. Omipnfuwlwl nidh unnwmuo wyfuwmwlph
huwpynmudn

Shgnip, M GnipwuG Yhwunp F mdh wqnpignipjudp nin-
nuqho pupdynid £ B Ytnpg dhGsl C Yanp (qo.43):

. B . L C
0 My M M Mii Mia Mpg M, X
Q.0.43

114



Mupgnipjul hwdwp GGpunptlp, np nidh mnnnipnilp
hwdpGyGnud & pupddwG ninnnipjul htin: MuwhwGoynid k hwpytg
nidh Juumwpwo wpuwwmwbpn: bhghwjhg hwjynbh t, np hwu-
nwwnnild nidh juunwpwd wyuwnwlipn hwywuwp L wyn nidh
swihh L wlgwd dwlwwwphh Gpupmpjuwl wpunwngpyuhG
A=F-BC:

Ujdd bGpwnptiGp, pt F mdp thnmhnfuwwi t: M Ytwnh
htinwynpnipjnilp uyqplGuyub 0 Ytnhg Grulwybklp S-ny: Mwpq
t, np Fmdh suhp YhGh S Gwlwwywphh pmyghw F = F(S):
Uju phypmd Gwjunpn pwlwdlny wpuwwnwlpn hw)yty stlp
Juwnnn, pwGh np skGp Jupnn pdwlw, pt wigwd dwlwuwwphp
thnthnfuwwl nidh n°p wpdtipny whunh puqiwwuwmyby:

Uju fulinhpp miotqnt hwiwp Jupytlp hbnlyw) Yhpy.

BC swlwwwphp juwiwjwlwl tnuwlwlyn wpnhtlp n
dwubiph: Spnhdw G Ytwnmbpnp pon hGaG
My, M;,M,,...M,_;,M;,... M, _,M,:

LVowlwytlp M, ;M. =AS;: Smipwpwlyjnip hwnuonud
JbpgGbGp wh dhowtyyuwy P(S]),(i=1,2,3,...,n) Ytan L hw)yklp

n-1»

nidh wpdtipGtpp wyn Yhnbpnd ?(S; ): Glpwnptilp, jnipuwpwly-
Jnip nmwppwlwl hwnyuwonid ndp dinnwynpuytiv ywhwwlGnid
I hwunwwml wpdtp®  hwjwuwp F(Sf ): UpymGpnid

1

Junwgyh,np F nidp BC mtinwdwumd thnthnjuymd £ pnhspwdli:
Gpt 1-pp hwngwomd nidh Juuwpwd  wpfuwwnwlpn
Gowlwytlp AA; wuw Junpnn GGp qpti’
AA; =F(S))-AS;:
buy, tpt pnhspwdl thnhnfuynn ndh Juwumwpwo
wfuwnwbpp BC  wbnuwdwund  Gulwytlp A,, wwuw

A, :Z::AAi :21:(3;)-Asi :

Gpt AS; hwnqwoltph dwpupdw tpupnipynilp wluwh-
dwlnpbl thnppugGhlp, wuyw F(S: ) -n Ydqup F nidh juumwpwo
A wpluwwmnwGphG: WyuhlplG
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n

A= lim A,= lim ) F(S))AS;:
n—o now 4
max‘ASJ—)O max‘ASJ—)O i=l

Uiy ZF(SE)ASi -6 F(S) 9$mbyghwjh n-pn
i=I
hGuntgpuiuyhG gniwpl t: {twnlwpwp, Gpu uvwhdwlp fuw

C

npnpjwy phGunbgpuy L Jupnn GGp qpby’ A:J.F(S)dS nputin
b
b=0B, ¢c=0C:

JwindmpiniGGGnp

1. {wpyt] wyl wuwwmytph dwytptup, npp vwhdwGwhwyyuo k
y=x* +1 wupwpnny b x-y=3 nuynny:

2. 2wy y=x" L x= y* wuwpuwpn)Gipny vwhdwGwhwljuwd
wwwlytph dwybtpbun:

3. Qupyhp y= 2% y=2 L x=0 qotpny uvwhiwGuwhwyuo
wwwnytph dwybtpbun:

4. Jwpyt] wyl yqwuytph dwytiptup, npp vwhdwGwihwyyuo k
y= 2x-X Unpny L ox wnwlgpny:

5. Ny =Inx, x=¢ Ly =0 qotpny vwhdwliuhwyyuo
wwwltph dwybtpbun :

6. wpyty wyl SwpdGh Swwp , npp wnwowlnud b y=2x-x> U
y=0 qotpny uvwhiwlwhwliywd wwwmlbpp ox wnwlgph
onipop wwwbihu:

7. Lwpyhy y=x2 L y=2x qotpny uwhiwlwthwliyuo wquwmlytpp
ox wnwlgph nipop wwmwbint wpnilipnid  wnwowguid
dwnpilh owdwn:

2 2
8. Jwpyhp X—2+Z—2=1 Eihwyuh ox wnwlgph pnipop wuwntijnig
a
wnwowgwd twnilh dwdwp (wuwdwb tjhwyunhn):

9. Qb y=x2 L y=4 qotinny vwhiwlGwthwlyjws wywwumytpp

x=2 ninnh 2nipop wuwnknig wnwowgwd dwnpilh owjun:
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10. Npnptp y=x°, x=0 L y=8 qotpny uwhdwlwihwlywd
wuwwltpp oy wnwlgph nipop wwmwbinig wpwowgwd
dwnpiGh owwyn:

oJU3hL CUrLRE
LURUUNMN UUSUULAMNILER

Glpunptilp, wpwo L wGdtpy pywjhl hwonppulwu-
(inipjniG uy, uy, Us,....., Uy ...
Uju  hwonpnuljwlmpjul wlnuiGiphg YJwqditklp dh
wjuyhuh whytiny gniiwnp’
u1+ Uy +Il3+....+ un-l-...: (1)
(1) qnuiwpp Ynggnud £ pywyhl wpp :
(1) 2wppp Ywnd Junpbih t qpbp Gwl hbunlyw) mbupny

Du, qudt bppbdG > u,(ug +uy +u, U, + . wpph
n=1 n=0
hwdwip):

(1) pwppnd vy, W, us,....., Uy ,....pYbipn Yngymd GG Qwpph
wlnuwuiltn: CGn npnid v, -p Jwpph wnwohl wlnwdl E, u,-p’ n-nn
wlnwun:

{wpy b G2, np ng dh nhwypmd wpph JbpohG wlnwad
qnympjnil yniGh:

(1) 2wpph hwdiwp JuqutGp Sy, S,, Ss,... S,,... qnuiwpGhn,
npn(p npn2ynid GG htnlywy duny’

Sl =1
Sz = u1+u2

S, =utut.. . tu,
Uju gnudwnbltpp Yngymd GG (1) pwupph dwulwyh gnidwn-
Gtp, dwulwynpuybiu S,- p Yngynid kL n-prp dwuGwlh gnidwnp:
Uwhdwlnd. - Gpt twulwlyh qnuiwpltph hwonpnujuwlnmpjwG
uvwhdwlp n—o gnynipynil mGh L hwjwuwp £ ytpowynp pyh,
wjuhGpl’
lim S,=S 2)

n—oo
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www (1) 2wppp Yngynid L guiquitin b S phyn Yngynd & Gpw
gqnuiwn: buly tpt wyn vwhdwlp hwywuwnp £ wiytponpjul Jud
gqnymipjnilG yniGh, www wppp Ynsgynmd E wnmwpudbn L gnudwph
dwuh( funutijG wihdwuwn t:

Shunwnpyblp tpypuwswhwlwl wypngptuhwih wlnuwult-
nhg Juquqwd Jwppp’

bt bigt big™+ ... +big" b .
Jwlpwhw)yh r}wunﬁpmghg hwjmGh L, np upw n-pn
(

dwulwyh gnudwpp’ S, = b111;q q# 1):

{upytlp wju dwulwyh gniiwph vwhdwGp, tpp n—oo.
lim$, :limbl(l_q )_ b

n—0 n—» l_q 1—

, tphk |q|<1, npnyhtnnle  wju

niypmd limq" =0:

Ltunlwpwn, pwppp wju nhypnid, hwiwdw)G vwhdwGiwb
gniquihwmnd t: buy tph |q| >1, wyw " > o, tipp n—>wo L
ownpn YhGh mwpwitin: Cwppp mwpwdtn b Guwb w)l nhypnid,
tpp |q| =1, npnghtinl S,=a+a+..+a=nali /imS = /imna =o0:

n—oo n—oo

Ujuyhuny® tpypuwswthwywl wypngptiuhwgh winuibtnhg
Juqiywd pwppp gniquihunmdy £ dhwyl b dhwjl wyl ghupny,

tpp Gpw hwjnwpupp' |q|<1: hulj tpp |q|21, www wppn
nwpwihnmy k:

2 1 1 1 1 1
011]1ﬁwb.—§2—n:1+5+2—2+2—3+....+2—“+... 2wnpp gqniquibtn L,

. 1
npnyhtinle  Gplpuwswhwlwl wpngptivhwih pwpp L =7

hwjnwpwnpny:
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CUrrh 2NrUUPSNMo3UL ULPUTECSNMO3U L
Gd SUruuvbsSNro3udv AU Urr1Mesus
ussuuvher

Cunph qmudwph hwpynuip hwdwh juyymd £ pupnnip-
JmGGtph htim: Mump, w6 hwpgn, pb pwppp qniquidhunnmd L, ph

nwpwihnnd, niGh Juplop  Guwlwympnl: Uyju  hwpghl
wwwnwufuwlbn hwdwp dwptdwnhyuwynmd wywgmgymyd Ga
hwjmwbhyGtip, npnlg oqlimpjwip, soquybny, qniquihnnmpjwl
wldhpwlwl uvwhiwlnmihg wwpqupwlymd £ wpph gniqu-
dhunipjwl hwnpgn:

Ohnpbd.- (Cwupph gqniquihwnnipjul wlhpwdb)mmpjul hwj-

wmwlhyp): Gph Zun wnpp qniquihwnnd £, wwyw Gpw u, nln-

n=l
hw(nip wlnwip dqgund k 0-h, n - p o dquatijhu, wyuhGpG
limu, =0:

n—»c0
Uwyugnyg.- Yhunwpytlp S, ;=u,+u, +...+u L

S, =u,+u, +...+u, JwuGwhh gnuiwplbpp: LwlGh np puwn
wwjdwlh pwppp qmquihnmd b, wwyw’ limS =S L limS, =S:
limu, =1im(S, -S,,)=S-S=0:

n—o

Puwyg u, =S, -S

UjG h6; wwhwloymdi tp wuywgmghl;: Uwwugnigquo
ptnptivthg w6dhowutu htmlmd L wpph wwpwihnnmpjw
pwywpwpnipjwl hwjmwGhop tpt 2upph u, pphwlnip winudp
sh dquunud qpngh, n-p oo dqutithu, www Qwnppp mwpwihwnnd k :

bpnp, tpbk wppp gnquihnmd b, wyuw u,—0, np ©
dquatijhu, pwyg pun Wwjdwbh u, —n sh dquunud 0-ph, ipp - n—oo:

OphGuwly - <twnwgnunt] htwnlyw] pwpph gniquihwnni-
3 n

1 2
mlp —+—+—+...+
PJIHAE 101 201 301 100n +1

Latémui- limu, = lim—— = 1
nos " e 100n+1 100

Ltunlwpwn, Juppp nmwpwitu t:

+ ...
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Gpt Qwpph qniquihnmpyniGhg htimlmd £, np limu, =0

wyw hwljwnwy wlnnuip dhpwm sk, np dhpwn E: WyuhGpl pwpph
pnhw(np winwdp n— 00 Yupnn b dquibk qpogh, pwjg 2wppp
gniquibin $1hGh;: Npybu oppGwy nhunwnytlp wjuytu Ynsyuo
hwpinGhy 2wppp

1 I 1 1 1
D—=lt ottt —+o
o n 2 3 4 n

8n1jg wnwlp, np wju 2wppp nwpwibtn b, sGuwjwd, np

. .1
limu, =lim—=0
n—oo n—w N

bpnp” hwpdnGhy pwppp gptilp vh phy dwipwdwulnpti

1 1 1 1 1 1 1 1 1 1 1
I+—+—F—F—-F+—F—F—F+—F.+—+—+.+—+..
2 3 4 5 6 7 8 9 16 17 32
E,_/
2 4 8 16
QOwlwqotiph vt Yytingqwd wlnuiGhphg jnipupwlsjnipp
thnfuwphllp wyn fudph Jtpohl wlnwiny: Wnwhuny, dkip
YthnppwgGtilp pupph dwulGwyh gniwpp b YnGGulp

r 1.1 1 1 1 1 1 1 1 1
l+—+—+—F—t+—+—F—+— .+ —+—+..+—
2 4 4 8 8 8 8 16 16 32 32

2 4 8 16

1 1 1
qud 1+—+—+—+...:
2 2 2

Uju Gnp pwpph n-pn dwulwlh gnudwpp, npl wybtih thnpnp
E, pwl mpjwd hwpinGhy pwpph dwuGwyh gnudwnpp, YniGhGw

1
htimlyw) wnbupp Sn=1+5nh n-p wiytipgnpjul dqutynt nhw-

pnid , Sy-p GnijGutiu Ydqunh oo : {tmbwpwn, hwpdnGhy pwpph n-
nn Ywulwyh gnudwpp GniyyGutiv Ydqup oo: UjuhlGpG hwupinGhy
owppp nwpwdtin b UGmd E Gphp, np hwpinGhy wppp Juplnp
(pwlwynipjnG mGh pwppbph wnwpwihnnpmGl nundlw-
uhptijnt dwiwlwy:
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TOOGU U GUPUU OB 1Y CULRPEP
NhQUUPSNh O30 U FUJ ULUL O3S0 U
NUBSUUPCULE?

1. 2mqudunmpjuwl hwdtdunnnmpyul huwjumwGhn
Glpwnptilp, mGhGp tpim npuwjwl wlnuwdiltpny Jwnpptin
u1+u2+...+un+... (1)
Vitvot. vt 2)
Upw(g hwiwp wnjuw k htmbywy wlnmudn:
Ohnpbd.-Gpt (1) pwpph wlnuiGhpp sa6 qtipwquignid (2)
wpph hwiwywwunwuhuwl winuultphG, wyuhGpl
U, <y (3)
L (2) pwuppp gniquitn t, wyw qniqudtn t Gul (1) puppp: buy
tipt (1) puppp mwpwdtn b, wwyuw (2) pwppp GnyylGytu mwpw-
dtin E:
Uuuugniyg.-GywGwltp (1) pwpph dwulwlyh gqnudwpp S, huy
(2) pwpph dwulwyh gnmiwnnp o,

Sn=Zui;Gn=zn:V‘
i=1 i=1

(3) wwydwlhg htmlmd k, np S, <o, : 4)
Luwlh np (2) wppp quuquitn £, wyw lime, =6 L wyb

wwjiwbhg, np (1) L (2) pwpptpp gpuyul wlnwilGtpny GG,
htimlmu k£, np 6, <o L (4) wihwjwuwpnmpjul hwiwdw)i S<c:
Ujuyghuny, dkGp gniyg wmytghlp, np S, dwulwyh qgni-
dwpltipp vwhdwlwihwyyuwo GG Ytpthg: Lwlh np n-h wddwl
htim Yhwuh( S, dwulwyh gmiwpp dnGnnnG wend b, wwyw wjl
niGh vwhdwG limS, =S, pln npmd wwpq £, np S<c L ptnptivh

wnwohl Ywul wuywugnigywo t:

<phiw wgGtlp ptinptdh tpypnpn dwuh wywgnigdwn:

Cuw pinptdh wwjdwGh, (1) pwppp mwpwibtum E: QGw Gw-
Guwlynud k£, np LiLQSn =o0 Juu qnympjml yniGh: Lwlh np 6, dwu-
Gwyh gnuiwpGtph hwonpnuwlwlmpinilp dnGnunnG wdénn L,
wyuw, pun (4) wihwjwuwpnipjwl, n-h wlytpenptl wddwb
htimn vhwuhl o,-p wnwyt Lu Ydquah oo: Qw Grwlwynwd t, np (2)
wnpn GnijGuybu mwpwdtun k:
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OphGwlGep. — {wdtdwunnipjul  hwjnwlhph oqlimpjuip ht-
wmnwqnutip htimlywy Jwpptiph gnigudhunnipyniin
1 1 1 1

n:ln__
=2 1 1 1
2.y — =14 — 4 — 4
; n \/E ﬁ
Unwohl pwppp hwibdwwunblp i%=1+i+i+i+...

o 2 2 20 2f
qniquitin tpypwswhwlwl ypngptiuhwjh wpph htin: Glwwnp

niltGwny, np

n

! Szin, pun hwdtdwunnmpjub ptinptidh wju

2uwnpp YihGh qmquidbtn:
Gnypnpn pwppp hwibiwnbGp hwpinGhy pwpph htw.
1 1
—<—=:
n Vo

Llwnmh mbbiwmny wju wihwjwuwpmpinbp, pun hw-
vtdwwnnipjul hwjmwGhoh,mpjwo pwppnp GniyyGubtu YihGh nw-
pwibim:

JwpdmpjniGGhp

LwibdwwmnipjuG hwjnwbhph oqlnipjudp htimwgnunty
htimlyw) npuywl winuwiGbpny pwuppbph gniquihwnnmpjniln:
1 8 1

1. + +..+ +...
/n2 /n3 /n(n+1)

.M. W . T
3.sin—+sm—+...+sin—+---
2 2n

) n=1 n2 _4n+5
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1 1 1

7. —+=+ +...
25 n’ +2n

8. l+1+...+ ! +...
2 5 3n—1

Unwlg wuwgniygh phptlp pwjwpwpmpjul dh pwGh
hwjmwGhpGtp Lu:

2. tuwqudpbph huwpmwGhsp

Phnpb.- Yhgmp, npuul wlnudGhpny YTz Tt e
ouipph (n+1)—nn L n-pp wlnuwilGtph hwpwptpnipjniGp n-p, ©

dquatijhu, dquanid | £ ytipowynp vwhdwGhG, wyuhGpl Inlgg% =/,
wyn nhiypnud’
1. Gtpht /<1, wmyuw 2wuppp qniquibun t,
2. Bpb />1, wyw pwppp mwpwitm k,
3. tpt /=1, wyw 2wpph gqniquihwnnipjul hwpgp
dmd t wlnpnp), wGhpwdtpm L jpugnighy
wuwjiwG:

Uw GpwlGwynid E, np tpp  ¢2=1, wwyw 2wppp Junpnn L 1hGg
hGswtiu gniquidtin, wjlybu £ mwpwdtn: Liwl nhiypnd hwp-
gh ytipeGwywl niomuip ywwhwbond L jpuwgnighy hbmwgnunip-
JnGGhn:

OphGuGbp 1. ii:1+i+l+l+...+i+...
w n! 20 30 4 n!
1 1
“n! 1-2-3--n
1 1 1

Uml:(n+1)!:1.2.3...n(n+1) n!(n+1)

|
lim et~ im— ™ im - —0<1:
n—eo un n—e n!(n+1) n—e I1+1

htnmlwpwp, mpjwd Juppp qniquibun t:
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2. =—4+—+—+..+ +..
—mn+l 2 3 4 n+1
n n+l1
un: n+l_
n+1 n+2
1+2+ 1
2 2 —+—
. u . (n+1 . n"+2n+1 . 2
lim —+! :hm( ) = lim—; =11mn—2n:l:
n—o un n—)oon(n+2) n—o 1 +2n n—o 1+7
n

MptdlG Fwjwdptinh hwjmwlh)h oqlnipjuip wju pwpph
qniquihnnipjul dwuhlG hbnlmpml wlb] sh Junpbh, pwgg,
oquytiny qniquuihunnpjwl widhowlywl vwhdwlniihg, unpth

1 1 1
E gniyg wmwy, np pwuppp gniquibw £ bpnp —— = — —
nn+1) n n+l1
L S, dwulwyh gmuidwpp Yupbh L Ghpluywuglbg
r 1 1 1 1 1

S, =l-—+———+——-—+... - =1- wmbupny:
2 2 3 3 4 n+1 n+1
limS = lim[l _ 1 1) = 1: Miptdl QJwppp gqniquibu t:
n—ow n—ow n+
© n 2 3 n
4. 22—:z+—+2—+...+2—+...
n=1 N 1 2 3 n

=2>1:

n—oo 1] n->® 1 +1

Ltumlwpwn, Juppp mwpwibtun t:

3.Unpph hwyjunGhon
Ptnpky.- Yhgnip, u, +u, +...+u, +..ny puguuwul wlnud-

(tpny 2wpph hwdwn gu, dtonmpnilp, tpp n—co milh Ybhpow-

ynp ¢/ vwhdw@, wjuhGpG lim yfu, = /¢, wjn nhypnid’

1. Gph <1, pwppp gniquitin t,

2. Gpt ¢>1, puppp mwpwdtn k&,

3. Gpt /=1, wyuw wpph gqmquihmnmpjul hwpgp dGmd k
wlnpny: Uj6 motym hwdiwp wGhpwdtpm GG jpwugnmghy
htimwgnunmpjnGGtp:
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1 1 1 1 1

OphGwlGbp 1. nén“ = 1+2—2+3—3+4—4+...+ =

¢ =limy/u, =limn‘/ 1n =liml=0<1:
n—ow n—ow n H*)oon

Ltwnlwpwp Unphh hwjnwGpoh hwdwdw;G, puppp qniquibun t:
- (2n+1)“ 3 (5)2 (7)3 [2n+1j“
2. ==+ |=| +|=| +..4+ +
mi\ N 1 2 3 n

¢=limgfu_ = limy (2‘”1) _lim 22 oo

+..

n—o n—oo n n—oo n

MptiG wppp wwpwitn b Clghwlpwwbtu gniyyg L
wnpynmd, np Gpb Ftwjwdptiph Jwd Unphh hwymwlhyGbphg dbyp
qniquihwnnipjwl hwpgp pnnlnud L wlnpn), www djnwp
(injGutu pnnlnud £ wlnpn, L w6 Yhpwntp wihiwun t:

4, Gnphh hGmbonuiuhl huwjumwuGhyp
Ohnpby- GGpunpblp, u, +u, +..+u, +..quujuwl winuiltpny

owpph  wlnwidGbpp  dnGnunG  GJugmd GG, wyuhlpG
u, 2u, 2u,.., limu, =0L nhgmp y=f(x) wjGwhuh dnGnunG

Guqnn whpGghwwnm pniGyghw t, np f(1)=u;, f(2)=u,, ..., f(n)=u,
Ujn nhypnud’

1) Gpt I f(x)dx wGhuyulywl hGnbtgpuip qgmquibtn b, wwyw
1

nnyuwo pwnppp GniyGuybu gniquidbun k.
2) Gpt wju hGunbgpup mwpwdtn t, wuyw Jwppp mwpwdbn k:

|
Ophlwly — 8njg mwlp, np Z—p 2wnpn qniquitin E, tpp p>1 L
n=1 n

mwpwitn b, tpp p <1: Qwpuwdptph hwymwGhp wju pwpph
gniquihwnnipjuG hwpgp pnnGmd b wlnpn) (€ = 1): Uhpwntlp

1
Unphh hGutigpupwjhG hwjnwGhyp wtnunptny £ (X) =" Uju
X
Inllghwl pwwpwnmd £ ptinptidh popnp wuwydwGGtphG:
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b

1

£ d

) X .

= =/fim|— =/¢im{1-p
IXP baoolxp bowo

I-p

L (b 1) tppp#1

1 1 p
fnx|:’: /nb,ippp =1:

d 1
Gpt p>1, J-X—): = E wlhujwlwl hGntgpup gqnquitn k L
1

htimlwpwn, pwppp GnyyGubiu YihGh gnqudtm: Gpt p <1, wyw
]zi—i( hGumbtgqpuipn hwjwuwnp b wGytpgmpjuwl, hGnlwpunp,
ownpn mwpwibn k:
Ujuyhuny, in—lp ouwppp gqniquitin k, tpt p>1 L wnw-
n=1

pwibwn k, tpt p <1:

Uju Juplnp wpynilpp hwdwju joqumuagnpdyh YnbGyptin
pywjhG wppbph gqmquihnmpmiGi numdiGuuhpm  dw-
dwlwly: Uyuybtiu opnhGuy
ii = 1+L+L+L+...+L+... owppp  qniquitin Lk

bt n> 72 32 42 n> >
npnqhbulh p—2> l:

1 1
Z =1+— +...2wppp wwpuwdtn b, npny-

= n fﬁf

hhmhp—l<l'
S<l:

Ubh RUUH oNoNvldqUuv6rh $NFCEShULE
orprouuave 64 UUSUULAMNILEL

Uhlsy wjdd dtlp nmumdlGwuhpmd EhGp dbYy thnthnfuw-
Jwlhg Ywhywo dpnlGyghwlltp: Fwjg wypwliuhljwjnd wwm
hwdwfu hwlnphymd GG wjluyhuph nbtwyptp, Gpp nhwnwpyynn
dtompjul ($nilGyghwyh) thnthnfunipynilp Jujugwo t {hGnd nyg
pt Uy, wy dh pwlh dkompymGGtph (wpgnidtGubtph) thnhn-

fumpjmGGhphg:
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Ophtwy 1. Nunullyul dwybptiup hwjwuwnp L Gpw  sw-
thnuiGtph wpnwnpyuihG’

S
y S=xy

X
Q.0. 44
Ujunbn niqnuGljuwl dwytptup Junpbh b hwdwnpt Gpynt

thnthnfuwwGGtph $nilGyghw: S(x,y)=xy
OphGuwly 2. innuGlyjnG qniquhtinwGhunh owwp hwjwuwnp k

(pw swihnuiGtph wpumwnpywihG:

V=xyz

Q0. 45

Ujuntn gqniquhtinwGhunh owjwip btptp thnthnfuw-
JuGGtph $niGyghw t: V(x,y,2)=xyz
OphGwl 3. 9nny - LulGgh optiipp wpmwhwjnnd £ wigwwnynn
otipdmpjwl pwlwlyh Jwpjwonmpymbp hnuwlph ndhg,
hwnnpnmuwjwnh nphdwnpnipjnilihg b dwiwlwyhg Q=0,24I’Rt:
Ujuntn Q-G GnyylGubu tptp thnthnjuwlwGGtph $niGlyghw
k: UjGnithtnl mmwbp dh pwGh thnthnjuwlwGGtph $mGyghuyh L
ytipohGhu npnydw6 wmhpniyph vwhiwlnudn:
Uwhdwlnd 1 Gpt x, y, z, ..., t hnthnfuwuwGGtph wpdtpGtph
Jmpupwlsnip puqimpjulp hwiwywunwuhnwind £ u thnthn-
fuwwbh npnpwyh wpdtp, wumd GG, np v -G X, y, z, ..., t
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thnthnfuwluwGGiph $nmGyghw £ L wyn uwwlgnipjnilp plnhw-
Ginip dLny qpnud GG htnlyw) Yhpy

u=f(x, y, z, ..., t):

Uwhdwlmd 2. x, y, z, ..., t hnhnjuwwGGtph wpdbtpGtph wyG
pwquinipjnilp, nph hwdwp gnympniG mGhtG vu-h npnpwyh wp-
dtipGtip, Ynyymy E pnGlghwyh npnpiwl wmhpnyp b GuwGwlynid
L D mwnny:

Uwulwynpuwywtiu, dwipwdiwul nunibGwuhpblp bGpynt
thnthnfuwlwGGiph $nGyghwbtpn:

z imhnjfuwwlp Yngymd £ x b y thnthnfuwwGGtph $nGy-
ghw, tpt (x,y) wpdtpltph jnipuwpwlsnip qnijghlG hwdiwww-
nwufuwlnd £ z-h npnpuyh wpdbp: (x,y) wpdbtpltph qniyqbph
wjn  pwqimpinilp Yngynd Lz pnllighwyh npnpiwl Yuwd
gqnjnipjwl mhpnyyp:

z=f(x,y) tpynt thnhnjuwwbh $niGlyghwyh npnpdwl wnp-
nnypp hwppmpjwl Yanmbph puquinp G £: Uwuluwynp ghypnd
wjl Junnn £ 1hGh wipnng hwppnipnilpn: dnillyghwjh npnpdiwb
wmhpniypp uwhdiwlwthwyng ghon Yngynd k iqpuigho:

Shpnyph igqpuqohl syyumiulnn Yhnmbtpp Ynygymu GG Ghp-
phG Ybtwmbtp: UjG whpnypp, npp punugwo bt dhwjG GhpphG
Ytwnbphg, Ynyymd £ puwg wmhpnyyp: Gpt wmhpnyphlG G0 www-
Jwlnd Gul igpuqoh Yawnmbinp, wyl Yngynid £ thwl) wmhpnyp:
Ujumgliu ophbnady .

1. z= x*y* $mbyghwl npnpywd b (x,y)-h gulluguwd gnijgh
hwiwp: Miptdl Gpuw mhpnypp wdpnne xoy hwppnipjniGG k .

2.7 = $nlGyghwl npnpywo £ wiklniptp, pugh y-x=0 juwud

y—X

y=x nunh jtnbphg.
3. z=+y4—-x’ -y’ Pmlyghwl npnpqwd t shwyl x Ly thn-
thnfuwluwGGtph wjl wpdbplbph hwdwn, npnlp pwjwpwpmd GG
x* +y? <4 wlhwjwuwpmpymbp: UyuhlGpG z $mGyghwyh

npnpdwl mhpnypp R=2 jwnwyhnny ppowl E, nph YhGupnGp
qubymd L ynnpphGuumuwlul uyqpluitnmmd Ghpwnjw; Gub

x> +y® = 4 powlwqdh Yhwnbtipp (0.46):

128



9-0.46

Gk oNONIvUGULLE R DANFLGShUSH
crargoudolalisv UG VURU UM SRG

Qhunwpytlp  z=f(x,y) bmlGlyghwG: Uw  $nilGyghwjh
pwgwhwjm wmbtupl £, huy wlpwgwhwjmn wmbtupp htimbyuyl t
F(x;y;z)=0:

A

V4

Q0. 47
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Glpunptilp, mpwd dniGyghwl npnpgwo £ D mhpnypnid:
D whpnyph jmipupwiyjnip P(x,y) Yumphl jhwdwwywmwufuwGh
uh z, npp pwjuwpupmd b z=f(x,y) hwjwuwpiwln: UpgynilGpnid
nwpwonipjuwl vy Junwlwlp M(x, y, f (x, y)) Ymbph tpypw-
swhwlwl wbn, npG, hGywtu hwjynGh L wGwihnhly Gpypw-
sunthnipyniGhg, hptiGhg Gapuyuglmu k dh dwytplnygp (qo. 47):
Wyuwhuny, wdtlG dh Gpym thnhnfuwlwGGiph  $mGlyghwjhG
nwpwonipjuwl vt9 hwiwywwmwuhiwlnd £ dh dwytplnyp, npp
Ungynud £ Gpw gpuidhy:

Gralk oNeNlvlauUcverh $NRFLGShU3D
UUUUULU 1R ULLGASUSNMo 3L

‘Lwfu owlinpwlwlp vh yuplnp hwuljugnipjul htwn:
Mo(xo, yo) Ytwh r- ppgwluyp Yngfmd b popnp wyl (x,y)
ytwntinh pwqunipjniGp, npn(p pwjwpwpnid Ll

\/(X - X, )2 + (y -Yo )2 <r wlhwjwuwpmpjulp, wjuhlGpG wjl
ytwmbtph puquinipjniln, npnbp qulynid GG Mo(Xo, Vo) YaGunpnGny r
ywnwyhnny ppowbh Ghpumd (qo. 48):
A
Yy

\ 4

Q0. 48

Glpwnntilp, mpJwo L z=f(x,y) $nilGlyghw, npp npnpywo L
xoy hwppnipjwl D wmhpnypnd: “GhwnwpybGp D whpnyph dh
npnwlih Mo(Xo, yo) Ytinn:
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Uwhdwlnd. - M(x,y) Ytnp My(Xo, yo) YtimpG dqubint dudiwGuly
A phyp Yngynud k f(x,y) $nilGyghwjh vwhdwG, tpt jnipupwlyjnip
e>0 pyh hwdwp Yupth £ Gy wyGwhuh >0 phy, np wmtnh
niGkGw |f(x,y)—A| <¢ wlhwjwuwpnipjnilp, htlg np wmbnh L
niGtlnud ‘M_Ol\/l‘<ru1(ith[u1uLupmp_]mﬁQ: Gpt A phup f(x,y) —h

uvwhdwG6 £ M(X,y)-n My(Xo, yo)-hG dqutijhu, wyw wjn qpmd LG
wjuybu  /im f(x,y) = f(xo,yo): CGn npmd M(x,y) Ybtwp
M-M,

dqunid £ My(Xg, yo)-hG judiwjwyuwl tnuGuyny, dhpm dGuny
dnGyghwjh npnpiwl wmhpnyph Ghpund: Wjuwhuny, npybugh
f(x,y) PpnlGyghwG (hGh wlplnhwn  My(Xe,yo) Ytinnd,
wlhpwdbym b, np mtinh nGEGw( htmlyw] wuwydwGGtpp
1. f(x,y)-n npn2qwd 1hGh Mo(Xo, yo) Ytinh zpowljuiypnid,
2. f(x,y)-n ywtwmp £t nGthGw vwhiwl M(X,y)-np Mo(Xo, Yo)-hG
dquatijhu,
3. wyn uwhdwlp whwp L hwjwuwp 1hGh f(x,y)-h wpdtiphG
My(Xo, Vo) Ytimm:

Gpt f(x,y) dnllyghwlG wlpGnhwwn £ D whpniyph pninp
Jantipnud, wyw Gw Yngymu £ wlplnhwwm wyn mhpnyypnd:

GrYF oNONIvUGULULELNY DAFLGSPULE D
vuvuvugh Uouvs3suLverv Nk vuvviyah
1hDELELShULLEL?

Qhunwnpytlp  z=f(x,y) $pmGyghwl, npp npnpqwd L
wplnhww £ D wmhpniypnd:
z dnGyghwjh dwulwlyh wd Yngynd £ wjl wdp, npp Gu
unwnud £ wpgnuitGunGtphg nplk dEYhG wd mwn dwdiwGwy.
Az=f(x+Ax,y) — f(X,y)
Ayz=f(x,y+Ay) — f(x,y)
Uwhdwlnd.- z=f(x,y) $mGyghwjh dwuGwyh wowlgjuip, puwn
npllt  th  wpgmitlwh, Ynyymd L Gpw hwdwwywunwufuwG
dwuliwih wéh U wyn wpgmiblwmh wdh hwpwptpnipjuwl
uvwhdw(p, Gpp YytipohGu dquunid £ qpngh:
Unwohl Jupgh dwulwlih wowlgjwltph hwdwnp plgniG-
Jwo E juumwpt) htnbywy GubwymuibGtpp’
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0z _ of(xy)
oox ox
Z, _ 0z _ of (x, y) =f;(x,y)
dy 0y
U Gutu np, pun vwhdwGiwb, Yunpnn GGp qpby
oz . Az .mf(x+Ax,y)—f(x,y)

—=f/im—=—=/1
8)( -0 Ax Ax—0 AX

0z im Az _ fim f(x,y+Ay)—f(x,y)
8}/ Ay—0 Ay Ay—0 Ay
Uwhdwlnuihg htmmlmd £, np th pwGh thnthnfuwyuwGGtph
InGyghwyh dwulwlyh wowlgjuilipp punm nplk dh thnthn-
fuwuwGh hw)ytihu wtwmp L djmu thnhnfuwwGatppn nhunwplybg
npybu hwunwnmGltn: Uyn yguwwdwnny £ pmbGlhghwih w-
owlgiwl JubnGGtpp WGmy GG GnyyGp hGs-np vEY thnthnfuwywih
I lyghwjh nhypmd, thwjl witl wiqud wytwmp £ hwyyh wnbty
pt nGyptn pun n°p hnhnfuwwih £ wowGgynmd $niGhghw:

oz 0z
OphGuwlGbp .-1. z=x"siny, — =2xsiny, — = x> cos
IphGwyGbp Y o y oy y

=f.(x,y)

2. z=x"+3x"y’ -6y, %=3X2 +6xYy°, %:9x2y2 -6
0x oy
3. z=xy,%=yxyfl,%=xy€nxz
ox oy

Udtl dh dwulwyh wowlgyuy (Gpt wjl nhdtintlghih L)
Juwnptih t hp htipphG wowlgt] pun jmipuwpwlsynip wpgnuitiGuh:

UnwohlG QJuwpgh dJwulwlh wowlgjwiltph dwulwyh
wowlgjuiltpp Ynyymd GG Gpypnpg Juwpgh wowlgywilGtn L
(pwlwyynud G hbnlywy Yhpy.

e
ox>  ox\ox

-al2)
oxdy Oy \ ox
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P2 _of(o
oyox x| oy

o’z _ 8 ( oz j
oy?  oy\oy

‘Liwl 4dund hwpynd  G6  Gpyme  thnthnfunuGGtpny
$niGyghwyh tppnpn L wytih pupdp jupgh dwuluyh wowdg-
0%z 0%z 0’z oz
axéyjéyéx’axayz aayzaxa
[uwpp dwulwyh wowlgyw)Gtin:

Unwlg wywgmgtint phiptilp dh pwih thnthnfuwuwGGtpny
dnlyghwjh fvwnp wowlgywGtph dwuhl ptinpbdp.

LOhnpby.- Swijugwd Junpgh fuwnl wowlgjuGiph wpdtpltpp
quwpuwo 6 wowlgiwl htppwlwlmpymGhg, wjuhlpG
0’z B o’z oz B 3z B 0’z )
ox0y Oyox  — oxdy®: Oyoxdy oylox
OphGwl.—SpJwo L z=£n(x2 +y2) $mGyghwG: 8nyyg wwy, np
(pw Gpypnpg Yupgh fuwnp wowlgjwGtpp hwywuwn Ga.

o0z 2x oz 2y

ox X2_‘_},2’ ay X2+y2

o’z _ —4xy 0%z A&y

axay (X2+y2)2 ? ayax (X2+y2)2 :

UGgGhlp dwulGwlh nhotipntGghwGtphG:

Uh pwlh thmpnfuwuiGltph pniGyghwjh dwulwyh nhdph-
phGghwiGtph qunuihwpp vwhdwlymd £ wyluytu, hGyubu vhy
thnthnfuwlwGh pmGyghwyh nhptiptlghwip:

Gpt Uty thnthnfuwljwGh $niiyghwyh nhptiptighwip uwh-
dwlymy E npytiu Gpuw wéh qiuwynp dwu, wwyw vh pwGh thnthn-
fuwuGGtph $nlGyghwyh dwubwyh nhpbptGghwip, pun nplk vh

thnthnfuwwGh, vwhiwlynd E npytu pun wyn hnthnfuwwGh
dwulwlh wdh qfuwynp dwu:

Jwiltpp: ‘LhLGp, np . Ungynud GG
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bpnp, pwh np @:ﬁmﬂ, www pun uwhiwGGhph
ax Ax—0 AX
Az 0z
=—+a,
Ox

npntn  o-G wltpe thnpp deOmpmG L:  UWjunbinhg

wmtiunipjwl hhiGwpwnp ptnptth, Jupbih © qpby

AXZZ%AX-}-OLAXZ
0x

Uju  wpnwhwjnmpjul dh dwumd qpwo L Gpym
wlhwdwnpdtip wlyting thnpp WhonipniGGhph gnidwp, npnyhtiml

d
aAx-p wytith pwpdp Yupgh wytpg thnpp k, pwb 8—2 Ax :
X

UwhdwGina.- %AX gnuiwnbihG Yngymd £ z pniGyghwjh dwulw-

yh wéh gqifuwynp dwu Jud dwulGwlh nhpbptGghw pun x wp-

gnuitinh L Gulwlyymd £ htmlywy duny d,z =%Ax =§—de :
X X
Liwb dlny dyz =%Ay =@dy :
oy oy

Wuwhuny, $nilGlyghwih dwubGwyh nhpbpblghwip, puwn
nplt vh thnhnfuwwGh, hwjwuwn £ Gpw dwulGulyh wowGgyuih
L wyn hnthnfuwwGh nhpipklghwih wpmwngpyuhG:

Oppiwl.- z= /(x> +y?): QunGly wyu $niGhghuwyh SwuGwlh

nhdtiptiGghuw Gipp.
dz= %dx = 22x sdx, dyz= %dy = 22X —dy:
ox X“+y oy X“+y

DNRCGShUSBH Lrhd U2 6 Lrhd
1IhDErELShULL

zZ= f(x,y) PniGyghwyh phy wé Ynggmd £ wylG wdp, npp
(w vnwlmu £ pnpnp wpgnidtGumGiph thnthnfudw 6 htnbw Gpny.
Az=t(x+Ax,y+Ay)-f(X, y):
‘Lptilip np pghwlnip nhiypnd pniGlyghwjh phy wdp hw-
Jwuwnp sk Gpw Jwulwlh wdtph qnudwnhl. Az#Az+Az:
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Gpt z=f(x,y) Pnilyghwl mnmGh wGpGghwn Jwulwyh
wowlgjwiltip, wyw Yuwnbih £ gnyg wnwy, np Gpw phy wéh

0z 0z
wynp dwup, nilh — AX +— Ay mbupp:
qfuwynp dwup, niGh o o y mtiupp

Uwhdwlnd.- Tpphy wdh quwydnp dwup Yngymd E o oppyg
nhptinkiGghw L GubGwyynd dz: UjGwytu np, pun vwhdwGdwG

dz=%Ax+%Ay:%dx +%dy:
X

Ox oy oy
0z 0z

Lwlh np a—dx N 5dy dwulwyh nhtptlGghwltp &G,
X

Jwpnn GGp qpty dz=dyz+dyz: UjG $mGyghw, npG niGh phy
nhytptiighwy, Ynsyymd L phyptptlgtih: Spwo Yhmnd G-
ghwjh wlplnhwnm dwulGwih wowlgjuilGtph gnynipynilp nhob-
ptilGgtihnipjwl pwjwpwp wuwydw k:

Ub LULH oNOoNvUGULLELh $NFLUShULE P
ERUSPEUNRULE

Uwhdwlngf 1.- Uunid GG, np My(x1,y) Ytwp z=f(x, y) $nmlGy-

ghwjh dwpuhuinudh Ytan k, bpt wyn Ytnh opgwljuyphg Ytpgpwuo
guljugwo M(x,y) Ymp hwdiwp wnyu b f(x;,y)>f(x,y) wGhw-

JwuwpnipjniGn:

zA

Y2

vy

X,

&\«

Q0. 49
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Uwhdwlmd 2.- Uund GG Gul, np Ma(X, y2) Yhunp z=f(x, y)

dnlyghwyh dhGhunudh YwnG , tpt wyn Yhwnh pgwluyphg
Jtipgpwd jnipupwlgnip M(x, y) Yenh hwdwp - {(xo, y2)<f(x, y):
dnGlghwih dwpupimdbGipp L dhGhdmuiGipp dhwuhG
Ungynid GG tpumpbtimdGhp (qo. 49): bnmlGyghwyh wpdtipltpp
Epumptiinudh Yhumtipnud Yngynid GG EpumptidnudGhp:
Qhgnip, mGhlp z=f(x, y) nhotptGgtih $niGyghwl: UnwGwlp
wjl wihpwdtym wuwjiwbbGtpp, npnlGg nhwypnid wyG  My(Xe,yo)
Ytwnnid hwulmd E Epunptidnuth:
Ohnpliy.- (Epunptdinudh qnjmpjul wlhpuwdtym wuwydwGGtpp):
Gpt z=f(x, y) dnllyghwlG My(Xe, yo) Yumnud niGh tpumpbttinud,
wwuw (pw dwulwyh wowbgyuGhnl wyg Yhnmd hwjwuwn GG
qnnjh Juwd gnynipynil yniGhG

%) =0, % _=0:
0X ) sy, oy ) v,

Uupuugniyg.- Glapunntlp, z=f(x, y) nillyghwul My(Xe, yo) Ytmnud
nilh Epunpbidinud: y thnthnfuwljulhG wnwlp dh npnpwlh y=yo
wpdtip: Npwbugh f(x, yo) —G, npwtiu 4ty thmhnfuwlwbh $niGy-
ghw, mGblw Epumptiinud, x=x, Jtnnud, wihpwdtiyn £, np Gpw
wowlgjuip hwywuwp 1hGh qpnjh jwyi gqnympjml GG,

wjuhGpl (%j . =0:
0X )y,

Liwl duny, tpt x thnthnfuwlwlhG nwlp npnpwlh x=x,
wpdtp, Junwbwbp f(xy, y) vty thnthnfuwwbh $mbGlyghw, npp

0
y=yo Yivnmd niGh tpunpbdnd: Lywlwlymy t [gzj o, =0 Juud
qnympjnil yniGh:

Uwnwguwlp wyG, hGy; wwhwloynid tp wywgnigt:

UG Yuntpp, npnlgnid z=f(x, y) $niGyghwjh wnwohl Yunp-
gh dwulwyh wowlgyuiltpp nunind GG qpn Juwd gnympjnil
snilkl, Yngynud G0 Yphnhhuwlwl jud vnwghnGun Yanmbp: Uju-
whuny, upjwoe z=f(x, y) nbyghwjh Yphnphuljub Ynbkpp
qulbtnt Gyuwwunwyny whtwp L hwjwuwnpbkglt] qpnjh Gpw wnw-
ohG YJwpgh dwulwlyh wowlgjuGtpp % =0, % =0 L moly
unwgyuwd tpynt wihwjynny tpynt hwjwuwnpnuiGtiph hwiwywn-
qn:
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Gralk oNONIvUGULLE R DNFLGShU3P
ERUSAEUTIFUD Q-N3NMo3U L AU UrUIMI3U L
NU3UULLE

blswytu vty hnihnfuwlwlh PnbGlyghwjh hwdwp, Epunnt-
inuih gqnymipjuwl wlhpwdt)mmpjuli wuwjdwlp pwjuwpwp sk,
wjuphlpl’ tpb nput dh Yonmd wnyw G0 wlhpwdbyunnmpjul
wwjdwbbtpp nuw nhn sh Gwlwynd, np wyn Ytnmbpp Epunnb-
unwih Ytinm GG:

Uh pwGh thnthnjuwuGGtpny $mGyghwjh Epumpbtivnudh
gnjnipjul pwjwpwpnpjuwl wwjdwbltpp punm wytih pupn GG,
pw( vty thnthnfuwlwbh $nbGyghwih hwiwp: Uyn yuwumdwnny
wnwlg wwywgnijgh pbptilp wyn wyuwyiwbGtpp tpynt hnthnfuw-
JuGGtpny $nbGyghwjh hwdiwn:

Qhgnip My(Xo, Yo), Jonmd z=f(x,y) $niGyghwjh dwulwlyh
wowbgjwbGtipp hwjwuwp GG 0-h, wjuhGpl

(%j =Oh(ﬁj =0:
OX )y, Y )y,

Mo(xo, yo) Ytinnud  hwytlp HniGyghwyh tiplpnpy fupgh
dwulwyh wowbgjultpp L GQuGwytlp

2 2 2
),
ox M, Ox0y ", oy ",

Ujn nhwypnud’

1. tpk AC-B>0, wuyuw z= f(x, y) nillghwl M(xo, yo) Ytinnid
niGh Epunptdnd, pln npmy Jwpuhdmd, tpp A<O L
dhGhdnd, tpp A>0,

2. tph AC-B’<0, wuyu z= f(x, y) $nillghul My(xo, yo) Yhinnid
Epunptdnd smiGh,

3. tipk AC-B’=0, wuw $nilyghwjh tpunptiinuih hwpgp dGnud E
pwg L wuwhwloynmu k [puugnighy himwgnunipjniG:

Opplwl.- Qnll] z=x>-2xy+2y*-4x+6y+10 $niGyghwjh tpunpt-

dw] wpdbpGtpn:

Loionud- QnGtlp Yphnhjulwb Yembipp'
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%:2x—2y—4, %:—2x+4y+6,

0x oy
2x-2y-4=0
—2X+4y+6=0

Lmotny wju hwdwlwpgp Juunwlwlp x=1 L y= -1:
Ltwnlwpup, (1, -1) Yawnp Yphuplulul Yo t: Qwpytlp bplpnpn
Jupgh dwulwyh wowlgjuwGtnh wpdbplbpp wyn Yhnnmu:
8222‘ 622_2,224:
ox’ Ox0y oy’

NRptdG A =2, B=-2, C=4, AC-B*=2- 4- (-2)’=4>0:

Ltwmbwpwn, (1, -1) Yawmp Epunpbidimdh Yhw £ Lwlh np
A=2>0, mptdl wyn Ywnp dhGhinih yn kL

Zin=12-2-1- (-1)+2-(-1)*4-146-(-1)+10=5

5 .

LvdUUaNrF3v - LRUNUGNMNIPLE P UGN

Uh pw6h thnthnfuwlwGGtph $mGyghwjh Epumpbidinuih
gnpoGwlwl YphpwnmpmbGGhiphg vkylG bt GJuqugnyl pwnw-
YniuhGhph dtpnnp:

Glpwnntilip, phGs-np thnpdh Yuwd phwnudlhph dhengny
unwgymu £ x Ly thnthnfuwywGGiph dhol tnuo Juuwlygnip-
JmGp wnynuuuyh mbupny L wwhwoymy t pniGlyghnGwy Ywfu-
dwl wnyniuwlwjhl mbtuphg wiglt; wlwihnhy (puGwalwjhb)
wbtiuph, pln npmd, tpt nqw hGwpwynp st Juwwmwpt] 62qnphw,
wyw wfuwwmnny GG jumwpb] dnnwynpuytiu:

Unjyniuwy 1
X X1 X3 X3 Xn
y Yi Y2 ¥3 Va
‘thgmp, Mi(xi, y1), Ma(X, y2), ., Ma(xn, ya) Ytnbipp

tnunwynpuytiu nquuuwynpjuwod GG vy nmiqnh ypw: dFrw Gw-
(wymd E np x L y thnpnjuwluwGGtph dhol Gnuo Juuwlygni-
pjnilp dnwn k qowjhGhG Y=ax+b:
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a L b wlhwjn wwpwdtwpbtpp pGunptlp wjluybu, npytiugh
Y=ax+b ninphnp nppwl hGuwpuwynp b dnn wlglGh nmnnuGyniG
ynnpnhGuwunuwul hwiwjupgmd junnmgwo M, M, Ms,..., M,
YtwntphG: x; younnmd (Yi-yi)) mwppipmpjuln wijuwlklp ptnnud,
npntin Y=ax;+b, hul y;-G pniGyghwjh thnpdhg uvnwgwuo wp-
dtipG t, npp hwdwwywwnmwufuwGnd t GnyG x; YhnhpG:

LyuquqgnyG  pwnwynuhGGaph  dkpnnh tmpymilp
htnlywyl £. Y=ax+b npnlhih ninpnp plGupt] wylwtu, npuytugh
(Yi-yi) tinnuiGtiph pwnwynmuhGtph gnudwpp (hGh thnppwgnuGn:

Ujuyhuny, a L b wlhwjm wwpwitnptpp npnpymd GG

n n

Z(Yi _Yi)2 = Z(axi +b_Y1’)2 = min wuwjiwdhg:

i=1 i=1

Lwlh np x; L y; hwunwwnnG deonipjniGGtp GG (hnpéh
wnnyniGpGtn), wyuw Ytpp Gpquo gnudwpp a L b wwpwdtumnpbtph
dnilyghw k.

Zn:(axi +b-y,)> =®(a,b):
i=1

a-G L b-G npnpbm hwGwp oquytlip tpynt thnthnfuw-
JwGGtph $mGyghwih Epumpbinuih gnympjwl wlhpwdtym
wwjdwbbtphg: Gunltlp q)(a,b) dnlyghwjh dwulwyh wowbg-
JuiGtpl pun a b b yuwpwitwnptph bW hwjwuwptgGhlp qpngh.

o zzn:(axi +b_Yi)Xi =0
=

Oa B
oo e
E—Zg(axi +b—yi)—0

Ltumlwpwnp, a b b Wwpwitwnptipp, npnlGg hwdwp ntinh £
niGbGnmd (ujuwagnyyG dnnwpynid (Yepp G2gwo hdwuwnmny), Juptih
E npnpt] unwgywd hwdwlwnpghg: Uju hwlwlwpgp Junptih L
gnty htimlyw) mbtupny.
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n n n
afo +bZ:xi = Z:xiyi

i=1 i=1 i=1

ln 1 ) 1 :
ain +bn = Zyi

i=l1 i=1

a L b dtompjmbGtph npnpuwl hwiwnp dhlp uvmwgulp
tnynt wGhwjmny tpym qow hlG hwjwuwpmuibGtph hwiwyuwng,
nnp Yngymd £ hwjwuwnpnuiGtph Gnpiw) hwdwlwpg: Opnptnyg
a-0 L b-G" Juphbih &t gmyg wwy, np CD(a,b)-[i wjn wpdtpltph
hwiwp hwulmd £ dhGhdnuih:

Stnunptny a-h L b-h wpdbtpltpp Y=ax+b hwjwuwnpiwb
utio dbklp Juunwlwlp wjl qowjhl pnlGlhghwl, npp (wuagne)l
duny t wpunwhwyunmi thnpdh uwd nhunoiGiph dheongny
unwgyuwo x by thnthnfuwuwGGtph dhol tnud Juuyp:

Gpt thnpéh wpnymGpGtpG wjGuhuhb GG, np vnmugyuo My,
M,, Ms;,..., M, Jtwmtpp Junmgtijhu GQwwumd Glp, nppuwig
dnnnwynp guwuwynpyuwonmpjnilin pwnwyniuwjhl wwpwpnih
Yypw, wyw x L y thnhnfuwluwGGhiph dhol tnud dnunwynp
Ywhuwonipnilp Yuptih b thGnptp Y=ax*+bx+c wntupny: a, b L c
gnpowyphglppn qubtym hwdwp, wju nphypmd wtwp L npnpby

Zn:(Yi -y, )2 :Zn: (axi2 +bx, +c—y, )2 = d)(a,b,c)fpmﬁllghuuh

i=1 i=1
dhGhinuin:

®(a,b,c) tptp hnthnfuwlwGitph pniGyghwyh ShGninugh
npnuwl huGnhpp hwlgmd b tpp wGhwymny tpip qowjhG
hwjwuwpmdbGtph hwiwlwnpgh podwa.

a) X! +bY X +eY X} =Yy,
i=1 i=1 i=1 i=1

aY X +bY+cYx =YXy,
i=l i=1 i=l i=l

aixf + bi:xi +cn =zn:yi
i=1 i=1 i=l

npuntinhg hwpynid GG a, b L ¢ ywpwitnptph wpdbpGtpn:
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OphGul 1. ‘VJyuquaqniG pwnwlymuhlbiph dtpngny uvwmwGwg
qowjhlG Jwuw fundynpGtph YtlGnwGh pwph L hwuwlh dhol:
OnpdGulul myjwGtpp pipwo GG httnbywy wnnuuynud’

Unjnuuwy 2.
Lwuwyp,
ety |0 |12 3 4 |5 e |7 |8
Utilinuih 13125139152 153(75(90]108]13.1
pwyn, Yq

Lniomdf- tondynpGph hwuwyp GuuGwytlp x, huy Yhlnwbh
pupp y: “Fhuwpyting wju pytipp nputu hwppmpjul Yhntph
UnnpphGuunGbp’ jupmgblp wyn Yhnmbpn (qo. 50):

‘Liwunmd tlp, np Junnigywo Yhwmbpp dnunuynpuybu
nuwuwynpjwd bl vty mnnh Ypw, npp dbq hGwpwynpnipyjniG
nwhu GGpunpbing, np x Ly thnthnfuwuwGGbipp juwywo ta
qOowjhG optiipny” Y=ax+b: a L b wuwpwitnpbtph npnpdwl hwdwp
oquytiip GJwquqni)G pwnwlinuhlGtph dtpnnh Gnpdwy; hwdiw-
Junghg.
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azn:xf + bzn:xi = Z“:Xiyi
i=l i=l i=l .

Yx +bn=Yy,

i=1 i=1

UWju  hwjwuwpnuiGtph b9 dwlnn  gnpowlhgltph
hwyyiwl wpyniGpGtpp Gyuwunwlwhwpdwp L Gepuywg bty
wnniuwlh mbupny:

Unjnuuy 3.
N Xi Yi x; Xiyi | Ve A
1 0 13 0 0
2 1 2,5 1 2,5
3 2 3,9 4 7.8
4 3 52 9 15.6
5 4 5,3 16 21,2
6 5 7,5 15 37,5
7 6 9,0 36 54,0
8 7 10,8 |49 75,6
9 8 13,1 | 64 104,8
> 36 58,6 | 204 319

Ltunlwpwnp Gnpdw] hwjwuwpmiGtpp YniGEGuwl hbnlgug
wbupp.

204a+36b=319
36a+9b=586

Lnwotyny hwjwuwpnudGhph wyu hwiwwngn, junwlGuwip
a=1,41, b=0,87:

Ujuwhuny, fundynplGtph hwuwyh (x) L Gpwlg Yulnubh
puph (y) thol tnwo npnGhh Juwp wpunwhwjmymyd L
y=1,41x+0,87 pwGwdalny: {wppmpjul Yypw (qo. 50) unmghlp
(wl wju nmnhnp:

OphGwl 2.- tlpwnptlp, thnpdh wpyniGpGipp wpjwo Gl
htimlyw wnyniuwyh wmbupny.
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Unynuuwy 4

0

1

1,5

2,1

3

2,9

6,3

7,9

10,0

13,2

Qunmghiny wju Yuwmbipp hwppnmpjub ypw, Yhwingytlp, np
npuip dnunwynpuwbu nuuuwynpuwo GG dh mnnp ypw: kw
(pwlwyni E, np x L y YmhnuwluwGlGtnph Jdhol bGnwo
YJuiuquonpnlp Jupbih © thGupkp qowghlG $niGlyghwjh
wmbupny’ Y= ax+b: Oquuugnpdtiny GJuquqgniji punwyniuhGtph
dtipnngp’ qulblp a L b wlhwjnm wwpwibtwmptpp: hGswtu
Gwhunpn opphGwyny, nw Guuwuwlwhwpdwp E hpugnpoty
wnjniuwlh oqGnipjudp:

Unjnmuuy 5
N Xi Vi Xiz Xi Vi Yp Ay
1 0 2,9 9,00 0,00 2,86 0,04
2 1,0 6,3 1,00 6,36 6,28 0,02
3 1,5 7,9 2,25 11,85 7,99 0,09
4 2,1 10,0 4,41 21,00 10,04 | 0,04
5 3,0 13,2 9,00 39,60 13,12 0,08
)} 7,6 40,3 16,66 78,75
Cunn wju wnpnuwlh Juqdtlp Gnpiw] hwjwuwnpnuiGbph
huduly 16,66a + 7,6b = 78,75
wdwlungp.
pan 7.6a+5b =403

Lonwoting  wjyu  hwdwlwpgp  Yuunwlulp
Ltumbwpwp, Y=3,42x+2,86=y,:

yp - dmGyghwjh pwlwdlwghG wpdtpG t, Ay- thnpéh
wprynmGplGtph  ptnnudGipG &6 wjyu  pwlwdlng  hw)uo
wndtipltinhg:

a=3,42, b=2.86:

JUrdrMo3Nh L LB

I. x Ly thnthnfuwuGGbiph dhol tnwo Ywhudwl thnpd-
Gyl nyjuGbpp Gipyuwyjugywo GG httnlyw) wnynuuwynd
143



Unynuuw 6

X 1 2 3 4 5 6
y 15 10 4 0 -6 -10

ClnmGhyny, np wju Juwwwlgmpinilp dnnnynpuwtiu
qowjhG L, OJwquqgniyG pwnwlynuhGph dEpngny npnpbyg
Y =ax +b mlGlyghwjh al b gnpodwyhgGtipp:

Muwu.” Y =-5,06x+19,87 :

2. Uhpwntiny G(Juquqgnyyi punwynmuhlGtph dtpnnp npnpt
y=ax’tbx+tc $mlyghwjh wlhwjm gnpdwlhgGhpp, tph x L y
thnthnfuwluwGGiph wpdtpltppn mpjwo GG htinlyw] wnmnuwlyh
wmbtiupny’

Unjniuwy 7
X 0,5 1,0 1,5 2,0 2,5
y 0,8 1,9 4,9 8,8 13,5

M. y=2,54x> —x+ 0,575:

3. Ljwquqni)G punwyniuhGtph depnnny qunGt htinljw) wn-
Jnuuuynid mpJwd SniGyghnlGuy Juwjudwl pwlwdalp y= ax+b
wmbtiupny.

Unjnuuy 8

X 1,0 1,5 2,0 2,5 3,0 3,5 4,0
y 0,1 0,4 0,4 0,5 0,9 0,9 0,9

Muwn. y=0,24x+ 0,01:
4. pniliyghwl mpywo £ wnyniuwyh mtiupny.
Unjynuwy 9

X 0 4 10 15 21 29 36 51 68
Y | 66,7 | 71,0 | 76,3 | 80,6 | 85,7 | 92,9 |99,4| 113,6 |125,1

Qunnighing wju Ytwmbpp, Juptih L hudngyt), np Gpulp
dUnnwynpuybtu nquuunpjuo GG minhn qoh Ypw: ‘LywqugnyG
pwnwynuhGiph dbpnnny qult; wjn qowjghG  $niGlyghwjh
wmbiupp:

Muwn." y=0,87x+ 67,5 :
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ERUSPEUNFULEh Gh UM Mo3UL Uh LULH
U rhLPUE 3NMUSLSEUUGU L
ursurrrMo3NruhS

dtpohl dwiwlwlylGtipu pninG puthny qupquind L dwph-
dwwhluwlwl dtpnnltnh Yhpwenipjnbp EynGnihjuynd L dwu-
(wynpuwytiu gmuquuninbuwiub tynGnihywjh fulnhpGbpp -
ot dwdwlwly: Fpwlp wpynmGuytwmnptl oquugnpoymd Gl
wnlnbumpjul pnnp plwquwyuwnblbpnd, Guuwuwnnd  hndph,
Gyniptinh, yuntihph, dhongGtnh mGmtudwln:

Thunwpytlp gmuuumbmbuwyui tynGnihlwih dh pwGh
fulnhpGtin,npnGg jmonudip Jwnpbih L wwy EpumpbidnuiGbph nb-
unipjwl oqlinipjudp:

I. “hgnmp mnmGhlp n Yuplwwwpwlpwihl $pbpdwlbp
M;(x;,yi), hwiwywunwunwlwpwnp m;(i=1,2,...,n) wpnwnpuph
pwlwynmpjnGitpny: Mwhwloynid £ wlghuwglt) vh dwlwuwph
wjlwbtiu, np wpmwnpuiph pwlwympnGGipp nghiyh wyn dw-
(wwwphp mtnuihnputijhu uwmwpytl shGhiwy owhuutin:

NpnGtih dwlwwywphh (ninnh) hwjwuwpndp thGupbGp
(inpiw] mbupny

X cosa +y sina - p =0,
npnbin o-0 ox wnwlgph L ninnhG nipnuwhwjwg ninnh shol tnuo
w66 E, p-G ninhnh htinwynpnipjniGp uyqplwlbnhg:

hGywtu hwymbh b, M;(x;,y;) Ytimh hinwynpmip jniGp mpguo
ninnphg npnpynud £ himbyuwy pwGwdalny d=x(x;cosa+y;sina-p):

Lwlh np ninh nhppp hwppnipjul Yypw pnpnpymd £ o b
p wwpwditnpbpny, ntunp thnfuwnpmibGiph ypw juunwpjuwo
owfuutipn Y1hGkG hwibdwnwwl htnlyw wpmwhwjnnipyuln

R(a,p) = Zim;i(xjcosa + y;sina - p) —
-Xomy(x;cosa + yisina — p),
npntn Z; hwiwyuwumwuhuwlmd £ wjG YtntphG, npnlp nuuw-
ynpwo GG mnnphg ybpl, hul 2-p° wylG YtwmbtphG, npnGp
nwuwynpywo Gl ninnhg Ghppli:

Mbtwnp & o b p wuwpwitnpbipp pGupty wyGybu, npybkugh
R(Ot,p)[hﬁh dhGhdiwy: (Mwunp qptlp Gpynt thnthnfuwyuGh
$nlGlyghwyh Epumpbidnidh gnympjwul wihpwdtyn wuydwGGtpp
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% = Z m, (— X, sina+y; cosoc) - szi (— X, sina+y; cosa) =0

R
PR IL RO I
Uju hwiwlwngh wnweohl hwjwuwpnithg npnptlp tga
sziYi _ZlmiYi )
22mixi _Zlmixi '

Lwiwlwngh tpypnpn hwjwuwnpnuihg nGhGp

m =3 m,:
1! 21

Loywlwybiny M = Zn:mi , huy (x DA ),
i=l1

K=tga=

N (X »Ye )-nllL hwiwywunwuppwlwpwp Ytnmbph wnwohl L
c2 2

tpypnpn  hwdwlwpgtiph dSwlpmpjwl YhGumpnGGiph Ynnpnh-
GunGlipp, Yupnn GGp qpt,

M M
Z]mixi :7X01 > Z]miYi :TYCI

szixi :%Xcz > sziyi :%ycz :
‘Llwwh mGEGuwny wju GuliuyndGtpp’ Jupnn GGp qpb
Ye, = ¥e
X, =X .

€2

K =tga =

Uju hwjwuwpmpjwl we dwup tpynt hwiwlwnpgtinh owG-
nnipjwl YalGumpnGGipny wiglnn ninnh whlniGwjhb qnpowyhgb
L: <Gwmlwpwn, npnGhih minhnp whwp £ myquhwjwg 1hGh Yhnb-
nh wnwehl L tpypnpny hwiwlwpgbph  owlpmpjwG YhaGunpnG-
(tpn dhwglnn mnnh6 b whglh wjn hwndwoh dheGwltinny:

2. thgnp wnjwo Gl n Juwplwwuypwlpwjhl dtpdwlbp,
npnlp wmtnuynpyuwo GG Mi(x,y;) Yemtpmd L npnlGp hwdwww-
nwufuwGwpwp wnwihu &6 mi(i=1,2,...,n) wpunwnpulp, npp
tipwluw L thnfuwnpiwG:
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Muwhwloynmud E qunlh] uyuwuwpyiwb wjl F(x,y) Yhlwn-
nnGh wmtinp, nph hwdwp

Rec)= 3 mfls ol =min:

R(x,y) $niGyghwjh tpumptiintih wihpudbymnipjul wuwy-
dw(Gtpp nmwihu G0 x Ly thnhnfuwuwGGiph Guumdiwdwp hb-
unlyw] hwjwuwnpnuiGepp.

8_R:n mi(X_Xi) =
SRR ey ey
® e mboy)
SRR ey vy,

Lnwotiny wju hwiwwpgp, Jupnn Glp qunGh x by thnthn-
fuwuwGGtpp, wyuhlpl wmGumbuwlwb funynp YaGupnGh qunGytm
wmbinp:

ThDELELShUL <ULUUUrNrIGER
ShULUGUL <UUGUSNMOSNFLULER
G4 UUUuuNrvEr

Uwhtwlindd.-U)60 hwjwuwpnuip, npp Jwy £ hwunwnmyd X
wlywhun thnthnfuwlwbh, y=y(x) npnGhh $nlGyghwyh L Gpw
y',y",...,y(n) wowlgyuiGtph dhol, Yngymd Lt gapbpblghuy
hwiwuwpni d:

QhdtiptiGghw; hwjwuwpmip vhiynhy Ypwny gpymy L
wjutiu. Fx, y, vy, ¥7,...y™) = 0 qud y"=f- (x, v, y, y",...y" D),
hGsp unwgymd bt Guwpunpnhg, y© -h Gundwdp, notnd
wpryniGpniy:

Gpb y=y(x) npnltih $nlyghwb dhy wljwju thnthnjuw-
JwGh $niGlyghw k, wyw nphptptilghw) hwjwuwnpnwip Yngynd k
unynpuuwd: bul tpt npnGhih dnGlyghwl dh pwlh wGlhwfu
thnthnfuwlwGGtph pnbGlyghw b, wyw nhtinhlghw; hwjwuw-
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nnudp Yngymu L dwolwih wowlguyGhpny ghpbpblghuwy huwnju-
uwipni i

Uwhdwlnd.- “‘Yhdpuptlghw) hwjwuwpdwl Jupg Yngymd E
hwjwuwpiwi dhe dnlnn wowlgyuih wikGuwpwndp Jupgp;
OppGuw].- y'-xy =0 hwjwuwpmdG wnwohG Junpgh nhdbpbG-
ghw hwjwuwpmy t: y"+ky'—sin x =0 hwjwuwpnidp Gpypnpn
Yupgh £

Uwhdwlingd.- Yhdtiptlghw) hwjwuwpdw G jaidnd Wwa plnbg-
puy Unggnud £ wyGy = y(x) $niGyghwt, npp U nph wowtigywy-
Gtpp mbnunpting mjwo nhptptlghw) hwjwuwpdwb vt Gpub
nundGnd GG GnyyGnipjniG:

OppGwl.- y"+y=0 nhdbptiGghw; hwjwuwpiwG hwdwp
y=C,sinx+C, cosx wbuph $nilGyghwlbpp nonuiGtp GG

C,u C, hwmunwwuntGGtph gwlyugwd plunpnipjul nhiypnud:

Qhbtiptilghw] hwjwuwpnmuiGbph nbumpniGl ne npuig
modwl (hGumbgpiwl) dtpnnGtpnG niGbl WEo GruwGwynipyniG:
Qw pwguwwunpynd E Gpwlny, np tpypwswhmpjwb, phghluwyh,
dtjuwGhlywjh, wunqughnnipjwi, YhGuwpwlimpjulG L wy Yh-
nwonwlwl qhunmpmiGGhph, 2wwm  fulnhpGip  ptpdmd GG
nhytptiighw) hwjwuwpmiltph: Ghnwnpyblip vh pwlh wnuh-
uh fulinhpGbp:

1. (RUFPNRUD AUYPNUGShY LRUSRLRUSNRUT?

Onpdwul dwlwywphny hwunmwunywo b, np nwnhnwy-
nhy pwjpwjiwl wpwgnipjnilp wnyjw] yquwhhl hwibtdwnmwywb
E spuypuwywod Gmph pwlwlynmpjulp: Gapwnnting, np Gmiph
uyqpGuyul pwGwlynipyniGp M, E, npnptiGp spwjpwyjwd Gyniph
M pwluwynipjub L t dudwGwlyh dhol inud fufunudip:

(funhnwyunhy pwjpwjiwl wpwgnpinilip hwjwuwnp L
Gymph M pwlwlympjul wowlgjuhl pun dwdiwlwyh, wjuhG-

dM
pG’ d_ : Pwjg nun wwyiwbh dd_l\t/I: —kM, npuntin k-G hwdtdw-
t
nwuwlmpjul gnpowyhgl t: UhGnu Gpwlp ybpgymd t w6
wwwdwnny, np t-h wddwl htn dhwuhG Gymph M pwGwlnip-
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Jmlp GJuqnud E: Uw wnwohl Jupgh nhytintlighw; hwjwuw-
pnud £ npnGhh M(t) $niGlyghwyh Giumdwdp:
Unwugwo phdtptlghw; hwjuwuwpmipn  Jupbih £ gqphg

M
htinlyjwy mbupny’ dﬁ =—kdt:
blGwmtgptiny wju hwjwuwnpdwb tGpyne Ynnip” junwlwlp
InM = -kt + In C Juu ln% =-kt, npwntinhg % =e™ U

M=Ce™: Ujuntn C-G hGunbtqpiwl judwjuljwl hwumwmnG
E: Lwbh np t= 0 initiGunmd nwnhnih qubiquon Mo kp, wyu
C-G whtwp E pwjuwpuph M, =Ce ™ ° = C wnbympjulp:
Stnunpting C-h wpdtpp’ Junwlwlp M-h Jwjunuinp t-hg
ytipnoGuwlywl mbupny
M=Me™:
k gnpowlhgp npnpymd t thnpdGuul dwlwwwphny:
Nunhnmdh hwdwp k=0,000436:

2. guruvvh ounesnrur quu SULUSNRUIT?

‘UymunnGh  Ynnihg hwunwwnywo  optiliph  hwdwdw)i
dwniGh vwntigiwl wpwgnipjnilp hwitdwnmwu6 t dwpdith L
powlju thowywjnh oipdwumhdwGGtph mwppbipnipjwp:

Gapunntlp, dwpdplp mwpwgywo b dhGsk T, wunmhdwd,
dhowywyph 9tpdwuwmhdwlp hwunmwwmmb L L hwjwuwnp
Te(T, <T): Quihbp SwpdGh thnhnfugnn T ghpdwumpéwéh L
uwunbgiwl t dwdwlwyh dhol tnuo Juwiunmdp: Gapunptlp, dw-
dwlwyh t yuwhpG JwpdiGh ghipdwunhdwip T t: Qupiwunhdw-

dT
Gh Ymhnfuiwl wpwgqnipjmbp, wjuhlpl d——ﬁ, ‘UjninnGh
t

opiiph  hwiwdw)l, hwitdwwnwywb £t T-T, mwppbpnpjuln:
Ltwnlwpwnp,

dT
— =—k(T-T,):
T k)
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Uhlnw Gwlp nqpwo £ wjl yuwdwnny, np dwdwlGwyh
wdiwl htwn dhwupG dwpdGh otpdwuwmphdwlp GJugmy L,

wjuhlpG T = T(t) InmGyghwG Guqgnn $nilGyghw k: Unwgduo

nhptiptGghw hwjwuwpnuip GhpyujugGhGpl = —kdt

C
wbupny, npubtnhg In(T-T,)=-kt+InC L T=T, +Ce™:
LViwwh mGaGwny, np t=0 wwhpG T=T,, YuuwGwip
T, =T, +C, npntinhg C=T, - T, : {<twmlwpwp, dwpilh vwntg-

dwl optlpp, jwhujwo dwdiwlwlyhg, YnGhGw hbwlyw) Ytipne-
(wywl mbupn.

T=T,+(T, -T,)e™:

3. Guqut] wjG Ynph hwjwuwpnip, npl wiglinmd k (-2, 3) yb-
unny L nph gwijugwod Yhnmny mwupjwo pnynthnnh wilniGwjhb
qnpowlhgn hwjwuwn k wyn Gniy6 Yanh wpughuhl:

Loromf.- {wdwédw )G wowlgjuih tpypuswthwuwl hdwuwnmp® pn-
d
owihnnph wiyniGuyhG gqnpowihgn hwjwuwn k d—y: Ujnwu Ynn-
X

dhg, hwiwdw)G funph yuydwGh ynpwithnnh, wilyniGujhl qnp-
owlhgp hwjwuwp b ynpwihtwé Ytnh wpughupG (x): Uyuwh-

d
uny, niGhlp d_y =x, npnbnhgdy =xdx: bGubqpbmny wju
X

nhotintiighw; hwjwuwpiwl tpym Ynndp”  Juuowlwlp
2
X
=—+C:
75
Uw wwpwpniGph dh pGumwGhp Lt: Uyju plumwlhphg
wtwnp bt plGwnptp wyG wupwpnpp, npd wlglnd & mpduo (-2, 3)
Yunny]: Wu wwpiwGhg £ ynpnptlGp C  Judwjwluw
-2V
hwumwwnnmbGp 3 2%4—(:, npntinhg C=1: Stnunptiny C-h

2
X
wndbipn’ YipgGuwywlwwtiu junwlwlp y = 7 +1:
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unugbv gurah 1rhbHcrcu8hul
adyguournrover

F(x, Y, y') =0 qud y'=f (x, y) wtiuph hwyjwuwnpnudp Yng-
ynid £ wnwohl Junpgh nhpbintiighw hwjwuwpmu:

blsytu GuwwunbghGp, tpp moJwo fulnhpltpp ptipdtgh
wnwohl Ywpgh nphdtintlghw; hwywuwpnuiGtph L ppwig
nonwip, npytu JulnG, wwpmGuymd b dkYy hGunbgpiwd
Juiwjwlwb hwunmwwmnG:
Uwhdwlnd..- UG y = y(x) pmGyghwl, npp L nph wowlgjup
wmtinunpbny wnwohl Jupgh nhpbptlghw; hwjwuwpdwl dkg
Gpwl nupdlinmd k GnylGmpjnl, Ynyynmd E nhpbptilghw; hwyw-
vwpiwl nond: Snipwpwlsymp y'=f(x,y) nhbptighw; hwjw-
vwnnid nilh wiphy pwqinpjuip monwiGhp: Uyn monuiGtph
pwqunipjnilp Ynyymd £ wowohlG Yuwpgh nhtintiighw; hwyw-
vwniwl pbphwlng miondf L qpynud £ wjuytin® y=o0(x,0):

Un(Gyntin fulinghpGtp jmotjhu wihpwdbtywm k (hnd qunlbg
nhytptighw; hwjwuwpiwlG wjl monwip, npp pwjwpwpnyd L
npjuwo wuydwlhG: Uyn wquydwlp Yngymd b nhpbptighw) hw-
Juuwpdwl uyqpwlywl Jud GwhGwiwi yuwipiwl: Unwehl
Junqh nhytiptlGghw; hwjwuwpdwl hwiwp wyqpwywl wyuw;-
dwln qpynud E htimbyw) mbupny y|X:XO =Y,

QhptiptiGghw; hwywuwndwb wjl nondp, npp unwgynid
L nnphw@nip nuondhg, tpp ywhwGoynid £, np wyl pwjwpwnhp
nyjwo uyqpiuwyub qujdwihG, Yyngymu & dwubulyh inionad

Unwohl Jwpgh nhdtipklghw; hwjwuwnpiwl plnhwlnin
modwlp hwppnipjul Yypw  hwiwyuwunwuupwlnd L dby-
wwpwitinpwbh Ynptiph pGumwbhp, npnGp Ynyymd GG pdumbgnuw-
[wjht gnpbp:
4nchh LLAIhLL- SpYwo L y'=f(x,y) nhoiptlghw hujuuw-
nnuip: Gulh] wju hwjwuwpdwl wjl jmonudp, npp pwyjwpu-
pnud y|x:x0 =Yy, uyqplulyul yquyiwbhb: Uw Unzhh fulnhpG £

wnw9ohl Yupgh nhbtintiighw; hwjwuwpdwl hwdwn:

151



Clnhwlpwywbu, mpywd hwjwuwnpmdp dhpwm sk, np nilGh
of
wynuihuh dwuGuynp momd: Gpt f(x,y) pmbyghw b Gpuw oy

dwulwyh wowlgjun wlplnphwnm GG (Xo,yo) ytwmph hGs-np
powljuwypnd, wwyw nhpbptlghw] hwjwuwpdwl nuonin wyn
wmhpnypnid gnjynipjnil niGh L Shwyl t: Unpnt fuGnhpp dGYGw-
pwtlp tpypwswihnpkG (qo.51):

YA /
o
| — /
// — // s
}/ )

Q-0.51

Lwppnipjul Ypw nwlklp mpjwo nhptipilghw; hujuw-
uwpiwl hGunbgpwiwjhG Ynptipp: Lmoty Unpm fulinhpp tpypw-
swihnptl Gpwlwynmd E hGunbgpuwiwyhlG Ynptiph plGunwlhphg
quGt] wylG Ynpp, nplG wlglmy L hwppmpjwl Yypw Gwfuwwybu
npJud Mc(xo,yo) ytwny:

Ujdd owlnpwlwlp wnwohl Ywpgh wupquaqniyli ghob-
ptGghw; hwjwuwpnuiGtph whwtph L ngpuwlg modwl dtpnn-
Gtph htin:
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Uov2USsdUo 64 Uv2USd14 oNenvdalivvu6rid
adyguournrover

M(X)dx + N(y)dy =0 whwyh hwjwuwpnuip Ynggmd L
wlowmywo thninfuwwGGGpnyg hwjwuwpmy: pw pnhwlnip
hawbgpwin YihGh' [M(xdx + [ N(y)dy =C:

M, (x)N, (y)dx + M, (x)N, (y)dy = 0 wibuph hwijwuwpni-

dp Yngynud £ wlowwmynng thnthnfuwuGGhpny: Uj6 Jupnn E pbp-
bt wliownmywo thnthnfuwuwGGtpny hwjuwuwpdiwb Gpu tpynm

dwutipp N, (y)M2 (X) wpunwhwjnnipjwl ypw pudwlbny.
Ml (X)Nl (y) dX + MZ(X)NZ(Y) dy =0
Nl(Y)Mz(X) Nl(Y)Mz(X)

MI(X) dx + Nz(}’)

M, (X) N, (Y)

[nwlwGltpny hwjwuwpmy E: “Ghnwpywo tpbp fulnhpltph

nodwl dwdwlwly unwgyuo nhtiptlighw; hwjwuwpmdiGtpp
wlowwmynn hnthnfuwwGGtpny hwywuwpnidGtin Eha:

Jud dy =0, npG wpntG wipwwywd thnhn-

UUuuUeGn <uduaovurnruver

Unwohl YJwpgh nhdtptlghw) hwyjwuwpmip Yngymd k
hwdwubnp, tpt motny wyG y'-h Guwmdwdp, we Ywumy unw-

(im tGp vh wpunwhwjnmpnl jupuuo Y hwpwpbpnipjnilhg.
X

X
Uju whwh ghdtiptGghw; hwjwuwpmdbGbppn  mobnt

hwdwp Y- u mbnunpiwl dhongny wjl phpmy G0 wlowwmynn
X

thnthnfuwwGGhpny hwjwuwnpiwG: bpnp’ y =ux,
da _dx
f (u) -u X

y =ux+u, ux+u=f(u), ;l—ux:f(u)—u,
X
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thnthnfuwwGGtpp wiouwnmywd tl:
Gunlbny wju hwjwuwpiwl plnhwlnp oonwinp L u-G

thnfuwphGtiny Y hwpwptipnipyudip” JunwGwlp mpjwoe hwju-
X

uwniwl pnhwlnip monwin:
unuLhv qurah QoUshv UdU4uUurnruver

Uwhdwlnid.- Unwohl Jupgh qowjhl hwjwuwpmd Yngynd k
wjl hwywuwnpmuip, npp qowghl £ wihwjm $nilyghwgh L Gpw
wowlgjuih Gyuundwdp: UjG mGh y'+ P(x)y = Q(x) wtupp,
npuntin P(x)-p b Q(x)-p wipywd whplnhwwn $niGyghwbhp (Gud
hwunmwwnniGGtp) GG:

Q-owjhlG hwjwuwpdiwl onip npnGhGp X -h  Gphym
$nlGyghwbltinh wpmwnpwih mbupny y = u(x)- V(x) npnlighg
utyn Junbph t gtpg bty juiwjuywd, hul dynwup Ynpnpgh mpjuo
nhptiptGghw) hwjwuwpiwb hhdwd ypw' y' =u'v+v'u

Stnunpting  wjwd hwjwuwpdwl dky”  YmGhGwGp
uv+vu+Puv=Q Jwd u'v+ u(V' + PV) =Q: v Pnmllyghwb
nGunptlp wyGwbu, np v'+Pv =0: Uw v-h Gumniuip wiouwmn-
ynn thnthnjuwlwlitpny hwjwuwpmd k£, npp motny, Junw-
Gu(p dv =—-Pv QJuud dv =—Pdx, npntinhg Inv= —J‘ Pdx,

dx \%
V= efj Pdx :

<wpyh wnbbny, np v’ + Pv = 0 hhdGwlwl hwjwuwpnp-

jnihg  u  pmlGyghuyph npnpdwl hwdwp  JuGw  htnbyug

hwjwuwpnuip® u'v=Q, j—uv(x) = Q(x) jud du= de
X

v(x)

u= I Q((X)dx +C= IQ(X)eIPdXdX +C

A" X)
y= u(x). V(X): [C + JQ(X)eJ.P(x)ddej|eJ.P(x)dx :
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JUJULvUGUUNMGBNFLLE D SEUNRMO3UL
surrerrz
<hUuUGUL UUGUSNFMI3NFLLER
G4 UUUUULNRMULE

JujuwlwlwlnipniGGiph mbumpymGp owqby & XVII nuph
ytutiphG® hpiGwiwlnmd juuyywod wnwpptp nmbuwlh pwjumw-
fuwntipmd hwnpwGwyh pwlutph hwygwnpyh htn: XVII-XVIII
nupbtpnid  hwywlwywlnipniGiph  wmbunmpmiip qupquguy
w6Gwb syuthny, pwlh np ngpu YhpwnempjniGGtnh nnpup uwh-
dwlwthwywod tp ny d6o pwlwlih hwpgtph powlwlyGbpny:
XIX nunphg uuwo vhGsl vbp optipp, hwjwlwwlnipjniGGtph
wmbtunipjmGp wiplnhwwn L pminG Yapwyny qupqulnd £ hp Yhpw-
nnpjwl ninpunb plngpytiny ghunipjwl, mtfuGhywjh, Eynlndh-
Yuwjh puqiwphy pGugqujunitip:

JujuwlwlwlnipniGGiph  wmbumpymbGp  dwpbiwnhlwjh
wjl pwdhGa t, npp qpunymud £ dwuuwjuul hwdwubkn yuwwmw-
hwlwG tplnypGtnh opplwswihnipniGGhph yapnuodwdp:

Utq powuwwnn  GplunyplGiph  nuunidGuuhpngpniln
Jquwywd Lt thnpdbtph nhnwpiwb htn: $npdh hGwpwynp Gpp
wwwnwhwlwb Gplnyp £, npp6 pypmGwo E wijwlb] ywwmw-
hwp jud wwwwhnyp: Wyuhlpl, npnpwlih wywjdwlltph wn-
Juympjwl nhwypmd, wjl hGyp Jupnng L mbnh nGEGw) Jud ny,
Ynsynud £ wuwunmwhwn:

Ptntlp wwwunwhwnltph dh pwih ophGwybtin:

1. {pwlnphg Ypwybjhu Gpulwhtnp fungp Jud  sfungbp
wwwwhuwn k:

2. Utunwnw ppuip Ghnblhu qipph wd pyh hwinbu quin
wwwwhuwn k:

3. hownnuypp Ghwnbijhu' 1-hg dhGsk 6 nput pyh hwlnbu quip
wwwnwhwp kL wyG:

Muwumwhwplbpp pGymGwo b Guiwyt A,B,C,... wnw-
ntipny: NMwwuwhwpbbpp (hGnd 66 hwjwuwmp, wihGuphG, hw-
Juwnhp, hwdwwmbntih, wGhwiwwnmtnbih, thwyh hGwpwynp, hw-
JwuwnpwhGwpwynp, wiywu b jufujw] jud qujiwliwlui:

Jujwuwnh Ynggnid £ wyG yuwwwhwnpp, npp wjwy thnp-
dupuwl dwiwlwy wlywjdwlnptiG wbtnh L mGhGmd:
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OphGuwy vwyhwwy qlnuwlitpny (gywd wpynhg uyhwnwly qlpuy
hwGbnt wwwmwhwpp YihGh hwjwunmp: <ujuwump yuwnwhwpp
nnniGywo t GpuwlGwyt; E wmwnny:

U6 wuwwwhwpp, npp wgjuy thnpdwpydwl dwdwluy sh
Jupnn hwinbu quy, Yngynid £ wGhGunphlG wuwwmwhwn:

OpphGwl” Gtpymt  fuwnnuypGtph  Ghndwl  dwudwluly
wlhGwnp £, np hwlnbtu Gywo pytiph mwpptipnipjniGp  hwywuwp
1hGh 6-h: UGhGuphG yuwwwhwpp GQuiuymd 6 U wmwnny:

Muwuwhwnbtpp Yngynud &6 wlhwdwwnmbintih, tpt wyjwy
dwdwlwlyh plGpwgpnd Gpuwlp dhwdwiwlwly sh6E YJwpnn
hw(ntiu quy:

Muwuwwhwnlbpp uqind 66 ;phy jundp, tpt jmpupwls-
jnip thnpdwpyuiwl dwdiwGwly Ywpnn E GplwlG quy ngpulghg
guijugwon L sh Yupnn tplauG qui niphp nplk wj] quwwwhuwnp,
npp npwlg htn  hwdwwmbnyh st Uyn ywwwhwnpGbphG
wijwlmu G0 Guwlk dhwly hGwpwynp ywumwhwplbin:

Gpyn ywwwwhwplbp Yngynd GG hwdwwmbntih, tpt npui-
ghg utyh hwlntu qup sh pwgwnmy Wymuh hwlntu qumG:
OphGuwy tpt Ypwynd tlp tpynt hpwgwlhg, wwyw tpyniupg £
thwdwdwblwy Jupnn G0 fjungly GQwlGwytun:

ALA, A wwwnwhwplbpp Yngmd 66 hwjwuwpw-

hGwpwynp, Gpt squb hGs-np opjtiyunhy wywwmdwnlbtp, tpp wju
Juwu wjl wwumwhwpp Jupnn L wybih hwdwfu hwintu quy, pw
Ujniup:

Gpym wwwmwhwpltp Ynygymd GG hwhwunhp, tpt npuip
wlhwiwwmbtntih 66 L yuqimd GG (phy funudp: UyuphlpG A wuw-
wmwhwph hwjunhp wwunwhwpp nu w6, npp juyjuwimd b A -
h mtnh smiGhGwnm dto:

A wuwwwhwph hwjunhp ywwwhwpp Guiuynd GG A-
ny:
Qhgnmp, A wwwwhwph wpyynilGpnid fungnid 66 GpwGw-

Jtwp, A wwwwhwph wpnyniGpnid’ ng:

UGyuwh Yngynid GG wjl wuwwumwhwnlbtpp, npnlghg dtyh
hwlnbu qup Jupujwo st Wynwwhg: bul juwhyw; jud yuwjdw-
Gwyuwl Yngynud GG wyl yuumwhwnpltpp, npnighg dtih hwintu
nun Juhujwo t uynwuhg:
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Ujdu wlgltlp Jupunpwgni)G qunwihwph wwwumwhwph
hwjwlwlywlnpjul qunuihwnph nuuntdGuuhpdwln:

GlpwnntGp, mGhlGp A;,A, A, qnyg-qniyq wlhwiw-
wmbtintijh, dthwy hGwpwynp, hwjwuwpwhGwpwynp yuwumwhwnp-
Gtph hwdwfundp: Ghgmp, A wuwwnwhwpp hwintu E quihu npnp
A, wwwwhwplbph htn dhwuhG: UjG A, wwwwhwplbpp,

......

npnlg hwintu qunt dwdwGwy hwinbtu t quihu Gul A uuw-
wmwhwpp, Ynggmd &6 A wywwwhwphG Guuuwnnng wwjiwGibn:
Qhunwpytlp vh wyjuyhuh ophGwy:

Glpwnnlilp, vwihnph dte Yuw 20 qlnwly, nphg 5-p° uwh-
wnuwl, 7-p° yupdhp b 8-p° ul: A wwwwhwpp uwihnphg qlnuy
hw(tG t: Wyunbtn plnhwlnmp Gptph phyp hwjwuwn £ 20-h:
Uyhunwly qlnwly hwlbinm yquwunwhwphbG Guuwuwnnn Giptph phyp
hwjwuwn t 5-h, yupshpGephGp' 7, huy ukpGnp 8:

Spjwo A wwwnwhwph hwnbu qum hwjwGuwlwlnp-
JniGp plypniGwo £ Gulwyby P(A) =p, hGupwynp Giptiph pln-
hwinip phyp’ n, huy Guyuuwmnn tiptph phyp’ m: Wn nhypnid
A yuwuwhwphl Guuuwnmnn Gptph pyh L hwjuwuwpwhGupu-
ynp ywwmwhwpGtph tptiph pnhwlnp pyh hwpwptpnipnilp
Unsynud £ A yuwwmwhwph hwywGuwlwGmpniG:

m
UjGytu np, pun vwhdwGdw6 P(A) =p=—:
n
Uw yuwumwhwph hwjwlwljwimpjul guuwljwl vwhiw-
(in1dG k:

dh hwnwpywo oppGuynmyd P > ! P /
wnpyywo onhGw =—=—, =—,
NP1} n n 1750 4 2790
8 2
3 = —=—
20 5
Lljwwntlp, np gwijugwd A wyuwwwhwphl Guuuwnnn
wuwjdwGiiph m  phdp  pwjwpuwpmd Lk 0<m<n

wlihwjwuwpnpjubp : {<tulwpwp, yuunwhwph hwjwluyu-
GmpjniGp” 0<p<1k:
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E hwjwunh ywwwwhwph hwiwp m =n L, htmbwpuwnp,
P(E)=1, huy UwGhGwphG wwwwhwph hwiwp m=0L,
htnlwpwn P(U) =0:

Muuwhwph  hwjwlwyuwinpjul vwhdiwlindlG wybh
wwnq nupdGhnt hwiwp ghnwpytilp Lo dh ophGuly:

Qhgnip, Ghumnd  Glp  fuwnnuypGtpp:  GwGh; hwju-
Guwywlnipnilp wyl pwlh, np pugyuo pytinh gmuiwpp YihGh 8:

{wqwuwpwhlwpwynp  Gptph  plghwlmp phyp  YihGh
n=6-6=36:

‘Lywuwnnn bptipp Y1hGea' (6, 2), (5, 3), (4, 4), (2, 6), (3, 5)
wjuhGpG’ m =35, htmlwpwp p = m_ i:

n 36
JUJULUGUUNMIBANFLULE P QNFUULUU L
Oo6GNrGUn

Glpwnptilp, mGhGp tpym wlhwiwwnmbtnbjh ywwumwhwp-
Gtp" A L B: Uju tpynt ywwwhwplGbph gnidwp Ynggmd £ wyG C
wwwnwhwpp, npp wyn yuwumwhwnltphg gnlb dtyh Gplwb qum
dtio L: Gpynt wihwiwwmbntiih wwwmwhwpltph gnudwpp GpwlGw-
ymd GG C=A+B Juwi (A Jwd B) wmbtupny: Gpym wuwwmwhwnp-
Gtphg Yuwd A -h quwd B-h wmtnh mGaGunt, wjuhlpG npuig
gnuiwnpp hwjwGuwywlmpmGp GQuiuwytlip P (Qud A jud B) L
hwpytilp wjl: <wjwuwnmh t  htwnbjw; plinptidp, npp Yngymd k
ptinptid hwjwlwlwlmpymGGtph gnmiwph dwuhG:
Obopbd.- Gpynt wlihwdwwmbtntih  ywwwwhwplGtph  gqnudwph
hwjwlwlywlnipynip hwjwuwp L wnwldhl wuwwwhwplbph
hwjwlwywlmpymGatph gmiwphG, wjuplpi P (Qud A jud
B)=P(A)+P(B) :
m m
Uwuigniyg.- “hgnip, P(A):—l, P(B):—z: Lwlh np A L
n n
B wwwwhwpltp wihwiwwbtntih 6, wwyw nbtyptph n
pGnhwGnp pyh phypmd dhwdwdiwlwly A L B wwuwwhwp-
GtpphG Guuwuwnn nbwpbph phyp hwywuwnp t 0-h, huy Jud A
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Jud B wwwwhwph hwGntu qunb Guuuwnnn ntwpbph phyp
hwjwuwp & m; +m, : <bmlwpwp’
+
P (qui A yug B)="21 M2 T M2 _p(p), p(B):
n n n

U;6 hGs wwhwloynd Ep wuugnigt:
‘Ldwl duny Juwpbh b optinptdl wuywgnighp guljuguo
pUny gniwpbihGph hwdwp.

P(A, Qud Ay Yuid.... yud A,)=P(A,)+ P(As)+ ... +P(A,)
Jud P[Zn:Aij = iP(Ai ):
it it

Uydd nhrwpltilp AL A hwlwnhp wuwnwhwplbpp: ©nn
P(A)z p, huy P(K) =q:

Lwbh np hnpdupyiwl dwdwlwy nbnh L mbhind fud
A Huwds A, nun A+A-q hwjuwunh wwwnwhwp b
Qtanluupup , P(A + KS: Pt A yui A)=1:

Gnuiwpiwl pinpidh hwdwdw) G’

P(A+A)=P(A)+P(A)=1
wjuhlpG p+q=1,npntnhg q=1-p:
SGubwlp.- Gpt A, A, ..,A, wuwnwhwplipp juqimd Ga
1nhy funidp, wyw wnyw L htnbyw; hwjwuwnpmpjniln
P(A,)+P(A,)+..+P(A,)=1:

Uyugnyyg.- Lwlh np A, A, .., A, wwwnwhwpGipp Juqind

tl 1phy funudp, ntunh npuighg dkyh hwintu quip hwjwuwmh
wwuwhuwn k: {tnlwpwn,
P(A; qud A, Yuwd.... qud Ay)=1:
Juwhi dwup dLwihnjubing gnudwpiwl phnptidh hwdwdw)G
JuunwGwbp Yytpnhhy ju hwjwuwpnipniGp’
P(A,)+P(A,)+..P(A,)=1:
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NUBUULUGUL <UULUGUUNMIBNFLULE:
LUJULUGUUNRMBNFLLELP AURUUNUSGUU L
O6GNIEUT?

Utilip wpntG ghntiGp, np A L B yywwmwhwnGtpp Yngynd GG
wijwju, tpti A ywwwumwhwph hwintu qunm hwjwlwywlnip-
JmGp yuwfugwo sk wyl pwlhg, pti B uwwmwhwnpp wmbnh £ nilGtghy
Juwd mtinh sh mGtghy:

Glpunptilp, vwihnph dto Jw 4 hwwnm ul L 6 uwhwmwy

qlnuyGtpn: GGpwnptlp A wwwwhwpp uvwithnphg uwhwnwly
qlnwy hwGblG t, vwihnpph WG9 Jw plnwdtlp 6 hwwn uyhmuy

qlnuly:
3
Ujn npbhypmu P(A):g : Qwlwo qlnuyp Gnphg qgtlp

uwithnpp L pnn B wwwmwhwnpn (hGh tpypnpn wlquyd uwthnphg
uyhunwl qlnwly hwlbp: Mwpq L, np wju ghypnd Gnylwtu

3
P(B) = g : AL B yuwwhwpGbpp vfju nphypnmd wijwfu yu-

wmwhwpbbp G6: Uh thnpp thnfubip wju fulinpph wywjdwln: ‘bnphg
tGpunptilp, np A wwwwhwpp vunhnphg uyhwnwly qlnuy

hw(bG L P(A)zg hwjwwyuinpjuip: {wluo qlnuyn

sytpwnundGhlp uwthnp, L pnn B wwwwhwpp Gnphg 1hGh
uwhnnhg Gpypnpn wiquy uyhwnwy qGnwly hwGtin:

6
Uju nbypnid P(B)ZE’ tpt A ywwwhwpp wntnh sh

5
niGhgty, U P(B):§, tpt A wwwwhwpp wmbtnh L mGbghy:

bGywtu wmbulmd GGp, B  wwwwhwph hwjwlwyuwlnpmilp
Juwjujwo & A wwwmwhwph wbnh nGhGumg Jud wmbnh snilb-
Guwynig:

‘Ldwl whyh wwunwhwplbpp Yngdnd G606 Juhgw; jud
yuwjdwliwuwl yguunwhwnplbp: NMwjiwiwlwl ywunwhwpltph
hwjuwlwlywlinpyuGa b pypmGjuws b wijuit] guydwiuyui
huwjuwlwywlimpymb L Gulwuyt P, (B): Qupnugynd t wju-
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whtu B ywwunwhwph hwjwlwlwlmpjnilip A-h wmbnh niGhGunt
wuwydwlny:
UjGutu np Gulunpn ophGwyhg Yupnn Gp gpty.

5 6 2
P(B)-2: P (B)-0-2.
Gpti A L B wqwumwhwnpltpp 1hGEG wijwiu, wyw wupq k, np
P, (B)="P(B):
Ohopbd.- A L B wuwunwhwplbtph shwdwdiwlGwl hwinbu qunt
(hwiwwnmbtniwl) hwjuwlwlywlnmpnilip hwjwuwp £ A yuwnw-
hwph hwjuwlwliwlnpjuwi b B wuwunwhwph ywjdwliwlwb hw-
Juliwwlnmpjwl, wpnwnpjuihl hw)wo A ywumwhwph wmbnh
niGbGwn wuydwlny.

P(ALB)=P(A)-P,(B):

Uuugniyg.- Glpwnnptilip, hGwpwynp tiptiph n plnhwinp pyhg
A wuwwwhwph hwnbu qumG Guuunmd b6 k Giptpp, nphg ¢
wwjdwbbtp Gywunmd G6 Gwlk B yuunwhwph hwinbu quniG:
Ujn nhiypnmd A U B wwwmwhwpltph dhwdwdwlwl hwintu
qumb Yewwwuwntl ¢ wwjiwGibp L upnn Gap qptg

P(AhB)=§,pwJQ P(A)=% ; PA(B)=£ :

l ¢ -k k /
—-n GbpuwjwgltbGp htwnlyjuw; wbupny,. —=——=—-—,
n n nk nk
wyuhGp@  P(AUB)=P(A)-P,(B) L puqiwyumnliwi

ptinptid( wywgnigywo k:

Uju pwlwdélp Yhpwetlp B L A wpnwhwjnmpju
(yuwiwdp. P(BLA)=P(B)-Py(A) :

Uju bpynmt pwlwdlbtph dwh dwutipp hwjwuwn GG nputu
dhllinyyG hwjwlwlwlnpnil, htnlwpwnp, hwjwuwnp GG Gl
w9 vwubpp: Nwwnh Jupnn GGp qpbp htnlgw; hwjwuwpnpmGp

P(A)-P,(B)="P(B) Py(A)
P(A)-P,(B)

Wuwmbnhg Py (A)= P(B)
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Uwulwynp niypmd wju ptnptidp Jupbih £ jhpwnt Gul
wijwu yquuwhwnpltph Guuniwdp: Gpt A L B ywwmwhwp-
Gtp wGywfu GG, wwyw P, (B) = P(B) L puqiuyuunydwG
ptinptdp YpGnniGh htwmbjw) mbupp’ P(A LB ) = P(A) -P (B):

Uydd tGpunptiGp mGhlGp A, A,,...,A, wwwuwhwpltph
Inhy funwip L npwlghg wnwGdhG vh B yquwunwhwp: MwhwGoynid
L hwpyty wjl pwlh hwjwlwywlnpnilp, np B wwwmwhwpp
hwintu Yqu A, (i=12,...,n) wuwnwhwpitphg npl dk4h htan
dhwdwiwblwl: UyuhlGpl hwpytlp
P(qui A,,B Jud A,,B Yud...yud A, ,B):

JwjwlwuwlinpnGitph gnidwpdwl ptinptidh hwdwdawjG
Yupnn GGp qpti
P(qud A,,B juu A,,B Yuwd...ud A, ,B)=P(A,,B)+

+P(A,,B)+...+P(A,,B)= ZH:P(AiB):

Puqiuyuniwb ptinptivh hwiwédw)G
P(AiaB) = P(Ai)'PAi (B)¢
Uju wpnwhwjmnipnilp wmbnunpting Gwjunpg hwjw-
uwpnipjwl vk9 YunwGulp

P(B)= 3 P(5,.B)= 2 P(A,) P, (B):

Uju pwlwdbp Yngymd L yphy  hwywlwlwlnppouol
pwlwdl:

ShNNeGALELh KUJULUGUUAMISNRLL - RUSEUR
RULUIEUL

SYhunwnpytlGp A, A,,...,A, wihwiwnmbnth ywunwhwp-
Gtph 1phy punwipp, npnlg hwinbu quim hwywGwyulnpmniG-
GtpG 66 P(A,), P(A,),... P(A,):

B wwwwhwpp Jupnn £ mtnh nGbGuy AL A, A, wu-
wnwhwpltnhg npuk dtyh htwm, npnlp Ynyymd GG Apwnpbqlbn:

Lphy hwywlwlwbnipmiGiph pwlwdlh hwiwdw)li B
wwwnwhwph hwlntiu qunt hwjwlGwywlnipyniln YihGh
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P(B)= 2 P(A,) P, (B):

CGnmGtbp, np B ywwwhwnpp mbnh £ mGtgt: Uy, np B-6G
wbnph & mGbgl Ypnpup P(A, ) (k =1,2,...,n) hugwGwlwGnip-
JmGGEpn: Mwhwloymy £ npnpty wyn hhunptqGtph hpwljwlwg-
dwl yujiwliwljwl hwyuwliwuwlimpmGGopt wjl GGpunpnip-
Jwip, np B wwwwhwpp wmbnh L mGhgh), wjuhlpl npnpty
Py (Ak) (k = 1,2,...,n) hwyuwGwywGnpniGGtpn:

Puqiuuyuunyiwl JuwlnGh hwdiwdw)l Yupnn GGp qpbg
P(A,B)=P(A;) Py, (B)=P(B) Py(A, ). npuntiing

P (A ): P(Ak)'PAk (B)
B k P(B) .

Uju hwjwuwnmpjwb dt9 1nhy hwjwlwlwlmpjniGltoph pwlw-
duhg mtnunptiny P(B)-h wpdtipp uunwGwip

PB (Ak ) _ nP(Ak ) PAk (B)
Z:P(Ai)'PAi (B)

i=1
Uju pwlwdlp Ynyymd L hhwnpbqltph hwjwlwlwlnpjul
puwlwdl yuwy Pwjtiuh puwlwdl:

(k=1,2,..,n):

NUSULUrh U ULUGUULNIMI3U L
usr vukuuuvnruvesr

. Gruptououuly AUJULUUUTLNAMENRNG.-Yhgnip,
niGkGp vh yapowynp D wmhpniyp, nph dwytptup hwjwuwnp t S-h:
GlpwnptiGp D, mhpnijpp wwwnlw-
(nd E D wmphpniyphlG, nph dwybptup hw-
Jwuwn t S;—h (q9.52 ): Fyh D whpmy-
pn Ghunnmd GGp hGy-np Gnipwul Yhwn:
GGt hwjwlwlwlnpymbp wjl pwlh,
np Ghnwd Ytnp YplayGh Dy whpmyph
utio:

Uwhdwlmd.-NMunmwhwph  tpypwswthw-
Juw6 hwjwluwywlnpmb Ynsgmd £ Dy L
D whpnypltph dwybptultph hwpwpb-

nnipjniGn:
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Gpt D; mhpnypp pGlGin yuwumwhwph hwjuwlwlwlnip-

S,
jnilp GQuGwytlGp P(D)), wyw pun uvwhdiwlGiwd, P(Dl)z—:

‘Lluwwntlp, np wju uvwhdwlndp sh hwluwund hwjwGw-
Juinipjul nuuwlwl vwhdwliwlp: <wjwlwluwinipmiGGtph
gnuiwpiwl L pwqiuuyuwuydwli ptnptiGtpp Yupbh b GdwG
Jungny dLwytpyt) Gwl tpypuswthwlwl hujuwlwlwlinpjul
hwdwnp:

1. QNrUUrUUG 6NAEUR
Dhgnip, niGtlp Dy L D; wmhpnypGhp, npnGp pGywo GG D
whnpnyph Ut9 L hpwp htim skG hwnynd (qo. 53 ):
Muwhwoymy t npnpbp, wjl pwGh hwjwlwuwlnpymbp,
nn GhnJwd dwpihGp YpayGh uwd D; yuwd D, mhpnyypn: Dy LW D,
whpnyplbph shwnybipn hwiwywunmwufuwlind £ yguumwhwp-
Gtph wihwdwwmbtintjhnpjwb ywyiwGha:

3
D
P(D; i D,)=P(D;)+P(D,)

3-0.53

2. AUQUUNUSGUUL 06N1EUT?

1. GGpunptlp, D wmhpnyphG wwwmwinn D; L D, wmhpniyp-
GtpG mGbG pGnhw6nip Ywu, wjuhlpl, hwnymd GG (q0.54):
Muwhwloynmd t hwpyty wyl pwlh hwjwlwywlmpynilp, np
GbmJwo Ytwp YypGyGh W Dy W' Dy mhpnypGhpp, wjuhlpG® Ds
whpnipp:

P(L D; L Dy)=P(D3)=P(D,)-P;, (D,)
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Q.0.54

2. dwdwju hujuwlwywlnipjul mbtunipjul wmwpptp Yhpw-
nnipjniGGtph vhe Guyuwumwlwhwpdwn b (hnmd oqunyly ywwmw-
hwph hwjwlwiuwlinpjuli wjuybu Ynywd Jhdwlwgpuljwb
uvwhdwGnuihg:

Glpwnntilip, gnpo mGklp dto pyny thnpdwupynmuiGtph htn,
wjuhlpl’ nhgnip mGtlGp n pyny thnpdwpymuiGtp, npnbn n-p
pujuwluwlwswith vGo phy k: “+hgnip, ngpulighg m wlqud hwG-

m
ntiu £ GYG mfyjw; wwuomwhwpn: Uyn ghypnd npuig p=—
n

hwpwptipnipnilp Yngymd L ywwmwhwph hwdwhuwlwlnpjni:
Cwuwn pyny thnpdtiph wprynmGpGtp nhnbtihu Gpptdl Giuwunynd k
wwwunwhwph hwdwiwuwlimpyjuwl Jujnilwgnmd, nph 2niponp

m
Juwuwwpymyd GG —-h wpdtplGtiph wnwwunwindbtpn: GuynmG
n

hwdwpwywbnmpmnilp plnpnynn phyp htlGg Yngymd L wuw-
nwhwph yhdwjugpujul hwjuwlwlwlnpjmd:

3. QnymupyniG niGh Gwlk wwwuwwhwph hwjuwlwlwlnpjul
wpuhniwwmhl] uwhdwlmy :
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Ubh LUULH SGLGUNMISNFLLE
UhUSNMo3NFLUEh SGUNMI3NFLHS

Qnynipjnil niGGG tptp mhywh shwgnipynGGtp
1.GwpquynpmpjmGGtin.
2. StnwithnfunipniGGhp.
3.9QnignpnmpniGGtn:
n wwptphg m-wjuwl Juqiquwo JupquynpmipjniGGtph
phup Gypuwlwlymd GG Anm L hwpynid htimbyuwy pwGwalny.
A™ =n(n—1)n-2).[n-(m-1)]:
m  wwppbphg  juqijwo  wbnuithnfumpymGGtph - phyp
Gowlwymy &G P -ng L hwpynd wjuwbiu’
P,=1-2-3-..m=m!
n wnwpbphg m-wljwl Juqijwo gqngnppmpjniGGtph phyp
Gpuiwynd &6 Cy-nd, L hwyymd hbnlyw; pwlwélng’

cm _ A _n(n-1)n-2).[n—(m-1)] n!

TP 1-2-3---m m!(n — m)

m

Grgud N UvqUo Musuurver

Jujuwlwlwlnipjul mbumpjul Jwwn YhpwnmpjmGatph
dti9 npnpuwlih wmbn mGtG YpyGynn wlliwh ywumwhwplbpp:
Glpwnptip, Juunwpymd £ n hwwn wlywue YpyGynn thop-
duwnpynuiGbp: Muwhwloymd E qulh] wjl pwlh hwjwlw-
Juwlmpjnilp, np wyn n thnpbwpyniGhph dwdwlwl A ywwnw-
hwpp hwinbu jgu m wlqud (m < n):

A ywwwuwhwph hwintu qum hwjuwlwlwlnpjmbp dhy
thnpdwpyiwl dudwlwy GQuGwytip P(A)=p, hul ngpu hwintu
squint hwjwlwlwlmpjnilp’ P(K)zq =1-p: UjG pwlh huju-
Gwlywlmpjmbp, np n thnpdiphg m wlqui hwlntu Yqu
npjuo wwwnwhwpp, Gubwyklp P, -ny:
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Qhunwnpytlp dwulwynp ntiwyptin: Glpwnnptlp,
n=3 m=2 L hwyytlp Py-p: Mwpq £, np A ywwmwhwph
UnyGwyh hwinbtu quip yuwyywo t Kuiuunulhwph it wlquud
hwintu qun htwn L wnuwhup Gp YihGh htnbyuw; hGupuwynp
ntiyptinhg dtyl n dkynud.

qud AAA, Jud AAA, Ywid AAA:

Uju pwpn yuwumwhwnplbphg jnipuwpwlsmph hwywGwlw-
(mpymGp dhlulGm)G phylG k, npp Jupth £ npn2ty] puqiwujuwm-
YdwG pinptidh oqlnipjwip.

PLALALA)=PLALALA)=PLALALA)=p?q:

Gnuidwpdwl pinptivh hwiwdw) G

P(AAK Yy AAA Jud XAA)z p?q+p3q+p2q=3p3q:

Ujdd tGpunptiGp n =4, m =2: Uju niypnid hGupuwynp
L6 httmlywy YndphGughwGtpp.

AAA A; AAAA; AAAA; AAAA; AAAA; AAAA:
Puqiuyuniwb ptinptivh hwiwédw) G
PLALALALA)=PLALALALA)=...=p3q?,
hul gnidwpdwG ptinptivhg
P(AAA A [jui AAAA it ....) = 6p2q?
Pwyg 3=C3;6=C;,

htanlwpup Py, =3p°q=C3p®q; P, =6p®q° =Cip°q”

Ujdd hwpdtlp hwjwlwlwlmpmnlip wjlG pwlh, npn
ynyGynn thnpdbph dwiwGwly A ywwwhwpp hwinbu Yqu m
wlqwd npnpwyh YJuwpgny, ophGwly hbwnljw; uhubdwynd
Ghpyuyugywo Jupgny AA.. A u

m n-m
Uyu hwjwlwywlnipjniGp hwjwuwp YihGh p™q™™ @ n wmwpphg
Jquqijwd pninp ufjubdwGbph phyp, npnGg dt9 A wywwmwhwpp
hwintu £ quihu m wlquwd, pwjg mwpptp nuuwynpnpjudp,
yh6h  C': Wn  wwwdwen], hwiwdwjl  hwjwlw-
JuwlnmpniGatph gnudwpdw b pinptdh Jupnn GGp qpbg
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n! m n-m

m!(n - m)! P

Uju pwlwdlp Yngynud E AtinGnighh pwlwdl: Uyu pwlGwdalp
w9 dwup UyjnunnGh Gpywlnudh ybpmnionipjul plnhwlnim
wlnuwud t:

(p+q) =p" +C2'p"'q+C2?p" > +CIp" q’ +...+

m n-m

PlTlH = Cglp q =

—FCﬁpzq“_2 +Cqun_1 +q" =1, pwlh np p+q=1: <bwmlwpuwn,

Yuwnnn tlp gpbi
P, +P +Pn—2,n+"'+P2n+Pln + Py, =1,

n—1,n

wjuhGpG ZPmn =1
m=0

Uw hbwnlw(p £ w6 pwGh, np hwiwywunwuhuwl yunmw-

hwnGtipp Juqind GG ;phy funudp:
!
P.=Clp"q"™ =meqn_m hwywGwlwinipmGGtpp
m! (n - m)!
hwdwfumdpp Ynyymd L hwjuwlwlwlnmpymGitph pwyfudw
phlndwilul oplilp:

JwjwlwuwlnpymGitph pwjuydwl phGniwlwb optlpp
hGwpwynpnipjniG L wmwihu npnpmt A ywwmwhwph hwntu
quint wikGwhwywlwywl tptph phyn:

Ophlwly.- “Yhgnp, hpwdgnipjwl dwdwlwly Gulwybnp fun-
gtint hwjwGwlwbnipynilGp hwjwuwn k 0,8:
Qwpyty ph, hGsh® & hwjuwuwn wyG pwGh hwywGulwlmpnGp,
np 6 wlqwd Ypwlbtm wpyniGpnd  5-p Yungh GuGwuwybunnp:
Ujunmtn n=6, m=5: Jwiwdwji pphGniwjul pwtutwd
ontlph.
P, :Czpsq; q=1-p=1-0.8=0.2
6-5-4

=———~ " (0.8)-(0.2 =0.064:
=< (08)-(02)
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NUSULUGUL UGONKMo3NFL2 GY 11U AUCIVNRUT?

Jwjwlwlwlnpjuli wbunipjul b9 wnwlgpwjhl GG
wwwnwhwlwb dgkompjniGGtpp L npwlg pwpfudiwb optbpGtipn:

Muunwhwlwl dtompniGatp Ynyymd GG wyl dtonmpym G-
Gtpp, npnGp, GGGy thnpdh wpymGpGtphg Yuwpnn GG pGgnGbg
wju qud wyl ywuunwhwiwl pywjhG wpdtpltp: Gpt wywwnw-
hwjywl dvhompniln pnniGmd £ hwonpnuljwb YnGhptinm pywjhG
wpdtipltp, npnGg phyp YJwpnn b (bl hGywbu Jpowynp, w)l-
wtiu £ wlybtpg b hwjnGh £ Gwb jnipuwpwlyjnip wpdtph hwinbu
quint hwjwlwlywlnpjnlp, wwyw wjnuwhuh wywwwhwywb
utionipjniGn Yngymd & ghogpbm yquumwhwwl dtonipniG:

UjG dnmGyghnGw Juhugwonipnilp, npp juy b hwunw-
nnid ghuyptivn uunmwhwlwl dtonpjul wpdtplGtph L npuig
hwiwwwwnwufuwl hwjwlwyuwinpmiGGaph dhol, Yngymud E
wuwunwhwlwl dtompjwl <wywlwhwlmpmblGeph pupfudwl
opklp:

Qhuliptn. uwunwhwwl daonmpjul pwhupiwl onptlpp
(ywunwjwhwnpiwp £ mwy wnnuuwyh mtupny

Unyniuwy 10
X X, X

n

P, P P,

u;a Jupbh E muw| Gul wlwihwnhynptG
p; =f(x,),(i=123,...,n,...) L qnudhynptl" hwjwGwlywlnipniG-
Giph pwfudwl pwqiwGlyjuwl wmbupny, Gpp YnnpmhGuwunGtph
niqnuyniG hwiwyupgnd Junmgymd GG (Xi,pi) ynnnnh-
(wwunltp mGtgnn Ytwmtpp L ppulp dhwgymd GG phyjunyg
(qo. 55): UjG, np X wwwwhwlwl dhtompmlpn YplnmGh
X, X 500X hwonpnuluwlnipjwl  wpdtplGtphg  dbyp,

nocee

hwjwunh wwwmwhwp £, nunmh ybunp L juunwpgh Zpi =1
i=1

Jud Zpi — 1 wuwydwp:

i=1
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P
/ \ T
P.
Pi| P2 |Ps
o) X, X, X, . .o X, x>

q.0.55

QnymipyniG nGbl Gwl whplnphwm yuunwhwywl dtonip-
jnGatp: WapGnhwwm Yngymd L wil@ X ywumwhwlwl dtonip-
julp, npG hGy-np dhowlwjpnud  (Ypowynp  Yuwd  wliytpg)
wlplnhwunnptl Jupnn E pGgniGs popnp wpdbplbpp: Mwpg t, np
wju nhiypnd hwjwluwyulnmpniGiaph pwyfudwb optlpp YhGh
X-h wlplphwnm  PmGyghw: Uyn IpmGyghwl plpmGuo L
Gowlwyt; F(x)-ny, L wiwlt quunwhwywl Jtonipjul hw-
JwlwywlmpymbGGiph pwyfudwl $pmGhghw Ywd pupfudwl
hambgpuyugpld pmbhghw, npp pwjupupnmd £ O <F(x) <1
wlihwjwuwnmpjwin:

SDhulptin wunmwhwlwl vtonipjwl ophGuwyltp Yunpnn GG
G

1.  Townnulpp Ghnbihu 1-hg dhGsl 6 nplt pyh hwlntiu quip,
2. LGlmpjul dwiwlwly fudpnd nuwlnnGtph unwgwo
gtipwqug qGuwhwnmwwbitph phyp L wyG:

buy wlplnphwwn wywwwhwlwb dhompjul ophGuyGtp
Juwnpnn GG hGh

1. Ujwjwnwyh Ghndwl wmbnhg dhGsl Juypteph Ytwp
tinwo htinwynpmpjnGn,

2. {pwdgqnipjul dwdwGwly qlnwyh pungqwd wmbtnh L
GpwGwytwnh vhol tnud hinwynpnipynilp L wyG:

UhpGnhwn wuwunwhwlwl dhompynGGtph pGnipwgpiwd
hwdwp, pugh F(x) pwpfudwl hGunbgpuiwhG pniGyghwhg,
oqunuugnpond GG Gwl pwpfudwl phtptlGghwwjhl ontlpp
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Juuyywd hwylGuywlnpmiGitnh puwpjudwl jumnipjuli htn:
UG (p(x) InlGlhghwl, npp wpunwhwjmmd L hwjwbw-
JulnipniGGtph puwfuiw( funmpniGn, UYngynud L
nhpbpklghwywhb pniyghw b hwjuuwp ' o(x) = F'(x):

Qnynuipjnii mGEG wuwunwhwlwl dtonipynGatph hwjw-
Gwlw lnpjnGatph pwpfudw G htmlyw) mhwh optlpGtn.

1. Phndwjwl pwpfudwl optilp. Ujh opktlpl t, pun nph
huwjuwlwlywlnpmbGitnh  pwhunip wpymd £ RknlGnyhh
pwlwdlny P, =C'P"q"™:

2. Awjwuwpwsuth pwfudwl optilip: Ujl optlpl t, nph
hwjwlwywlmpmGGtph  fummppuli pnilhghwld npnpymy L
htimljuy duny’

0, ipp-co<x<a
o(x)= ! ,ppa<x<b

b-a
0,tpp b <x <400

3. QwjwlwywlmpnGGtph Gnpdw) puwpfudwl optlp Yud
Lwuyjwuh opklp: Uju nhypnmd funmpjul (p(X) dnGyghwa
npnpynid £ wjuybu’

ov2n

4. MnuwunGh pwpfudwl optlp: Uju nhypnd hwjwlw-
JuwlmpnGGtph pw)fudw optiipp qpynid L htmlgywy Yhpw.

P, zx—e%:
m!
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NUSU<UGUL UGONMI3NFLULE D 0dU3Sh L
PULNMUQLEL?

Muuwhwlwl dkonpjul pwtunuip pGnipugpnng Junplnnp
dtonpjnilltphg L Gpw dwpbdwmhljuiud vupuunid:
Qhgnp, mGklGp nphulyptn  wwumwhwljwl dEompjm G

wnpjwd hp puwpfudwG opkilpny.

Unjnmuwyll
X X1 X X3 e Xn
p P1 P2 P3 Pu

Uwhdwlnd.- Nuunwhwywl dstompjwl dwpbdwmpiuwlwl
vwumy Ynygmd L Gpuw pninp hGwpwynp wpdtpGtph L
hwiwwwwnwufuwl hwjwlwywlnpnGiiph wpmwnpyultph
qnuiwip:

x Wuwunwhwliwl dtonmpjul dwptiwmhjuwlywl uwywuniin
plnmiGywd b Gty M[x] -ng jud m, -y, bppbdG' X -ng:
UjGwtu, np pun vwhdwGdwb

M[x]=xp; +x,p; +..+ XD, :Zpixi :
i

C0n npmud wjunbtin Jwplnp £ dhpm hwyyh wnlb), np

Z:pi =1: 6pb wwumwhwlwb vtonpjniGG plnniGnd L whytpe
i=1

puny wpdbpltp, wwyw Mx]="pix; L D p; 2wppp whwp ¢

i=1 i=1
qniquihwp 1-hG:

Muuwhwlijuwl dtonmpjul dwptdwnhuywl vywundl
nilh wyn dtompjwl dhohG wnpdtph hiwuwm: Unwlwlp dwph-
dwwhlwlwl uvywuiwl L dhohlG pyupwlwyubh Jwwnp: GG6-
punptiGp, pt Juwwpjwo tG dtd pyny thnpdwpynuiGlin (N):
CGn npmd hwjwnGh £, np x yuwunwhwlwl dtompjul X, wpdtpp

hwlnbu L G4ty n, wlqud, X,-p° n, wiquy, X, -G n, wliquu:

172




Ujyn pbypmd dklp Jwpnn GGp qpb, np X dkonmpjwul dhohl
pywpwGwyulp YrhGp

Xn, +X,n, +...+ X 0 n n n
M £ XMy £ PRy Dy B2y, Bl
N N N N

k
=X4pq +XoPs + ..+ X Py :ZXipi :M[X]
i1

X wwwuwhwiwl dtonpjul dwptdwnhjuywli uvwyw-
unwip Ungynud b owyn  dtompjwl  AwywbwlulnpiniGGEph
rupfudwl EbGmpnd: Ujuy wijuwlnuip dnggwo L «dwlpnipjud
YuGupnG»y wijwiiwG GiwGnpjudp: Gpt Ox  wnwlgph

X,X,,..., X, wpughulin( niGtgnn Yhmbpnd wbtnuynpjuo Gl

P1;P2,-p,  qulqquollinp, www hwjnh £, np wyn quig-
Jwoltph owlpmpjwl YtGumpnGh wpughup npnpynid £ hnbguyg

zxkpk

pwlwdlny. x, =1

Zpk
k=1

‘Lwwuh niGEGuny, np Zpk =1, wyuw x, =Z:xkpk :

k=1 k=1

Uju pwlwdlp wnbtupny hwipGyinmd bk dwpbdwmhliuywld
uyuwudwl pwlwdlhl: G wjuybu, hwunmwnywo k, np quiq-
Jwoltph owlpmpjul YtlGumpnlGp L dwptdvwnhjuywl vwyw-
untip hwyyynd 66 hwdwGdwl pwGwdlbpny: Wjunbtnhg b
«hwjwlwywlnipmnGatph pwpfudwl YeaGunpnt» wijuwlndp:
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UUeoeU0UShGUGUL UNUUUUL <USUNMI3NFLULEL?

1.  Qwunwwunifh dwptidwnhyuywl vyuwunidp hwjwuwnp k
htilig hptG M[C]=C:

2. bpymt wiywh wwunwhwlwl dtompmGitph qniiwph
Jwpbiwnhyuwywl  vywunip  hwjwuwp Lt wowGahG
gnuiwpbjhGiph  dwpbdwwhljuwwl uvywunilGiph qmudwphd.
M[X +Y]=M[X]+M[Y]:

3. Upununpyuih dwpbvwmhliuwiwl vywunuip hwjwuwn
wpuuwnphsGtph dwpbdwmhywlwl vywuniGiph wpwnpyu-
6. M[X - Y]=M[X]-M[Y]:

NUSU<UGUL UGONMI3UL LhUNGrUPUL
G4 UhL2hLy RUNAUGNMNIUSEL CELNMNT?

Uwpbdwwhjuwlwl vywunuip yuumwhwljuwl dtonipjw
plnpn2iw6 dhwyl pwjwpwp ywydwl b, pwyg tpptdl hwpy
1hGnd hdwlw] wuwunmwhwlwl dkompjul wnwGdhG wpdtpGtph
otinnuip  Gpw  dwpbdwwhlwlwl uvwwunidhg YJwd  dhohG
wndtphg: Nmuwh wlhpwdb)ummpnii L wnwowlmy dwnglty
wwwnwhwlwb Jdtompjul wpdtpltph hpkGhg dwpbiwwmh-
Juywl uvwywunihg mlhgwod ptniwl qunuthwpp, wjuhGpG
X—X Jui X; —m,:
Uwhdwlmd.- X yquunmwhwlwl dtompjwl ghuwbpunu Ynymd
E wn wuwuwhwjuwl dtompjul L Gpw dwpbiwwmhliuui
uyuwuiwl wnwppbpmpjul  pwnwyniunt  Swpbiwwmhjuub
uywunidp:

Muwuwhwliwl dtompjul nhuybtpuhwl Guwlwynd GG
D[x] qud 62:

UjGwbu  np, pun  uwhiwGiwG  Dix]=M|x -%7| o

D[X]ZZ(Xk _mx)zpk :Gi :
k=1

Gpt dwpbhiwwmhjuwywl vyuwunwip npnpnd £ X wywwnw-
hwjwl dhonmpjul hwjwlwyuwlnpmGiiph pwyfudwl YhGun-
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nGh ghppp, wyw nhuybpuhwli ywunwhwliwi dtonpjul
wnpdbpGtph’ hp dwptivwnmhuwjwl vyuwundihg niGhgwo gpdwd,
uthniwl pyuwyhG pGnipwqhnd t:

Qhuwtinuhw6 nGh uwunmwhwliwl dthonipjul pwnwlniunt
swihwlwlnipyniG: Gppbdl, gnmip pGnipugpbint hwdwp, wytih
hwpdwp £ oquybty wjlwhuh dtompjnilhg, nph  swthwlw-
(nipjniGp hwdpGylimd L ywuowhwlwb dhompjul swihwljw-
(mpjwln: Unuwhuh dtompinil b daohl pwnwiniuwihl pbnnidp:
Uwhdwlnd.- Munwhwuwl dhompjwl dhohlG pwnwlyniuwjhb
timmd Ungymd L Gpw nhuwybpuhwjh pwnwinup  wpdwwnmp

n

o, =x/5[;]=\/2(xk -m, )’p, :

k=1
Ophlwl.- X wwumwhwlwl dtonmpmlbpn wpjuwo L htwmlgug
pw2fudwl ontilipny:

Unynuuy 12
X 2 3 4
p 0,3 0,4 0,3

Npnotiy’ 1) Swpbitwnhyuiwl vywundp, 2) phuytipupw,
3) dhohG pwnwyniuwjhG ptinnuip:

Lniomui.-

1. M[x]=2-03+3-04+4-03=3

2. D[x]=(2-3)"-03+(3-3)"-0,4+(4-3)-03=0,6
3.6, =+/D[x] =40,6 = 0,77
LUMLUUP LAYUL N EUT

n thnpdwpynuiGtph dwdwlwly A wwwuwhwph k wliqud
hwlntu qun P hwjwlwywlnpnilGp hw)yymd t Ptnlnihh
pwlwdlny: Uwlw)G ndjup st Gyuwunb], np Gpp n-p pwjulu-
Gwywih d6o phy L, wyw Ltnlnihh pwlwdlhg oqunytiG wnw-
owglimud b ndjwpmpnlltp’ juuyywd pwpn hwpguwpynudGhnh
htin:

dwpg b wnwowlnd’ Yuwpkh® t hwpyty vtq htumppppnn
hwyjwlwlwlnpjnbp wnwlg PtnGnyhh pwiwalh oquuagnpod-
dwl: Mwpqynmd £ wyn:
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Lwyjuwuh nyuy ptinptivp mwihu £ dh pwGwél, npp hGu-
puynpnipjniG E wmwihu dnnwynpuytiu (guGiugwd Gyunip-
Jwdp) hwpytp n thnpdwpynuiGph dudiwlwly A wuwwwhwnph k
wlquwud hwintu qunt hwywlwlwlnpnbp, tpp n-p pwjwljw-
Guwswih WLo phy L:

1
P= 5 -h piypmy wyn pwlwdlp unwgt) £ Uniwdpp 1730

p.: 1783 p. Lwyuul pGphwlpugnpt; & Umwyph pwGwdlp
guijugwo P-h nhypnud, npp hwjwuwn sk 0-h ywd 1-h: 9puw
hwdwp L] wjyu ptnpbdp Gpptdl Yngynd £ Umwyp-Lwuyjjwup
plinptid:
Ohnpby, - Gptt A ywwwunwhwph jmpwpwlsynipn  thnpdwpyiwG
dwiwlwl hwintu qunt P hwjwlwlwlmpjniip hwumwmmG L
L hwywuwnp st 0-h Yud 1-h, wyw P, (k)-G" thnpdwpynudGhph
dudwlwly A wwwwhwph nmnhn k wlquwd hwlnbu qunm
hwywGwlwlnipjnGp, Unnwynpuybtiu hwjwuwn L
L. L =L (0 pmlighuh wndtpht, bpp

y=
Jnpq 2n \npq

XZ

Gnymipyml mGh @(x) = 1 e 2 PmlYyghwjh wpdtiplGhph
T

wryniuw x-h gpuiul wpdbpliph nhwpmyd: @(X)-p qnyq
dnlGyghw E, nunph wjlG Yupth b oquuugnpoti Gul x-h
pwgwuwluwl wpdtplbph nhiypnud: @(X) -h wpdtpGhph wnyni-
uwyp wtnunpjuo b gulijugwo nuuwqgpph Jud fulnpugpph
hwytjuond (hwybjwol):

Ujuyjhuny, hwjwlwlw lnpjn Gl wyl pwbh, np n thnpdwnp-
UnuiGtiph dwdwlGwly A wwwwhwpp hwintu Yqu nmnpn k

wlquy, dnwnwynpuybtu  hwjwuwp tE P (k)= -0(x),

npq
npuntbin x = k—np,
npq
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g=1-p-G hujunhp ywunwhwph hwjwlwuwlnpmGa k:

Uju ptinptivh wwwgniygn Juwyywo bt ndjupmpniGGtph
htin, npw hwdwp b wyl GEpyujugynd £ wnwlg wwywugniygh'
gnigunptiiny npu oquuwgnponip ophGwyGtph Yypw:
OphGw]y. — {wpyt] hwjuwlwywlnpjmGi wjG pwGh, np A wuw-
wnwhwpp 400 thnpdwpymiGiph dwiwluly hwlntu Yqu 80 wi-
quy, btpt jnipuwpwlynip thnpdwpyiwl duiwlwly A wyuwwnw-
hwnh hwlnbu qunt hwjwGwwlnipymbGp® P=0,2:
Lniomd. — Cun wwydwGh' n=400, k=80, p=0,2, g=0,8:

1

——(p(X)
4/400-0,2-0,8 o)

=0: Cum @(X)-h wnyniuw-

Cuwn Lwujjuuh pwGwdth® P, (80) =

k—np 80—400-0,2
\Jnpq 8

b ©(0) = 0,3989 , htnluwpuwp P,y (80) = % -0,3989 = 0,4986 :

Lwpytlp x =

LuUMLUUb huS6teruLushv o6Nreur

LG GhGp, np Juwnwnpynwd GG n thnpdwpynidGtp, npnGghg
Jmpupwlymnipnd A ywwwwhwph hwnbuy qum hwjwlw-
JulnipjniGp P & (0<P<1): hGsytu hwpyt] hwjwlwulnpniGG
wjG pwGh, np A-G n thnpdwpynuiGtph dwdwGwy hwinbu Yqw ny
wwywu k, b ngy wyth k, wGqud' P (k,,k,): Uyu hwupghG
wuwwnwufuwlnw E Lwyjuwup hGnbgpujwjhG pnptup, npp Gny G-
whu mpynud £ wnwlg wyuwgnyygh:

OLopky. - Gpt n thnpdwpynuiltph dwdwluwy A wwwmwhwph
hwinbu qum hwjwlwlywlmpjmlp’ P-G, hwunwunmb £ L
hwqwuwp st 0-h Ywd 1-h, www P (k,,k,) npnpymud L

xZ

1 ¢ k, —np
P (k. ,k,)¥——|e 2dx pwGwdéln], npntn a=-— ,
v v2n! \Jnpq
k. — x
b=—2_1P. Lwbh np J-e 2 dx -p ytpowynp duny sh wpunw-

V1pq
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hwjmymd LitdblGunwp $mGyghwlbph dhongny, wwyw oquynid

1 7 =
.[e 2dz: Uyu $maGy-
V21,
ghw( wijwlmd b6 Lwyjwuh $mGlhghw, nph wpdbpltph wnjne-
uwyp npywo k hwt{hu{umnui

b6 hwunny pmGyghwjhg’ D(x) =

b x
e 2dx-—

b X
P, (k,k,)~ ¢ 2dX J‘ 2d
0

f=}

2

e
- je_zdx =®(b)-D(a):

i k,—np

B =
Opplw]y. - LujuGuyulmpiniGa wyG pwbh, np nghuwp wnkhubh-
Juwywl vnnignd (OTK) sh wlgh], hwjwuwnp E 0,2-h: Gunlbg
hujuwlwywlnmpymiGl wjlG pwbh, np 400 wwwwhwlul
pupJwo ntwnwGhiphg vnnigmi sh wlgbky 70-hg dhGsu 100
ntinwy:
Loidmd. - Cunm wwjdwGh p=0,2, ¢=0,8, n=400, k, =70,
k, =100: Lwujwuh hGnbgpuwiwihG ptnptidh hwdwdw)G
P, (70;100) ~ ®(b) —D(a),
_k,—np 70-400-0,2
\/npq - \/400-0,2-0.8
k,-np 100-400-0,2
\/npq ~,f400-0,2-0,8
Ujuyhuny
P, (70;100) = d(2,5) - D(-1,25) = O(2,5) + ©(1,25):
Unynuuwyhg ®(2,5) =0,4938, ®(1,25) =0,3944 (hwyby-
Jwo 2), htmlwpwnp
P,,,(70;100) = 0,4938 +0,3944 = 0,8882 :

Pn (klakZ) ~ (D(b)_q)(a) s IlIllnbl’l a=

=125,

b=
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XZ

{wybtpjuo 1

1 2
o(x) = e 2 Pniliyghwjh wpdtpltph wnyniuwy
A2
0 1 2 3 4 5 6 7 8 9
0.0 | 03989 | 3989 | 3989 | 3988 | 3986 | 3984 | 3982 | 3980 | 3977 | 3973
0.1 | 3970 | 3965 | 3961 | 3956 | 3951 | 3945 | 3939 | 3932 | 3925 | 3918
02 | 3910 | 3902 | 3894 | 3885 | 3876 | 3867 | 3857 | 3847 | 3836 | 3825
03 | 3814 | 3802 | 3790 | 3778 | 3765 | 3752 | 3739 | 3726 | 3712 | 3697
04 | 3683 | 3668 | 3653 | 3637 | 3621 | 3605 | 3589 | 3572 | 3555 | 3538
0.5 | 3521 | 3503 | 3485 | 3467 | 3448 | 3429 | 3410 | 3391 | 3372 | 3352
0.6 | 3332 | 3312 | 3292 | 3271 | 3251 | 3230 | 3209 | 3187 | 3166 | 3144
0.7 | 3123 | 3101 | 3079 | 3056 | 3034 | 3011 | 2989 | 2966 | 2943 | 2920
0.8 | 2897 | 2874 | 2850 | 2827 | 2803 | 2780 | 2756 | 2732 | 2709 | 2685
0.9 | 2661 | 2637 | 2613 | 2589 | 2565 | 2541 | 2516 | 2492 | 2468 | 2444
1.0 | 02420 | 2396 | 2371 | 2347 | 2323 | 2299 | 2275 | 2251 | 2227 | 2203
11| 2179 | 2155 | 2131 | 2107 | 2083 | 2059 | 2036 | 2012 | 1989 | 1965
12 | 1942 | 1919 | 1895 | 1872 | 1849 | 1826 | 1804 | 1781 | 1758 | 1736
13 | 1714 | 1691 | 1669 | 1647 | 1626 | 1604 | 1582 | 1561 | 1539 | 1518
14 | 1497 | 1476 | 1456 | 1435 | 1415 | 1394 | 1374 | 1354 | 1334 | 1315
15 | 1295 | 1276 | 1257 | 1238 | 1219 | 1200 | 1182 | 1163 | 1145 | 1127
1.6 | 1109 | 1092 | 1074 | 1057 | 1040 | 1023 | 1006 | 0989 | 0973 | 0957
1.7 | 0940 | 0925 | 0909 | 0893 | 0878 | 0863 | 0848 | 0833 | 0818 | 0804
18 | 0790 | 0775 | 0761 | 0748 | 0734 | 0721 | 0707 | 0694 | 0681 | 0669
19 | 0656 | 0644 | 0632 | 0620 | 0608 | 0596 | 0584 | 0573 | 0562 | 0551
2.0 | 0.0540 | 0529 | 0519 | 0508 | 0498 | 0488 | 0478 | 0468 | 0459 | 0449
21 | 0440 | 0431 | 0422 | 0413 | 0404 | 0396 | 0387 | 0379 | 0371 | 0363
22 | 0355 | 0347 | 0339 | 0332 | 0325 | 0317 | 0310 | 0303 | 0297 | 0290
23 | 0283 | 0277 | 0270 | 0264 | 0258 | 0252 | 0246 | 0241 | 0235 | 0229
24 | 0224 | 0219 | 0213 | 0208 | 0203 | 0198 | 0194 | 0189 | 0184 | 0180
25 | 0175 | 0171 | 0167 | 0163 | 0158 | 0154 | 0151 | 0147 | 0143 | 0139
26 | 0136 | 0132 | 0129 | 0126 | 0122 | 0119 | 0116 | 0113 | 0110 | 0107
2.7 | 0104 | 0101 | 0099 | 0096 | 0093 | 0091 | 0088 | 0086 | 0084 | 0081
28 | 0079 | 0077 | 0075 | 0073 | 0071 | 0069 | 0067 | 0065 | 0063 | 0061
29 | 0060 | 0058 | 0056 | 0055 | 0053 | 0051 | 0050 | 0048 | 0047 | 0046
3.0 | 0.0044 | 0043 | 0042 | 0040 | 0039 | 0038 | 0037 | 0036 | 0035 | 0034
3.1 | 0033 | 0032 | 0031 | 0030 | 0029 | 0028 | 0027 | 0026 | 0025 | 0025
32 | 0024 | 0023 | 0022 | 0022 | 0021 | 0020 | 0020 | 0019 | 0018 | 0018
33 | 0017 | 0017 | 0016 | 0016 | 0015 | 0015 | 0014 | 0014 | 0013 | 0013
34 | 0012 | 0012 | 0012 | 0011 | 0011 | 0010 | 0010 | 0010 | 0009 | 0009
35 | 0009 | 0008 | 0008 | 0008 | 0008 | 0007 | 0007 | 0007 | 0007 | 0006
3.6 | 0006 | 0006 | 0006 | 0005 | 0005 | 0005 | 0005 | 0005 | 0005 | 0004
3.7 | 0004 | 0004 | 0004 | 0004 | 0004 | 0004 | 0004 | 0003 | 0003 | 0003
38 | 0003 | 0003 | 0003 | 0003 | 0003 | 0002 | 0002 | 0002 | 0002 | 0002
3.9 | 0002 | 0002 | 0002 | 0002 | 0002 | 0002 | 0002 | 0002 | 0001 | 0001
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2

Jwybtpuo 2

1 7 =
d(x) = Ie 2 dz $niliyghwjh wpdtpltph wnyniuwy
N2y

X D(x) X D(x) X D(x) X ()
0.00 | 00000 | 042 | 0.1628 | 084 | 02995 | 126 | 03962
001 | 00040 | 043 | 01664 | 085 | 03023 | 127 | 03980
002 | 00080 | 044 | 01700 | 086 | 03051 | 128 | 03997
003 | 00120 | 045 | 01736 | 087 | 03078 | 129 | 04015
004 | 00160 | 046 | 01772 | 088 | 03106 | 130 | 04032
005 | 00199 | 047 | 0.1808 | 089 | 03133 | 131 | 0.4049
006 | 00239 | 048 | 0.1844 | 090 | 03159 | 132 | 04066
007 | 00279 | 049 | 01879 | 091 | 0318 | 133 | 04082
008 | 00319 | 050 | 01915 | 092 | 03212 | 134 | 04099
009 | 00359 | 051 | 01950 | 093 | 03238 | 135 | 04115
0.10 | 00398 | 052 | 01985 | 094 | 03264 | 136 | 04131
0.11 | 00438 | 053 | 02019 | 095 | 03289 | 137 | 04147
0.12 | 00478 | 054 | 02054 | 096 | 03315 | 138 | 04162
0.13 | 00517 | 055 | 02088 | 097 | 03340 | 139 | 04177
0.14 | 00557 | 056 | 02123 | 098 | 03365 | 140 | 04192
0.15 | 00596 | 057 | 02157 | 099 | 03380 | 141 | 04207
0.16 | 00636 | 058 | 02190 | 1.00 | 03413 | 142 | 04222
0.17 | 00675 | 059 | 02224 | 101 | 03438 | 143 | 04236
0.18 | 00714 | 060 | 02257 | 1.02 | 03461 144 | 04251
0.19 | 00753 | 061 | 02291 | 1.03 | 03485 | 145 | 04265
020 | 00793 | 062 | 02324 | 1.04 | 03508 | 146 | 04279
021 | 00832 | 063 | 02357 | 105 | 03531 147 | 04292
022 | 00871 | 064 | 02389 | 1.06 | 03554 | 148 | 04306
023 | 00910 | 065 | 02422 | 1.07 | 03577 | 149 | 04319
024 | 00948 | 066 | 02454 | 108 | 03599 | 150 | 04332
025 | 00987 | 067 | 02486 | 1.09 | 03621 151 | 04345
026 | 01026 | 068 | 02517 | 110 | 03643 | 152 | 04357
027 | 01064 | 069 | 02549 | 111 | 03665 | 153 | 04370
028 | 01103 | 070 | 02580 | 112 | 03686 | 154 | 04382
029 | 01141 | 071 | 02611 | 113 | 03708 | 155 | 04394
030 | 01179 | 072 | 02642 | 1.14 | 03729 | 156 | 0.4406
031 | 01217 | 073 | 02673 | 115 | 03749 | 157 | 04418
032 | 01255 | 074 | 02703 | 116 | 03770 | 158 | 04429
033 | 01293 | 075 | 02734 | 117 | 03790 | 159 | 04441
034 | 01331 | 076 | 02764 | 118 | 03810 | 1.60 | 04452
035 | 01368 | 077 | 02794 | 119 | 03830 | 1.61 | 04463
036 | 0.1406 | 078 | 02823 | 120 | 03849 | 162 | 04474
037 | 01443 | 079 | 02852 | 121 | 03869 | 1.63 | 04484
038 | 01480 | 080 | 02881 | 122 | 03883 | 1.64 | 04495
039 | 01517 | 081 | 02910 | 123 | 03907 | 1.65 | 04505
040 | 01554 | 082 | 02939 | 124 | 03925 | 166 | 04515
041 | 01591 | 083 | 02967 | 125 | 03944 | 167 | 04525
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{wybtpwo 2-h pupniGuynipniln

X D(x) X D(x) x D(x) X ()

1.68 0.4535 1.88 0.4699 2.24 0.4875 2.72 0.4967
1.69 0.4545 1.89 0.4706 2.26 0.4881 2.74 0.4969
1.70 0.4554 1.90 0.4713 2.28 0.4887 2.76 0.4971
1.71 0.4564 1.91 0.4719 2.30 0.4893 2.78 0.4973
1.68 0.4535 1.92 0.4726 2.32 0.4898 2.80 0.4974
1.69 0.4545 1.93 0.4732 2.34 0.4904 2.82 0.4976
1.70 0.4554 1.94 0.4738 2.36 0.4909 2.84 0.4977
1.71 0.4564 1.95 0.4744 2.38 0.4913 2.86 0.4979
1.72 0.4573 1.96 0.4750 2.40 0.4918 2.88 0.4980
1.73 0.4582 1.97 0.4756 2.42 0.4922 2.90 0.4981
1.74 0.4591 1.98 0.4761 2.44 0.4927 2.92 0.4982
1.75 0.4599 1.99 0.4767 2.46 0.4931 2.94 0.4984
1.76 0.4608 2.00 0.4772 2.48 0.4934 2.96 0.4985
1.77 0.4616 2.02 0.4783 2.50 0.4938 2.98 0.4986
1.78 0.4625 2.04 0.4793 2.52 0.4941 3.00 0.49865
1.79 0.4633 2.06 0.4803 2.54 0.4945 3.20 0.49931
1.80 0.4641 2.08 0.4812 2.56 0.4948 3.40 0.49966
1.81 0.4649 2.10 0.4821 2.58 0.4951 3.60 0.499841
1.82 0.4656 2.12 0.4830 2.60 0.4953 3.80 0.499928
1.83 0.4664 2.14 0.4838 2.62 0.4956 4.00 0.499968
1.84 0.4671 2.16 0.4846 2.64 0.4959 4.50 0.499997
1.85 0.4678 2.18 0.4854 2.66 0.4961 5.00 0.499997
1.86 0.4686 2.20 0.4861 2.68 0.4963
1.87 0.4693 222 0.4868 2.70 0.4965
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